[EE5I28  EER(8A26B~31BEES)

EEEAE 2014/6/24 ~ HRBLESNE
L A 2
=P map® | SERH 826831 7B W
| RED | RE® | -
RRECHE) =24 [RZECHA)F| P GRE) [JAL/JTA[JTA/RAC 25,900 61% | H:24,300
EEHE [ GRH) [JTA/RACIJAL/JTA 26,400 61% | H:27,300
RRECHE)=FHE |RE(PIA) F| P GREH) [JAL/JTA[JTA/RAC 26,000 64% | H:24,400
| ABR (BS7E) | JAL JTA 28,600 64% |4 1:31,000
BiEH |4 (BB [JTA/RAC|JAL/JTA 26,000 64% | H:26,600
KB () =% @31 | KBx (R FH) S [RR CRE) | JAL JAL 26,600 65% |4 1:29,700, H:253800
AR FHFR)|  JAL JAL 28,400 62% | % +:30,700
iRl % [ERERCRA)| JAL JAL 27,400 64% | AK#£:28700, +:26,700, H:30,800
AR HFR) | JAL JAL 28,400 62% :30,700
KB (B8#8) =% Bl | KRR (BEEE) 5 [ CHE) | JAL JAL 26,600 65% |4 +:29700, H:25:800
AR HFR) | JAL JAL 28,400 62% |4 +:30,700
iRl % [ERERCRA)| JAL JAL 27,400 64% | AK#£:28700, +:26,700, H:30,800
AR FHFR) | JAL JAL 28,400 62% | H:30,700
KR (75 =heJIl | KPR (FH) | RRCRE) | JAL JAL 27,600 63% | £:28,100, +:27,400, H:25,600
JBIIFE [RECHHE)| JAL JAL 27,200 63% | A:28,500, #:28,900. H:27.800
K (Bi#E) =hBJIl | ABR (B9FE) 5| RR CFE) |  JAL JAL 27,600 63% |£:28,100, +:27,400, H:25,600
JBII%E [EEFECRHA)| JAL JAL 27,200 63% | A:28,500, £:28,900, H:27,800
KR (D) =888 | AR (FF) #|RRCHAE) | JAL JAL 24,600 67% | +:26,400, H:25,000
fIpEF [RECHE)| JAL JAL 25,400 66% | A:26,700, £:27,100, £:25,800, H:26,800
K (BE7E) =HIE% | ABR (B9FE) 5| RR CFHE) | JAL JAL 24,600 67% | +:26,400, H:25,000
fIERF [RECHHE)| JAL JAL 25,400 66% | A:26,700, £:27,100, £:25,800, H:26,800
KB () =I5 [ KB (FF1) | RR CHE) | JAL JAL 28,300 61% | %:29,100, 1:28,200, H:27,700
HEFE  |RRCHE)| JAL JAL 28,200 61% | AK%£:29,500, H:30,600
KBx (B7E) =5 | KBz (B8FE) | R CHHEH) | JAL JAL 28,300 61% | %:29,100, 1:28,200, H:27,700
HEFE |RRCHE)| JAL JAL 28,200 61% | A%:29500, H:30,600
KR (75} =R | AR (FF) F|RRCHAE)|  JAL JAL 22,900 65% |4 +:24,200, H:24,300
BEEH [RECHHE)| JAL JAL 23,700 64% | A:25,000, £:23,500, 1:21,900, H:25,100
KBz (Bi#E) =R | ABR (B9FE) | RR CFHE) | JAL JAL 22,900 65% | +:24,200, H:24,300
BHAEH [RECHE)| JAL JAL 23,700 64% | A:25,000, £:23,500, 1:21,900, H:25,100
KR () ==R |[ARGFFD F|RRCHAE) |  JAL JAL 22,400 65% | H:21,800
SR |ERCEHE)| JAL JAL 23,200 63% | AK#£:24,500, H:24,100
ABx (B#E) = =R [ ABx (B8FE) | R CHHEH) [ JAL JAL 22,400 65% | H:21,800
ZR¥E |RRCHH)| JAL JAL 23,200 63% | A%:24500, H:24,100
KR (D) =Rk | ABRFH | HE JAC JAC 18,900 48% | A&+:19,400
[ECES HE JAC JAC 19,400 47% % 1:19,.800
KB (D) =BF5|ABRFEF %] BERS JAL JAC 22,400 52% :22,800
BYER ERE JAC JAL 22,000 53% |#:22,600, £:22,900, H:23,300
KR (B =2 xwi({?ﬂ)%fﬁ(;irﬁﬁ) JAL _[JTA/RAC 20,700 65% | +:23,800
=T P48 (IBF) [UTA/RAC]  JAL 21,600 64% | H:24,100
KBz (BfE) ==& xWE(FﬁE)%_Pﬁ(?}Bﬁ) JTA _|JTA/RAC 20,700 65% | +:23,800
EOHE 18 (BF) [JTA/RAC] JTA 21,600 64% | H:24,100
KB (1) =F1E xw;i(@ﬂ)%fﬁ(;}rﬁﬁ) JAL _[JTA/RAC 20,800 68% | 1:23.900
AiEH  [HE8GREH) [JTA/RAC]  JAL 20,800 68% | H:23,300
ABx (B878) =H1E | Kbk (B &[4 FF [ JTA [JTA/RAC 20,800 68% & +:23900
RiEH [ GRE) [JTA/RAC]  JTA 20,800 68%
ZHE(PE) =%iBA | BHE (PED) F[AIRFH TR | JAL JAL 28,200 60% . £:30,900, H:28,800
A EEHFE | JAL JAL 28,700 59% 29,200, :28,800. H:32,300
2EE(PH) =25 aaERM R FEFH)| JTA [JITA/RAC 22,600 65% :28,100
EER | (3% [JTA/RAC]  JTA 24,000 63%
ZHE (PR =RE[2EEGH R FE@H)| JTA [JTA/RAC 22,700 68%
AiEFE |4 GEE) [JTA/RAC]  JTA 23,200 67%
AL BT %) =/MA[ALE F TR %[ mR CRE) | JAL JAL 29,100 57%
MMaFE  [RRCEE)| JAL JAL 27,900 58%
HIREFTR) =mR BRI F TR [ /R CRE | JAL JAL 32,100 57%
EfCEES [RRCHA)|  JAL JAL 31,100 58% LB
ALIR (BT Fi%) =ML [4LE T %[ /R CRE) | JAL JAL 27,300 64% | K :t 26,300, H:27,500
L% [RERCEE)] JAL JAL 25,400 67% | A:26,300, %:28,400, £:27,600, H:25,700
LR %) = LB FTR [ /R CRE) | JAL JAL 28,100 63% | H:29,900
LEE% |[EEGIE)| JAL JAL 25,600 67% £:30,900, £:28,700, H:26,700
HURFFR) =ILOFH ARG TR %[ Hm CAE) | JAL JAL 30,500 62% 28,800, £:28,900, H:32,700
WO=FE% [RRCHE)| JAL JAL 28,500 65% t:32,300, H:29,600
ALIR %) =HE[AUEF TR [ RRCRE) | JAL JAL 31,700 57% . H:31,900
HEX [ERERCHAE)| JAL JAL 29,600 60% . £:34,600, H:31,000
ALIR BT F %) =S4 F TR %[ /R CRE) | JAL JAL 29,400 61% . H:32,100
mEH |[HERERCHHE)| JAL JAL 27,400 64% . $:30,900. £:29,700, H:27,600
FLIR BT F %) == [ALE F TR %[ /R CRE) | JAL JAL 30,600 50% |- :29,700, %:30,400, H:32,200
B%¥ |[ERCEE)| JAL JAL 28,700 62% | £:32,600, £:31,000, H:28,600
ALIR T F %) == A AR TR %[ /R CRE) | JAL JAL 30,900 60% |- 29,300, H:34,800
=A% |[EECHHE)| JAL JAL 29,500 62% | $:34,500, $:29,900, H:29,300
AL BT F %) =ML [4L0E T %[ BRR CRE) | JAL JAL 32,300 59% | A% +:32,200, H:34,000
PALFE  [ERECHE)| JAL JAL 32,000 50% | %:35,100, £:33,000
AR FTFR) =AM [AEFFR) E[RRCAE) | JAL JAL 31,900 62% | %::32,300, H:33,500
JEhIME |RRCHHE)| JAL JAL 30,300 64% | A:31,500, %:33,300, £:32,000, H:30,000
AIREFTR) =KH AR EF TR X[ RRCHE) | JAL JAL 26,700 68% |£:28,000, H:31,700
AH%  |ERCHE)| JAL JAL 28,000 66% | A:28,400, £:31,500, £:29,500, H:27,600
HIRFTR) =RG[LIREFTH X[ RRCHE) | JAL JAL 27,500 68% |7K:27,100, %:28,800, 1:28,000, H:30,700
Rigs |[EECHE)| JAL JAL 26,800 69% | A:28,300, %£:31,200, £:29,500, H:28,000
AR =REAUREHTR X RRCHE) | JAL JAL 26,700 68% | £:27,900, +:27,500, H:29,700
AR |[RECEHEH)| JAL JAL 26,800 68% | A:28.300. £:31.500. F.29.100. H:27.200
IR FR%) =25 AEFFR) %[ RmR CAE) | JAL JAL 26,700 68% | %:28,000, £:27,600, H:30,300
EhEFE  |[RRCEE)| JAL JAL 25,700 69% | A:27,200, %:29,700, £:28,500, H:27,000
HIEF TR =ERB[AMEGTR % Hm CAEH)| JAL JAL 26,700 69% |%:27,600, £:27,100, H:30,700
EEEH% [ERCHHE)| JAL JAL 27,100 68% | A:28,300, £:30,500, £:29,700, H:27,600
AR BT R =50 B8 | LR (a0 R RR CHED | JAL [JAL/JTA 32,900 63% | 4:35,200, £:33,600, H:35,400
ABR (BT | JAL JTA 29,800 67% |%:35,200, £:31,200, H:32,100
AEE(PE)|  JAL JTA 31,800 65% |%:35800, +:33,500, H:34,100
12 JAL JTA 33,600 64% | £:34,800, +:33,200, H:36,500
B (FRER) %[ CRE) [JAL/JTA[ JAL 33,500 62% | A:34,600, £:37,000, £:35,800, H:33,200
KB (BSFE) | JTA JAL 28,900 68% |4 1:31,500, H:31,800
AEE(PE)|  JTA JAL 36,000 60% |4:35,100, £:34,300, H:39,600
12 JTA JAL 33,300 64% | 1:36,100
LR G F %) =R1E *Lmﬁ(%ﬁﬁ*: HRECHE)| JAL JTA 34,500 67% | A1:33,700, £:32,900, H:34,300
B |[RRCHA)| JTA JAL 37,100 64% :37,300, H:39,200
& = & Al *aﬁﬂ?é FRCHA)| JAL JAL 30,600 67% :35,600, H:30,900
HIREHFR) | JAL JAL 30,400 65% & +:32,100
LBl F [EECRA)| JAL JAL 30,900 66% | AK#£:30400, £:30,200, H:34.600
ABR(FFD]  JAL JAL 28,200 64% | H:29,900
IR FHFR) | JAL JAL 28,800 67% | H:30,500
& =11 @R [ERERCHA)| JAL JAL 30,400 66% |4 +:33.800, H:31,400
BII%  [ERECRHA)| JAL JAL 30,700 66% | K:30,200, £:30,600. H:32,900
ABR (RFH|  JAL JAL 27,900 65%

JAL/JTA/JAG/RAC



[EE5I28  EER(8A26B~31BEES)

EEEAE 2014/6/24 ~ HRBLESNE
L A 2
) @ | BERH 8/268/31 7B s
| K@D | XK@ | =
2 = 2% BhEF  |[EECHE)| JAL JAL 28,600 68% | +:31,500, H:29,700
HlpEH [EFRCRAE)| JAL JAL 28,400 68% | %::31,800, £:29,400, H:31,400
&R =5k B |[EFCHE)| JAL JAL 31,900 64% |£:32,700, +:34,300, H:33,600
wIAFE  |RRCEE)| JAL JAL 31,700 64% | 7:31,200, £ +:33,400, H:34,500
RS BEFE [ERCHEE)| JAL JAL 27,400 66% | +:29500, H:30,200
KER(FFD]  JAL JAL 29,000 60% |4 +:30,200
BEEH [EECHE)| JAL JAL 26,700 67% |%:28,200, £:27,300, H:27,800
KER(FFD]  JAL JAL 28,000 62% |%::29,200, 1:28,700, H:28,800
EE=F% BEF [EECHHE)| JAL JAL 27,100 66% | < H:28,900, 1:28,000
ABRRFH|  JAL JAL 26,100 63% 6,500
FHFE [REGH)| JAL JAL 27,600 65% 8,000, £:30,400, + H:28,900
ABR(RFD|  JAL JAL 26,500 63% £:26,900
ER==iR BhEF [EECHHE)| JAL JAL 26,800 66% £:27,600, H:27,700
ABR(RFD|  JAL JAL 26,700 63%
ZR% [EmCEE)| JAL JAL 26,400 67% |4::29,200, £:27,600. H:26,800
KBR(FFD] JAL JAL 25,400 65%
2R =T BRFE | KRGEF”)| JAL JAL 29,400 57%
EEFK | KBRUFFD| JAL JAL 28,100 59% |+ H:29,000
2R =% BEFE [mRERCHH)| JAL JAL 27,400 63% 7,900, 1:28,300. H:27,000
ABR (RFD|  JAL JAL 24,400 63%
BEF [EECHH)| JAL JAL 26,900 63% | A:27,700, € +:28,200, H:27,400
ABR(FFD]  JAL JAL 24,600 63% |4 +:25000, H:24,200
&= @ER [ERCRA)| JAL JAL 25,100 61% 5,800, H:26,500
ABR (RFH | JAL JAL 28,700 56% 0,400
Wiz |RECHHE)| JAL JAL 26,000 60% :27,400, H:24,400
ABR (RFH) | JAL JAL 28,700 56%
'R =8 @R [ KBR(EFD| JAL JAL 24,600 60% . H:23.800
FiBFE | ARMUFFD| JAL JAL 24,300 61% N EI :24,600
=/ wEE [ERCRE)| JAL JAL 26,800 62% £:26.900, H:28,000
MMRFE  [RRCEE)| JAL JAL 26,200 63%
wR=E% wEXE [HEEH)| JTA [JTA/RAC 20,200 61%
Eo P48 (FBF) [UTA/RAC]  JTA 20,400 61% ,
ERE=hiE [ ES T (BBF) | JTA |JTA/RAC 20,300 65% , t:19,900, H:21,400
RiEF D48 GBE) [JTA/RAC|  JTA 20,500 65% | +:21,400
i Al =165 ZmAH [HIE@FHTFR]  JAL JAL 28,500 50%
EEH LIEEFR) | JAL JAL 28,500 50%
il =& ZmAIH [HIE@FHTFR]  JAL JAL 27,000 56% | 4:27,700, +:26,100, H:28,700
=3 LIg i Fs) | JAL JAL 25,900 57% € +:27,300, H:25,000
TG R =%iR ZomAI% [HIRGETR)| JAL JAL 25,700 58% | H:28,200
R LIRGHT®) | JAL JAL 25,400 59% | %:26,600. 1:27,400. H:24,200
i Al = i KR F [RERCHHE)| JAL JAL 31,200 59% 9,600, H:33,600
MMaFE  [RRCEE)| JAL JAL 29,500 61% £:33,200, H:30,300
ZiGR| =R | BACEUES [RRCHE)| JAL JAL 33,700 60% t:37,400, H:34,700
i Al = L LA F [RERCHHE)| JAL JAL 29,800 65% | +:28,700, H:32,300
FEL% [RECHHE)| JAL JAL 28,900 66% +:32.800, H:28.300
iR =IE8 iR [RERCRE)| JAL JAL 30,200 65% 1,000, £:29,500, H:33,500
AIREFR) | JAL JAL 27,600 66% 8,100, H:28,500
LE% [EERGH)| JAL JAL 30,000 65% 3,700, H:28,600
AIREFR) | JAL JAL 28,000 65% £:28,900
iR =HE ZimAl% |[RECRHE)| JAL JAL 32,900 60% | +:32,600. H:36,300
ABR(FEFD|  JAL JAC 26,200 65% | H:27,900
EH |[ERERCHEH)| JAL JAL 32,200 61% |4 +:37,500, H:32,000
G R =l ZmAl% |RECHE)| JAL JAL 34,400 60% | %::36,000, £:34,100, H:38,200
WIl% |[EFERCHHE)| JAL JAL 32,600 62% :36,300, H:35,000
ES e ZiEA % [RRERCRE|] JAL JTA 37,600 66% | +:37,400. H:40,300
AiEH |[ERGEE)| JTA JAL 36,100 68% :38,000, H:40,800
JEVIEURA JBINZE [RECHE)| JAL JAL 30,300 59% 1,100, £:29,600, H:33,100
NAFE [RECEE)| JAL JAL 27,800 62% 3,000, £:32,600, H:30,800
BI=miaE BIIF |[ERERCHE)| JAL JAL 32,500 60% :37,200
ECEES [RECHA)| JAL JAL 31,400 62% | A:31.300. £:32.700. £.32,000. H35.200
TENI=RL BIIF |[EFERCHHE)| JAL JAL 29,600 64% 0,000, £:29,200
FLFE [FERERCHRE)| JAL JAL 26,900 68% 0,300, H:27,800
BI=HE BHIF [ERERCHHE)| JAL JAL 32,000 61% 1,800, H:30,900
KR (B[ JAL JAC 25,900 66%
HE HRCHE)| JAL JAL 29,900 63% | A:29,800, £:32,800, +:32,100. H:32,500
JETTE AT BHIF [ERERCHHE)| JAL JAL 34,200 60% | £:36,200, 1:34,600, H:36.100
ABR(FFH]  JAL JAL 26,600 65%
PLFE  [RECHE)| JAL JAL 33,900 60% | £:37,300, £:35,900, H:35,500
BII=Hh1E BHIF |[EFERCHE)| JAL JTA 36,900 66% | A#::36,700, H:36,000
AiEFE |[ERCEE)| JTA JAL 36,300 67% & £:36.100, H:41,300
RN HIEFE [WECHHE)| JAL JAL 29,200 60% |& 8,700, H:31,500
MAK  |EFECHE)| JAL JAL 27,500 62% |- + H:29,100
fHiR=mitaE HIEFE [WECHHE)| JAL JAL 31,300 61% |[&+:32,
FfCEUESR |RECHE)| JAL JAL 31,700 61% | +:33,300, H:33,500
Hpg=FL HIEEFE [WECHHE)| JAL JAL 27,800 66% |£:28,200, H:28,800
FELFE [RRCHA)| JAL JAL 26,900 67% |4 1:28700, H:27,500
HIR=1L58 HIEEFE [WECHHE)| JAL JAL 27,400 67% | £:28600, £:27,800. H:30.600
LE% |EECHHE)| JAL JAL 28,000 66% | +:29,600,
HR=H=E HIEFE [WECHHE)| JAL JAL 31,100 61% |#+:32,100,
HEX [HRCHEA)| JAL JAL 30,200 63% | +:33,400, H:30,
g =#r1l HIEEFE [WRCHHE)| JAL JAL 32,400 62% | %:34,400, 1:33,200, H:35,300
MILF  [RRECEE)| JAL JAL 30,600 64% |4 2,200, H:33,800
fE =18 HEEFE [WRCHHE)| JAL JTA 36,200 67% 7,000, H:35.400
AEH |[ERRCEE)| JTA JAL 36,500 67% £:37.300, H:39,600
IR =M HhFE  |[EERCHHE)| JAL JAL 31,300 57% 1,500, H:33,500
IR FRECHA)| JAL JAL 29,500 59% 1,900, H:33,000
wIh=mEE HLEFE  |[EECHHE)| JAL JAL 33,300 59% , 4,000, H:35,700
FfCEESR [RRCHE)| JAL JAL 33,700 58% :34, 6,100
L =FE W HhFE  [EERCHE)| JAL JAL 30,600 63% , H:32,200
RS [RRECHAHE)| JAL JAL 28,900 65% , 1,500, H:30,000
HLh=HE HhFE  |[EERCHHE)| JAL JAL 32,700 59% , 6,200, 1:34,600, H:33,700
HE RECHA)| JAL JAL 32,200 60% ] 6,200, H:32,400
L =#l IR |RECHE)| JAL JAL 35,200 58% ) 5,600, H:38,100
MLFE  |[ERCHE)| JAL JAL 34,400 59% , 6,800, H:37,700
Hh=hiE HIEFE  |EECHE)| JAL JTA 37,400 66% | A:37,200, £:40,900, £:41,000, H:38,200
AEH |ERCHE)| JTA JAL 37,500 66% , 0,000, H:40,500
BREE=/MA B [RHECHHE)| JAL JAL 27,500 57% £:25,400, H:27,900
RECRA)| JAL JAL 27,100 58% 8,600, HA:29,600
RECHA)| JAL JAL 30,500 58% :31,300, H:34,000
RECHA)| JAL JAL 25,300 66% :23,800, 1:23,500, H:25,800
HRECHE)| JAL JAL 25,200 66% |4 +:26,700, H:26,600
HRECHE)| JAL JAL 25,700 66% 5,000, +:24,900, H:27,000
HERERCHE)] JAL JAL 26,300 65% |4 +:27,600, H:27.500

JAL/JTA/JAG/RAC



rE#E2|28 EEXR(8A26H~31HRES) JAL/JTA/JAC/RAC

EEMBAE . 2014/6/24 ~ HRBLESNE

oo A 3
=4 mep@ | SEERH 8/268/31 7B s
EEOD | EE@ -
HE=HE HEEXK [EECHHE)| JAL JAL 29,500 59% |+:28300
KER(FFD]  JAL JAC 25,200 63% 6,400, +:25,900, H:26,800
HEH |[RECHH)| JAL JAL 28,600 60% £:31,400, H:31,300
ABR(RFD| JAC JAL 26,200 62%
=L BEEH [ERCHE)| JAL JAL 30,700 60% H:32,500
ABR(RFD|  JAL JAL 26,700 61% B:27,500
RIL% [ERCEE)| JAL JAL 29,400 61% B:34,300
ABR(RFD|  JAL JAL 27,700 59% :28,
EEE=dL M BAEH [HHECHHE)| JAL JAL 30,300 63% >:29,600, £:28,500, H:30,800
JEAMHE |RECHHE)| JAL JAL 30,300 63% +:31,600, H:30,500
HE=X% HEEXK [EECHHE)| JAL JAL 25,900 68% 5:26,700, £:27,100, H:26,800
ABR(RFD|  JAL JAL 29,200 58% |4::31,100, £:29,900. H:30,600
An%E |RECEH)|[ JAL JAL 27,200 66% 8,100, H:29,900
HiE=RIK HEERK [EECHHE)| JAL JAL 25,500 70% 6,300, £:25,900, H:27,200
ABR(FFD]  JAL JAL 29,700 62% | % H:32,000, +:30,400
R [RECEH)| JAL JAL 27,200 68% 8,900, £:27,600. H:30,100
ABR(RFD|  JAL JAL 30,700 60% £:31,900
HEE=RX HEEX [EECHHE)| JAL JAL 25,200 69% £:25,900, H:28,000
ABR (RFH | JAL JAL 29,100 61% 0,900, +£:29,800, H:30,500
BARE [RE(HH)| JAL JAL 26,500 67% 8,100, £:27,600, H:29,100
ABR(FFD] JAL JAL 30,600 50% H:30,100
HE==K B [EECHHE)| JAL JAL 25,200 69% £:25,900, H:27,200
ABR (RFH | JAL JAL 31,300 58% 2,000, H:33,800
EEFE  [RE(HHEH)|[ JAL JAL 26,500 67% 7,600, A:29.100
ABR (RFH | JAL JAL 31,400 58% 3,800, H:32,300
HE=ERE HEEFR [RRCEHE)| JAL JAL 25,200 70% :26,300, 1:25,500, H:26,800
ABR(FFD]  JAL JAL 28,900 63% | % H:30,500, 1:29,600
BREEH [ER(CRHA)| JAL JAL 27,200 68% 8,100, 1:26,800, H:29,900
ABR (RFH | JAL JAL 29,500 62% 0,700, :31,500
EfE=HhiE BEER |ERCHE)| JAL JTA 34,900 65%
AEFH |ERRCEE)| JTA JAL 36,500 64% 5:37,000, +:35,700, H:40,100
BEH=I EH%  [Hm(CEE)| JAL JAL 27,400 57% 8,200, +:27,200, H:28,100
MRFE [RRCEE)| JAL JAL 26,500 58% % H:28,300
EHR=FAE EHE  [EmCEE)| JAL JAL 35,500 50%
FAfCEUES [RECHE)| JAL JAL 35,500 50%
HEH=REL EH%  |ERRCHH)| JAL JAL 26,000 64% | H:26,800, 1:25,600
FEILFE [REECHR)| JAL JAL 25,300 65% | H:26,400
EH=1L5 EHE  [Em(CEE)| JAL JAL 27,100 63% £ H:28,000
LEE% |[ERCRE)| JAL JAL 27,200 63% 7,800, £:26,200. H:28,200
EHR=1LOFE EHE  [Em(CEE)| JAL JAL 28,800 63% | %:29,600. 1:27,200. H:29,700
WiO=F&% [RRCEE)| JAL JAL 28,200 64% |4 +:28,400, H:29,600
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=15 EH%E |[ERGH)| JAL JAL 27,700 61%
EEH¥ [RmCRE)| JAL JAL 27,200 62%
EH=mn EH%E |[ERG@HE)| JAL JAL 28,900 60% |4 H:30,400
=% |[ERERCHE)| JAL JAL 28,600 60% |£::29,700, H:29,600
EH=mH EH%E |[EERGHE)| JAL JAL 28,000 62% % 1:29,200, H:28,300
=M% |[EFRCGEIE)| JAL JAL 27,200 63% 0,600, +:28,100. H:29,300
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ABR(FEFD|  JAL JAL 25,200 61% +:25,600
WILF [ERERCHHE)| JAL JAL 30,600 59% 1,100, H:33,600
ABR(FRFD|  JAL JAL 25,200 61% | H:25,600
HH=1AM FHE  [HEmOEAE)| JAL JAL 30,200 62% 1,800, H:31,000
A [RECHEE)| JAL JAL 30,200 62% 1,400, H:30,600
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AH%E [RECHH)| JAL JAL 26,600 66% 7,800, +:27,000, H:28,600
RIR(BEFD|  JAL JAL 26,700 61% 7,700, £:26,900, H:28,500
EH=RK FH% [EEGH)| JAL JAL 26,200 68% 7,800, £:27,000, H:28,200
KR (B[ JAL JAL 27,800 63% 8,900, +:28,200, H:29,700
B [ERERCHH)| JAL JAL 26,600 68% 8,600, +:27,800, H:29,000
KR (B[ JAL JAL 27,800 63% 8,200, H:28,600
EH=EX EHFE [EEGHE)| JAL JAL 26,600 67% 7,000, £:27,800, H:28,200
KER(FFD]  JAL JAL 27,600 62% 8,600, £:28,000, H:28,200
A [ERERCHH)| JAL JAL 25,900 68% 7,800, +:26,600, H:28,200
KER(FFD]  JAL JAL 28,000 61% £:28,200, H:28,600
EH=Ek EHFE [EERGH)| JAL JAL 25,900 68% |4 +:27,000, H:27,400
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KER(FFD]  JAL JAL 30,500 58% |%:31,300, £:30,900, H:32,100
EH=ERS BEHE¥E  [EERCHHE)| JAL JAL 26,600 68% | +:27,800, H:27,000
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ERSH |[RRCPH)| JAL JAL 25,900 69% | £:27,000, £:26,200, H:27.800
KER(FFD]  JAL JAL 28,200 63% | 1:28,600, H:29,800
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HE FECHA)| JAL JAL 27,600 61% | +:28,000, H:28,800
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HRECHE)]  JAL JAL 26,800 62% | H:26,600
RECHA)| JAL JAL 27,200 62% | 4:27,500, 1:26,600, H:28,000
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An% |EECHH)| JAL JAL 26,200 66% | +:26,600, H:27,400
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AIEHX |[EERCHH)| JTA JAL 35,500 64% | H:37,600
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MH=HE MEFX [RRCEH)| JAL JAL 28,100 57% |4:29,500. H:28,900
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HEX [EZECHEH)| JAL JAL 29,400 54% |4:30,700, 1:30,200. H:30,100
ABR(FFD] JAC JAL 23,000 63% | £:24,000, H:23,400
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MEA=E NEFE  [FEECHHE)| JAL JAL 27,300 60% +:25,700. B:27,700
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BE=X% JAL JAL 25,900 64% | %::26,700, £:27,100. H:25,800
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MHA=FX JAL JAL 25,200 66% :25,900
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An% | RERUEFFD|[ JAL JAL 31,800 52% | 4:32,800, £:32,400, H:33,300
EE=RIK EEFK | KBRUEFFD| JAL JAL 35,900 51% |#+:37,700, H:37,100
RiG% | RKERUEFFD|[ JAL JAL 32,600 56% | %::33,000, H:33,500
EE=REX EEFK | KRUFFD| JAL JAL 32,700 54% |4 H:34,500, 1:33,700
REAK | KBRUFFD| JAL JAL 33,200 53% | H:33,500
EE==k EEFK [ KBRUFFD| JAL JAL 37,000 48% [£:42,700, H:41,300
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B [ KEREFFD|[ JAL JAL 36,000 49% |%::37,000, £:37,700, H:37,400
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EE=ER EEFK | KBRUFFD| JAL JAL 35,800 52% |%:37,400, 1:36,900, H:37,900
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I == WiRz%  |RECHHE)|  JAL JAL 25,300 55% |4+ H:25,700
Si%  |RRCHHE)| JAL JAL 25,700 55% | %:26,300
Wi ==40 W% |RECHA)| JAL JAL 25,300 57% |%:25500, +:24,500
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ABR(FFD]  JAL JAL 29,800 56% |4 H:30,600
REARK [EECHH)| JAL JAL 24,000 63% | < H:25,300, 1:24,800
ABR (RFD | JAL JAL 30,500 55% |4 +:33,100, H:30,600
Iz =2 Wiz |RECHHE)| JAL JAL 24,000 63% E H:24.800
ABR(FFD]  JAL JAL 33,200 51% +£:34,700, H:34,300
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ABR (RFH | JAL JAL 30,600 57% 1,200, £:30,800, H:31,500
ERGE [RECRHE)| JAL JAL 24,800 63% > 1:25,300. H:26.200
ABR(FFD]  JAL JAL 30,600 57% |4::34,000, +:33,100, H:31,900
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= = ABR (RFH | JAL JAC 25,600 57% >:28,300, 1:26,900, H:24,300
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i =r% &as [ REREFFD|[ JAL JAL 26,400 60% > +.27.900. H:28.000
BEARE [ARMF| JAL JAL 27,100 59% 8,600, £:26,900, H:28,900
Wa® [ABRUEFFD| JAL JAL 29,600 55% |#::33,100, £:32,800, H:31,900
=R [ ABRUFFD| JAL JAL 29,300 55% |4 H:31,600, £:30,400
&as [ REREFFD|[ JAL JAL 28,600 59% |4 +:29,600. H:29,900
BR ABR (D[ JAL JAL 26,700 62% 9,200, 1:27,900. H:30,100
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WLFE [ REREFFD|[ JAL JAL 23,300 59% |4 +:23,700, H:22,500
FR=K% FRFE | RREFFD|[ JAL JAL 24,600 58% 5,700, £:26,000, H:26,400
An%E  [KREFED] JAL JAL 24,200 50% 5,400, B:25,800
FR=Rik FEE [ KERUEFFD[ JAL JAL 25,100 62% | %:26,600. 1:26,500. H:27,800
EIG%E [ARMFFD] JAL JAL 26,300 60% % 1:26,700, H:25,900
FR=REK FEE [ KEREFFD[ JAL JAL 24,500 62% 5,500, 1:25,900. H:26,300
A% [ARMFFD] JAL JAL 26,200 59% % 1:26,700, H:25,900
FR=2K FinFE  [AREFFD] JAL JAL 27,400 57% | %::29,500. £:28,800. H:29,600
= [ARMEFFD] JAL JAL 28,100 56% H:28,600
FR=BERS FRE | KERURFD| JAL JAL 24,300 64% 5,100, £:25,700, H:26,300
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L% [EmCHE)] JAL JAL 25,300 60% 5,600, £:24,000, H:25,500
MMA=RE | __/ME [ERCHEA)| JAL JAL 25,400 60% :26,500, 1:25,600
L% |[RRCHHEH)| JAL JAL 26,500 59% 7,500, +:24,900, H:27,300
NMR=ILAFE MAK  |EFECHE)| JAL JAL 25,400 63% 7,300, H:28,900
WO=F&% [RRCHE)| JAL JAL 26,900 61% |£:27,500, £:27,100. H:27.800
M= R [ERECGHE)| JAL JAL 28,300 54%
HEX [ERERCHAE)| JAL JAL 29,200 53%
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=% [EECHE)| JAL JAL 27,900 56% H:28,700
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=A% |[EECHHE)| JAL JAL 26,800 59% | %:29, E:27, H:28,400
=0 MAK  [EFECHE)| JAL JAL 29,700 55% |4 H:31,500, £:29,900
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MR =FE T MAK  |EFECHE)| JAL JAL 29,300 59% |£:31,100, H:30,300
JEAIMHE [RRCHHE)| JAL JAL 28,900 59% |£:30,300, H:29,700
INR=K5 MAK  |EFECHE)| JAL JAL 24,900 64% |4 H:26,300, 1:26,100
An% |ERCHE)| JAL JAL 25,200 64% | & H:27,300
N =RIG MAK |EFECHE)| JAL JAL 24,500 67% |- H:26,700
RiG% |[RECHE)| JAL JAL 26,600 64% | & ] H:28,100
IMNA=REKX Mg [ERFCHE)| JAL JAL 24,200 66% |& . B:27.500
BEAFE |[ERCHE)| JAL JAL 25,900 63% |- H:27,300
N =E IR AV RRECHEA)| JAL JAL 24,200 66% |&: H:26,700
EhEFE  |RRCEHE)| JAL JAL 25,200 64% |4 H:27.300
IME=ER MRFE  [RRCEE)|[ JAL JAL 24,200 67% H:25,500
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ABR (RFH | JAL JAL 30,000 64% 9,600, H:32,400
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FMEH [ERCAE)| JAL [JAL/JTA 32,700 58% |4 +:35100, H:30,900
BR(FFD|  JAL JAL 30,000 63% |4 1:32,900, H:29,600
PR (BRER) =TE% | (8 | KXIR(EFD | JAL JAL 31,600 62% | H:33,600
& JTA JAL 38,300 56% :39,400
EEFK [ KBRUFEFD| JAL JAL 36,400 56% :40,100
& JAL JTA 38,600 55% |4 H:39,800, :38200
PR (BRER) = 1LFz | h#E (IRER) | RE CRIEA) [JAL/JTA|  JAL 28,200 59%
ABR(FFD]  JAL JAL 28,900 63% |4::32,000, H:30,900
W% [ERCGEIAE)| JAL [JAL/JTA 28,800 58% 3
ABR (RFD | JAL JAL 30,800 61%
PR (RER) =1LE |8 (I8 | KR (EFH | JAL JAL 22,600 71%
12 JTA JAL 23,100 73%
lies [KBROUFFD| JAL JAL 21,800 72% :
& JAL JTA 23,100 73% :25,800, H:22,700
PR (BRER) =/ | h#E GIRER) 5| R CPFIH) [JAL/JTA|  JAL 33,400 56% :32,500, H:33,300
MRFE  |RFCHE) | JAL [JAL/JTA 30,500 59% :35,400, 1:34,300. H:31,700
R RB) ==M HEEB) | EE JTA JAC 30,700 51% |4 H:31,000
IS 12k JAC JTA 29,500 52% |4 H:30,700, 1:29,900
B (RE) =#L BB | B JTA JAC 27,400 54%
[NTIES 12 JAC JTA 27,400 54%
R CHE) =R [RRCFA) %[ XREF | JAL _[JAL/JAC 23,600 55%  AK1:24,400, £:24,600, H:23000
HE JAL JAC 23,400 52% |4:23,900, 1:23,800
fRuk% [ KBR FF) |JAL/JAC| JAL 22,800 57% H:23,000
= JAC JAL 23,200 52% +:23.600. H:24,400
R (HE) =&XXE|RECHA) % )E'E% JAL JAC 28,100 62% 1:29.400. H:28.500
ABR(FFD]  JAL JAL 41,700 41% :42,200, H:40,100
BEXER | ERE JAC JAL 28,900 61% :29,400, +:29,000, H:29,200
ABR(FFD]  JAL JAL 41,700 41% :43,000, +:40,100, H:42,700
RRCPB) =ERB|RRCHB) | _ER JAL JAC 34,600 53% € 1:36,000
BEKRE | JAL JAC 43,450 33%
ERER BR JAC JAL 34,600 53% |# +:35,100, H:36,000
BEKRE | JAC JAL 43,450 33%
RRCPH) =E25|"RRCHR) %] ERS JAL JAC 36,800 53% |4 +:38,100, H:37,200
\WEAE | JAL JAC 45,400 34%
BeEH BREE JAC JAL 37,600 52% | +:38,100, H:39,000
\BEAE | JAC JAL 45,400 34%
R (HE) =Kk RHM|RACHR) %] BRS JAL JAC 38,200 52% | +:39,500, H:38,600
MKRERE [ ERE JAC JAL 39,000 51% |#:39,500, H:39,900
BEAE | JAC JAL 46,450 37%
RRCHE) =5# [ER(PR % ERS JAL JAC 39,400 51% |4 +:40,700, H:38,700
CE T3 BERE JAC JAL 39,400 51% |4 +:39,800, H:40,700
BEAE | JAC JAL 46,800 39%
KRR =BEXB|AR(FDHE| ERS JAL JAC 29,000 52% | H:28,400
BEAER | BERE JAC JAL 29,100 52% |+ H:29,000
AR (B =ERS|XRGFEFH %] ERE JAL JAC 32,300 46% € H:32,700
BEAE | JAL JAC 38,200 20%
ERER BERE JAC JAL 35,500 41% |+ H:35100
BEAE | JAC JAL 38,200 20%
KR (R =@28| KR (B FE| _EES JAL JAC 35,300 46% |4 +:35,700, H:36,200
BEAE | JAL JAC 40,500 30%
meER ERS JAC JAL 36,200 44% [%::36,800, £:37,100, H:37,500
BEARE | JAC JAL 40,500 30%
KR (7 =k RE| KR (FOH| ERE JAL JAC 36,700 44% & +:37,100. B:37,600
hAREE [ BERE JAC JAL 39,900 39% |+ H:39,500
BEAE | JAC JAL 41,150 34%
KB (D) =5 [AR(BD % ERS JAL JAC 40,700 40% | H:40,100
5% ERS JAC JAL 41,100 39% |+ H:40,700
BEAE | JAC JAL 41,550 36%
EE=EEXXS 1ERE 5 ERS JAC JAC 23,300 55% |+ H:20,600
EEAEX | BRE JAC JAC 23,700 54% :21,000
ER=ERE FEEES BES JAC JAC 29,400 42% |+ H:26,700
BEAE | JAC JAC 31,750 35%
ERER ERE JAC JAC 29,400 42% |+ H:26,700
BEAE | JAC JAC 31,750 35%
BE=1E28 [EEES EES JAC JAC 31,850 43% |+ H:29,700
| [ &®EXB | JAC JAC 31,850 40%
BeER EES JAC JAC 31,850 43% |+ H:29,700
BEAE | JAC JAC 31,850 40%
&R =k RED [EEES EES JAC JAC 33,400 41% [+ H:31,100
HAREFE [ BRE JAC JAC 33,400 41% [+ H:31,100
BEKRE | JUAC JAC 33,400 42%
1B =55 [EEES U JAC JAC 33,800 42% |+ H:32,300
Bims B JAC JAC 33,800 42% |+ H:32,300
— BEXES | JAC JAC 33,800 44%
RRCPA) =5HE|RZCHR)%| FAiE JTA RAC 28,700 62% | & 1:31,900
EXEES ﬂﬂﬁ(%r@) RAC [JAL/JTA 32,100 61%
RAC JTA 30,100 60% | H:33,200
KRR =5BE| SHEF ﬂﬂﬁ(?}r@) RAC JAL 30,600 59% | H:33,900
KBz (B878) = 530 E | ABx (BIFE) % JTA RAC 32,000 51% | & +:34,900
S5HEFE Aﬂﬁ(%r@) RAC JTA 30,600 59% | H:33,900
AiE RAC JTA 33,000 49% %+ H:34,100
ZEECHEN=58E| SPREHX [HEFH)| RAC JTA 34,300 57% |%::33,400, £:32,600. H:35,600
12 = 5 A E SHEH |HPHEGEEH)| RAC JTA 27,300 60% |£:28,100, H:28,300
PR E) =5ME AEGRBFE| FHIE  [JTA/RAC| RAC 12,200 69%
S5HEE | FHiE RAC _[JTA/RAC 12,200 69%
RECHEA) =AKE | RRCHE) |48 (BB |JAL/JTA|JTA/RAC 27,200 55% |4 +:29,600, H:24,200
AKEFE |4 FBF) [JTA/RAC[JAL/JTA 27,500 55%
KBR () = AR B | KB (R F) 57948 (BBE) | JAL |JTA/RAC 25,100 53% | < +:28,000
AKES [ih#EFBE) |[JTA/RAC|  JAL 25,100 53% | H:28,100
KB (BA7E) = AK 5| ABx (BEFE) %[ iH48 (B | JTA [JTA/RAC 25,100 53% | +:28,000
AKES [ FBE) |JTA/RAC|  JTA 25,100 53% | H:28,100
ZEE(PE) =AKB[LEE (P R PG| JTA [ITA/RAC 27,200 54% :30,100, £:28,100
AKES [ih#E ) |JTA/RAC| JTA 28,000 52% :27,900, +:27,100, H:29,600
RBE=AXE EEEES h#E(BBF) | JTA |JTA/RAC 22,000 52% +:22,600. H:21,400
AKEFE [iH#E ) |JTA/RAC|  JTA 21,800 53% | £::23,200, H:22,800

JAL/JTA/JAG/RAC
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=R @e® BER 9/1-9/1 = = 9/8-11,17- EEM = o/12 | o/14 | o/16 | 9/23
B TTon| ETERS 2224-30  EIZIR
| | XMO [ XM
ER(RE) =2 [EZCHH) %[ P# G [JAL/JTA[JTA/RAC] 24,400 64% 24,900 22,800 66% 124,400, B:23,300 25,800 | 24,700 | 22,800 | 22,800
EEE [0 (F¥) [JTA/RAC[JAL/JTA| 23,800 65% 25,400 23,500 65% :24,400 25,700 | 26,000 | 23,500 | 23,500
RECAB) =% |RRCRB) %94 BE) |JAL/JTA|JTA/RAC 4,500 66% 25,000 22,900 :24,500, B:23.400 25,800 | 24,700
KR (BJ#E) | JAL JTA 7,800 65% +:30,100, H:27.600 25,800 +:28,100, H:25.600 28,100 | 27,200
GIEE [0#8 (BRI [JTA/RAC[JAL/JTA| 23,900 67% 24,500 23,600 24,900 | 25,200
KIR () =& @51 | KR () % [Bm (FE) [ JAL JAL 25,400 67% 28,500, 1:28,600, H:26,300 23,000 %:26,000, 1£:26.200. H:24,600 21,400
GAFR)| JAL JAL 28,600 62% £:31,000 25,000 £$:27.400 27,400 | 25,000
LA [HRCHE)| JAL JAL 28,200 63% _ A2:28,700. T:26,900, H:31,600 25,800 E; zs 300, 124,400, H:29.100 26,300 | 30,000
GAFR)| JAL JAL 28,600 62% 1,00 25,000 27, 25,000 | 27.400
KB (BAT) =% 5 | KBk (B978) S [RR CRE) [ JAL JAL 25,400 67% _ £:28500. 1:28,600. H:26.300 23,000 £:26, ooo £:26.200, H:24.600 27,400 | 25,800
BT | JAL JAL 28,600 62% :31,000 25,000 E: 27,400
LA [HRCHE)| JAL JAL 28,200 63%  A2:28,700. T:26.900, H:31,600 25,800 7<=* zs 300 +:24.400. H:29.100 26,300
BT | JAL JAL 28,600 62% 1,000 25,000 : 25,000
KIR () =18l [ XBR () 3 [BR CRE) [ JAL JAL 00 A£:27.800. £:28,600. H:25.600 25,000 E 25 400 :25.200. %:26.000, H:24.800 600
GIIE CHED| JAL JAL 200 :28,500, £:29.300. H:29.500 25,500 26,800, £:27.100, £:25,100, H:26,400 :
KR (BAT) =fe)il [ X0k (Bd8) % CHED| JAL JAL 600 A+£:27,800. £:28,600. H:25600 25, 1 +:25400, £:25,200, £:26,000. H:24,800
IS CRHED| JAL AL 200 :28.500, %:29 300 EI 29,500 25,500 X:26.800 ﬁ:zmom 1»25 100, H:26.400
KR (F75) =8lEg | KR (FF) % CRE)| JAL AL 25,000 66% 2 +:26.700, H:25, £ +:24,200, B:2
FlEES CRE)| JAL AL 25,400 66%  /:26,700, %:27. 500 1 26,200, H:27.800 K:25 100 ﬁ 25, 900 1 24,600, H:24.700
KB (BAE) =HIEg | XK (B7E) % CRE)| JAL AL 25,000 66% 2 +:26.700, H:25,4 2124
HIEEFE CHED| JAL AL 25,400 66%  :26,700, %:27. 500\ 1 26,200, H:27.800 4
KR (7D =FE | KB (P F ( ) AL AL 26,500
HLEFE CHED|  JAL AL 26,400
PGSR T PNAGEES ( ) AL AL 26,500 &
HILRE CRE)| JAL AL 26,400 200, 25500, %26, aoo +:
KIR () =@itE [ AR (P % CHED|  JAL AL 100 66 600, H:25.700
E CHED|  JAL AL 900 65%
KR (7)) =@ife | ARE (BA7s) % CRE)| JAL AL 100 66% .26, 600,
RS CRE)| JAL AL 900 65% 200, H:25.100 400, £:21,400, H:25.100
KR (FM==R [XREFHH CRE)| JAL AL 900 65% 1.300 :21.30
R% CHED|  JAL AL 700 64%  A%:24,000. H:23.600 A %:24,000. H:23.600
KR (@A) ==R [X CRE)| JAL AL 900 65% 1.3 1
) JAL AL 700 64% 4,000, H:23.600
KR () =ik i JAC JAC 400 58% 800
H JAC JAC 800 57%
KR () =BF 5| KR FH RE AL JAC 100 59%
RE AL 600 58% 00 :t 20. 100 EI 21,000
KR (=88 300 69% .8 I
200 68% ,aoo‘ H:23.300 X 9 500 H:22.000
KR (ER) =85 [AR 300 69% . 7. 0
200 68% ,800. H:23.300 X 9 500, H:22,000 23,000
KR () =R 400 72% X 7. 18.900
400 2% ,000. H:22.500 8, 8700 H:21.200
KR (BR) =51 400 2% ,900 7. 18.900
aiE 400 2% ,000. H:22.500 8, 8,700 5:21.200 22,500
BEE(TE) —&hg | BEE (PH) EARGTFE)| JAL JAL 100 3% ,400. H:26,200 5, 7,600, H:24.900 25,300
A% [HMEGTFE)| JAL JAL 000 62%  k:27,600. £:27,500, +:26.300. H:31.100 7. K:27.600. %:27.500, +:26,300. H:30.400 32,500
AEE(FH) =25 [&5E M XAMGT) | JTA [JTA/RAC] 20000 69%  2:21,600. £:25.000 %:20,600. +:24.000
T 4 (I5HR) | JTA/RAC| JTA 20,900 68%  H:23500 H:22,500
AEE (P =RIE[&5E R XAMGT) | JTA [JTA/RAC] 20,100 72%  £:21.700 £:20,700
hiE% @ FRH) [JTA/RAC] JTA 20.100 72% _ B:22.700 H:21,700
FR T m) = /M2 LR G TR % Ra (BE) | JAL AL 600 62%  F:26.800. A:26.600, £:27.900. £:26.500, H:30.0 126,900, £:26.400. H:27.700
IV CRE)| JAL AL 800 29,900, +:28.700, H:26.300 Y :29.900, +:28,000
ARG TR) =P B R L G T &) % CRE)| JAL AL 500 :28.700. 7:28.300, £:29.000. £:29.600, H:32.80 27 +:28.300, H:31.100
FCEER CRED|  JAL AL 900 £:32,300, +:29.600 Y K:26,600, £:31,500, +:29.600, H:27.400
AR TR =R LR TR % CRE) | JAL AL 300 A%+ 26.100. H:27.500 £:26.300. +:24.100, H :26. 000
[EIIE: CRE)|  JAL AL 400 7 126,800, +:25.400. B: 23,800
HIRFFR) =Le[LREFTFRE CRE) | JAL AL 700 65% A £:26.900. £:26.800 27 200 5:26.600 27.400
L5 CRE)| JAL AL 200 66% 29,700, +£:26,800, E1:24.900 25,600
ARG TR) = LOF B LR T 8 % CRE) [ JAL AL 600 67% 27,600, +:26.200, B:
MEESE (FA) AL AL 600 67% 29.800. T 27,800, H:23.800
ARG TFR) =HE[AREF TR R (HEA) AL AL 26.800 64% 26.100 :26.300 26.300
HESR (FA) AL AL 27.500 63% 25,600 7K:26.200, £ +:30.000. H:26.100 26.100
R EFTFR) =RBAREFTRH R (HEA) AL AL 25,300 66% *% 25,500, +:25.800. H:26.900 28,300
GEE: CRE)| JAL AL 25,800 66%
IR G FR) =B [LREG TR % CRE)| JAL AL 26,800 65%
B CHED[  JAL AL 27,500 64%
IR (TR =@ LR TR % (BE) [ JAL AL 26,000 66%
BAFE CHED[  JAL AL 7,600 64%
IR FFR) =R LRGTR % CRE)| JAL AL 600 66% 26,500
[T (HA) AL AL ,700 63% 27,500
R FTR) =AM [ARGITR) (CHE) AL AL ,100 66% 26,400
EZNIE] (FA) AL AL ,600 66%
HIRGFR) =X [LREG TR % CHED[  JAL AL 500 71%
A5 CRH) AL AL ,000 68% 26,500
IR (FTFR) =RGHLREGTR % (HE) [ JAL AL ,200 1% 27,700 26,800, 31,000
IR (FHE)[  JAL JAL 26.800 69% 31,100, ;t 00.
FLIR G i) =REA LR T &) % CHE)| JAL JAL 26,000 69%
RERF ( )| JAL JAL 26,000 69% 26,500
IR (FTFRE) =25 LR FTR) CRE)[  JAL JAL 26,000 69% 30,000
=R [ER(CRE)|[ JAL JAL 26,000 69% 26,500
ARGFTR) =ER S LR GFTR % CRE)| JAL JAL 25,200 71% 26,400, % 26,500, £ 27,600, F:30,700
BERBR (FA)[ JAL JAL 26,000 70% ,800, +:29,300, H:26,700 . 26,000
AR (377 ) =7 # (B | FLOE (BT T4 %[ BR CRA) | JAL [JAL/JTA[ 30,500 65% N ,900, %:35.100, +:34.400. H:36.60 29 « A 33,900
AR (BFE) | JAL JTA 27,700 69%  £:33,300, 1 H:30,000 3 26,800
BEE(8) | JAL JTA 26,800 70% 30,800, £:28,000, H:30,000 31,400
& JAL JTA 31,100 67% 32,300, £:30,600, H:34.000 30,800
8 (RE) 5 [ (HE) [JAL/UTA]  JAL 31,800 64%  A:33,300, ,300, 1:33,500, H:30,900 31,300
KR (BFE)| JTA JAL 26,800 70% _ %+:29,400. H:31,100 24,900, B:26,500 26,500
BEB ()| JTA JAL 30,500 66% _ £::34,600. 1:30,300, H:36.500 :32,500, 1:28,200. H:33,800 35,600
] JTA JAL 30,800 67% _ %+:33600 27,600 70% £:30.400 30,400 | 29,200 | 27,600 | 27,600




IR#eH5128 BEER(9A1H~30HERS) JAL/JTA/JAC/RAC

EEHEE . 2014/6/24 ~ MRE WA
N e I ——
=455) Ehd BEai 9/1-9/7 g;i wE 92 2141_';; g’l]l;g wE 9/12 | 9/14 | 9/16 9/23
XD | X - -
HIRF TR =R\ *Lﬁ(ﬂﬂﬁ)ﬁ ER (HE) [ JAL JTA 31,700 69%  H:30,800, 7:30,600, £:33,100, £:35.200, A:32.80 30800 70% £:33,300, B:30,900 33,300 | 33.400 30 800 | 30,800
B% B CHE)[ JTA JAL 32,300 69%  A:32,400, :33,200, H:35.200 70% :33,300 30,800
B =%E5 hﬂ;‘é EECRE) [ JAL JAL 28,400 69% 3,800, +:32.400, H:31.400 za‘soo 71% :31,300, 1:30.200. H:29.700 32,700
GiF®)| JAL JAL 30,400 65% :32,100 21,200 68% +:28.900 28,900
TEANFE [EREE)| JAL JAL 31,300 66% ,800, £:35,000, £:31,900, H:36.400 28,900 69% :32,200, 1:29,400. H:33,900 32,600
TS| JAL JAL 28,800 67% 0,500 25,600 70% :27.300 25,600
wE=Rel FEI] CRE) | JAL JAL 29,400 67% 2 +:32,700. H:30.400 68% :31,400, £:30,800. H:28,900 31,900
Bl CRE)| JAL JAL 30,200 67%  A:30,400, £:33,500, £:30,000, H:34,700 68% :31,100, +:28,300. B:31,600 32,600
[EEEE TS ] CRED|  JAL JAL 28,000 69%  2::32,000, £:30,500, H:29.500 71% 129,500, £:28,200, H:27.100 29,500
SIEE CRED | JAL JAL 27,600 69%  £:30,300, ,000, H:32,700 Y 71% 400, 00 | 28.700 |
[EEEET ] CRED|  JAL JAL 29,700 67% 29,000, 7:30,900, £:31,800, £:30,800, A:33,50 27. 69% 27500, .28.400. 329400, 28,300, H306{ 31.000
IR CRHED| JAL JAL 29,400 67%  A:29,600, %:34.100, +:33,300, H:33.100 70% _ H:27,200, £:27.400. £:31.400, +:30.800, B:30,7{ 33,300
= =mE EE] [z CHE) | JAL JAL 25,700 68%  2::28,000. £:27.400, H:31.100 68% 208,000, +:27.600, H:30,800
KRR JAL JAL 29,000 60% 2 +:30,00. H:28.100 64% < +:27.400. H:25600
WER  [EZRE)| JAL JAL 25100 69%  A:25,500, :27,000, +:26,300, H:28.700 69%  A:25,300, % 126,300, H:28.700
KRR JAL JAL 27,500 62%  2::28,700. £:29.100, H:28,300 66% 206,200, +:26.600, H:25,800
wE=E& wmEx [Ex@H)| JAL AL 24,800 69% 227,600, £:25,300, H:28,700 69% 207,600, :25.300, H:28,700
KRR JAL AL 24,400 65%  +:24,800 65%  +:24,800 2
EHRE  [EZmE)| JAL AL 25,300 68% 26,100 %:30,300, +:27,200, H:28.800 65% :25,300, £:28,000, £:30,300, £:27.200, H:28.7
KRR JAL AL 24,800 65% 65% < +:25.00 2
[EmE@E) [ JAL AL 25,000 68% 500, % H:26.400, £:25.700 68% < [:26.400, 1:25.700
KRR JAL AL 27.500 62% 62%
[EmE@E) [ JAL AL 25,000 68%  A:25,500, %:26.800, +:26,300, H:27.200 68%  :25,00. %:26.800, +:26,300. H:27.200
PAG) N AL 26,300 63% 3%
BRI=TEE 7 [ JAL AL 30,200 56%
7 [ JAL AL 29,000 58% 2+ 5:29.800
BRE=HE E [ JAL AL 26,300 64% K27 500 ﬁ 28,000, £:26.800, H:27.200
7 [ JAL AL 22,200 67%
ES [ JAL AL 25,500 65% 25, 700 700, %29 700 j: 28,700, H:28.500 200 ﬁ.zs,mo +:28,700, H:28.400
7 [ JAL AL 22,600 66% :23,000, H:22.21 ,000, H:22,200
#BE=1% ) JAL AL 23500 64% :24,000, A 25‘100 ,000, H:25,100
[ JAL AL 29,700 55% :32,200, £:31,500 200, 500
[ JAL AL 24,300 62% 7,400, 1:26.900, H:24.000 1400, +:26,900. H:24.000
[ JAL AL 29,700 55%
BRI=F8 B [ JAL AL 21,400 66% 2 +:21,800. H:20.600 % 121,800, H:20,600
#Hib )] JAL AL 23,100 63%
BRE=/ 3 [ JAL AL 25,000 65%
\ [ JAL AL 4,900 65% 00
‘BE=27 (BT | JTA |JTA/RAC 100 67%
& 4 (35%R) | JTA/RAC| JTA 700 66%
‘BE=FE ] @ (BB | JTA |JTA/RAC 200 70% )
G5 4 (B5¥R) | JTA/RAC| JTA 800 69% 18,700, £:18,600
LA =1e5 ESED GiFs)|  JAL AL 300 54% 700, B: £8:27,700
b3 GiFR)|  JAL AL 300 5% + H:27.700 £ H:27.700 26,300
TwEA=1E ES kD GFS)|  JAL AL 600 59%  £:26,100. 1:23.700, H:26.300 :25,700, +:23.300. H:25.900 25,900
& TS| JAL AL 800 62% +:24,200, H:22,000 +:23.800, H:21,600 21,600
TR =58 ES kD TS| JAL AL 700 58% 27,800 :27.800 27.800
8 ( )| JAL AL 400 59% 26,600, 1:27.400, H:24.200 126,600, +:27.400. H:24; zoo 2
LR =M ESEED [ JAL AL 500 61% 30,000 700, H:34.300 :27,600, £:26.200, 8
M CRE)| JAL AL 500 64% 30,600, & H:30.700 128,100, +:28.300. A: ,ooo
EICEER CHE)|  JAL AL 000 64% H:30.600. +:30.800
ES VIS CRE)| JAL AL 800 65% 26,200 H:30.6¢
[ CRE)| JAL AL 500 68% 25,500, $:28,500, 1:28.700, H:26.000
ZHA=R5 ES TS CRED | JAL AL 000 64% +:27,800. H:31,000
GAFRE)| JAL AL 500 68% +:26,000, 5:26,400
&% = (FIH) AL AL 200 67% :28,800, 1+:29,000, H:27,800
GAFE)| JAL AL 900 68% +:26.800 25,900
LimR=HE ESVES CAE)| JA AL 600 62% :30,800, £:28,400. H:34.000 35,000
HE CRE)| JAL AL 600 64% :31,800, +:32,000. H:29.500 31,000
i A=l S IES ( ) AL AL 100 64% 12791
AL (HEA) AL AL 200 68%
ZimBl=HhiE ESETIES (FEA) AL TA 8.400 66% N : :
k= CAE)| JT, AL 34,400 69% +:36,100, H:39.600 +:33900. H:37,500
TEII= /1 i) CRED| JAL AL 29,100 61% 29,900, +:27,600, H:32.700 127,500, 1:25.900.
/Iy CRE)| JA AL 7,300 63% 31,500, £:31 100 £:29,700
BII=FiaE 1B, (FH) AL AL .100 66% 28,500,
BfCEER (FH) AL AL ,300 64% 29,200,
JeI=MW0 FENI] CRED | JAL AL 600 64% _ #:30,400,
[} CHE)[ JAL AL ,900 68%  £:30200, £:20.800, H:27200 |
BI=HE JENI] (HA) AL AL ,600 62% 27,500
HER CRE) AL AL 7,700 66%  H:27.600, £ +:29.700, H:28,900 26,000
B =4 Il CRIE) AL AL ,900 64% 3,300, H:34.700 29,200
im CGBE) [ JAL AL 200 64% 3,500, £:32,700. H:30.400 29,400
BI=F1E Il CRHE) AL TA 800 68% 31,900 E.
A8 CRE)| _JTA AL 500 69% 4,400, 35500, £:34,.800, H:37,300 32,400 33,000, F:36.100 40 000
BB = /1 3% CRIE) AL AL 500 62% _ £:28,800, H:31,200 25,900 :27,200. H:29.200 29,600
M CGBE) [ JAL JAL 217,100 63% % +:28,800, H:28.300 24,700 +£:26,300. H:25.900
EER RS FIES CGBE) [ JAL JAL 27,900 66% 27,500, #:29,200, £:28.400, H:28.800 25,900 26,100, 7:26,000. £:27.200, £:26.900. H:26.3
foE RS CRE)[  JAL JAL 29,600 64% +:31,300, H:30,800 27,200 1:28.800, H:28.400 29,200 | 30,000
HEE =R 3% CRE)[  JAL JAL 27,800 66% 28,600, +:28,200, H:29.800 26.200 27,000, +:26,600. H:26,700 27,000 | 29,500
L% [EECHE)|[ JAL JAL 27,100 67% 24,700 26,700 | 26.800
=158 SIBE: (HE) [ JAL JAL 27,400 67% 29,000, + 28,000, H:30.400 25,800 27,400 | 2
LB CRE)| JAL JAL 27,800 67% 25,400 27,400 | 27,600
HEE=HE S (FA)[ JAL JAL 28,500 65% 26,000 29,100 | 28,600
HER (FH)[ JAL JAL 29,200 64% 26,800 30,000 | 29,800
B =210 S CHE)[  JAL JAL 29,100 66% 31,500, +:29,900, H:33.200 27,500 29,900, +:28, 300 EI 30,100 29,900 | 31,600
fT] CRED| JAL JAL 27,800 67% £:29,500, H:29,800 25,400 £:27,000, B:27.400 27,800 | 29,500
SIE=01E IR CRE)| JAL JTA 33,100 70% 2,700, £:36.500, £:36,100. H:33,600 30,700 :30,900. £:30.800. 100, £:34.200 35,700 | 35,300
AiE CRE)| JTA JAL 32,700 70% A A:33,400, £:34.400, £:33,600. H:35.900 31,100 H:31,200, A:31,300. £:32,300, +:31,700. H:33,6{ 34,000 | 39,800
wIR=/M AL (FA)[ JAL JAL 28,300 61 £ +:30,100, H:30,400 25,900 A 7:26.100, 1:27,600. B:28,000 29,400 | 29,600
IV CRE)| JAL JAL 28,600 61% A +:28,800, £:28,500, %:31,200, H:32,800 26,200 F ££:26.300, A:26,100. %:28,800, H:29,900 30,400 | 30,700
HE=mfaE L (FHA)[ JAL JAL 30,200 62%  £:30,700, £:30,500, H:31,600 27,800 A & £:28,000, £:28,400. B:29.200 30,300 | 30,800
EfLEES CRE)| JAL JAL 29,800 63%  F:29,900, £:30, 700 :t 30,900, H:31,300 27,300 F:27,600. £:28,300, £:28,400, H:28.800 29,900 | 29,900
FHLR=REL I CRE)| JAL JAL 28,800 65% 2 26,400 B A:26,600, £ +:27.200, H:27.400 29,000 | 29,800
AL CRE)| JAL JAL 26,900 67% B 0 H:24,700, :24.800, £:25800, £:25.900. H:26.9( 27400 | 29,600
FL=HE IR CRED| JAL JAL 30,600 62% % H:32,300_£:30,900 27,900 B A:28,100, £:30,000, £:28.400, H:29,200 31,500 | 31,000
3 CRE)| JAL JAL 29,000 64%  F:29,100, £:31,500, £:31,700, H:30,200 26,500 F:26,800, £:29.100. +:29,200, H:27.700 30,700 | 29,700 | 28,300 | 28,300
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45| #ad BERi o/1-9/7 | EEH e 9/8-11,17-  EHEL iz 9/12 | 9/14 | 9/16 | 9/23
T =rEm | #51% 2224-30 E|5|FE
01 | FHO] XHO
wEhE=H0 73 CRE)| JAL JAL 30,100 64% 231,800, £:31,700, H:32.400 21,700 67% _ HA:27.900, £:29,500, +:29.200, H:30,000 29,400
i CRE)| JAL JAL 28,900 65%  H:29,000, ,000. £:30,000, B:33,500 26,400 68%  H:26,700. £:28,600. £:27,500. H:30,600 28,200
Hh=h1E [k CRE)| JAL JTA 35,100 68%  %+:41,600. H:36,100 32,200 70% _ HA:32.400, % 1:38,700. B:33,200 33,900
f 18 CRE)| JTA JAL 35,000 68% ,900, £:36.100, B:38,600 70% _ H:32,400, %:33,100, £:33,200, H:35.700 33 900
BEEE =/ BREE: CRE)| JAL JAL 25,000 61% 200, H:27.200 63% :24,700, £:23,100.
/I CRE)| JAL JAL 25,500 61% 700, H:30.400 61% 7,800, +:25.700,
EHEE=FCEE | FiEEER CRE)| JAL JAL 7,600 62% ,200, H:32,000 62% 29,000, +:28.200.
EE=ML AR CRE)| JAL JAL 500 7 68% 3,000, H:25.800
L CRE)| JAL JAL 200 7 R:24,600, & :26.100, B:27.400 68% :24,000, £ +:26,100. H:27.100
EE=LE BAE CRED | JAL JAL 900 7 25,700, H:27,000 7% :24,900, B:27.000 7
L8 (BE)[ JAL JAL 900 7 7,500, +:26.400. H:29.200 7% :27,200, +:26.400, H:28,900 26,
HE=HE E13 [z CHE) | JAL JAL 100 62 :27.300 4% :27.300, +:25,600 28,600 |
KIREFD[ JAL JA 3,500 66% 4,700, £:25.100. H:24.300 0% :22,200, +:22,600, H:21,800 21,000
HEF  [ERCHE|[ JAL JAL 26,300 64% :29.400, H:30.900 64% +:29.400, H:30,600 27,700
KRR JAC JAL 25,000 4% 126,600, H:24,100 67% +:23.800, H:21,600 22,60
EfE=H0 R [EE@E)| JAL JAL 26,600 65% zs 200 H:29.200 66% 7,400, +:25.100. H:29.200
KRR JAL AL 25,900 62% 500, H:26.700 65% :24,600, +:25,000, B:24,200
wmilE  [Ex@E)| JAL AL 25,500 66% 7‘900 +:26,400, H:31,100 66% :27,600 1:26.400‘ El»so 800
BR(RF | JAL AL 27.400 59% 8,600, H:26,500 63% 25800, H:2
=AM EE SCHE)| JAL AL 26,500 67% : 68% 26,500, £:25. 000 EI 27,800
EZYLED F(RA)| JAL AL 26,500 67% 68% s
EE=X% R [EE@HE)| JAL AL 25,000 69% 69% 25,700, 126 100 EI 26, 000
KRR JAL AL 28,700 59% 3 63% : N
XR%  [ESCHE|[ JAL AL 25,700 68% 7400, 25,800, 0:29.700 68% 27100, £:26,800, B:29 700
BiE=RIG HEE  [EECEA) AL AL 25,000 70% % +£:25,300, H:26,400 70% % +:25,300, H:26,400
KRR JAL AL 28,400 63% 0,700, £:30.000, H:30.300 67%  %:28,200, +:27.500. H:27.800
RE%  [EzCHED|[ JAL AL 25,700 69%  H:26,000, £:28,500, +:26.800, H:29.700 69%  F:26,000. %:27.400, £:26,200. H:29.700
KRR JAL AL 29,900 61% +:31.100, H:29,000 64% £:28.300,
BEfE=REA BfEE  [RE(CHE) AL AL 25,000 69% 25,500, +:25,300, H:27.200 69% 1:25.300.
KRR JAL AL 28,000 63% 0,000, 1 H:29,600 66% :27500, + H:27 100
BARE [ERCEE)| JAL AL 25,500 69% 7,200, £:26.200, H:30,000 69%  %:26,900, 1:26.200, H:29.700
KRR JAL AL 29,500 61% 0,700, £:31.100, H:28.600 64%  %:27,900, +:28,300, H:26.100
HEE=28 EEER FCRA)| JAL AL 25,000 69% A% $:26,300, B:26.400 69% % £:25.300, H:26.400
PO JAL AL 29,500 61% 64%  %::30,300, 1:28,600. H:29.500
ELES B[ JAL AL 25,700 68% 68%  F:26,000, %:27.400, +:26,200. H:29.700
PO JAL AL 0600 59% 62%  %:09 4 00
EE=ERS ETE3 B[ JAL AL 4,800 70% 70%
[ JAL AL 500 65% 68% 0
BERE% [EZ@H)|[ JAL AL 700 69% 69% 0, H:29,700
[ JAL AL 000 63% 66% 7400 j:zs 300 H:25.600 25,60
EEE=F1E R [ JAL JT) 100 68% 600 69% ) 36.200
& ) JTs AL 800 7 4,500, H:39.300 68% 3800 EI 38,600 800 | 41,100 | 32
EHR=IR i [ JAL AL 000 1 H-ze,wo‘ £:25.800 1 H:26.100. +:25800
/I [ JAL AL 400 1 1 H:26.100 X 26,200
EHR=AREE i3 [ JAL AL 300 7 E 7 £:31.200 200 | 31,300
] [ JAL AL 300 7 31, 200, B:32,100 7 :31,200, H:32.100 200 | 31,300 | 30
EHR=REL B [ JAL AL 700 66" 66 400 27 200
R [ AL AL 000 67% 67%
BH=LE £ [ JAL AL 300 65% 65%
5 & [ JAL AL 100 66% 66%
EHR=LOFH | BHE [ JAL AL 000 66% 66%
=E2 [ AL AL 300 69% 69%
EHR=HE BHRR ) AL AL 500 3 3
[ JAL JAG 600 7 7
HER FE) [ JAL AL 500 3 3
[ JAC AL 000 7 7
EH=RE ) JAL AL 900 7 7
) uAL AL ,900 7 7
1N [ UAL AL 200 4% 27,800, :26,600 4
[ uAL AL 500 4% £:26,600. H:27.400 4 26,600, H:27.400
EHR=EH ) uAL AL 700 68% 26,200, £:25.400. H:26.400 68% 126,200, +:25.400, H:26.400 26,500
) uAL AL 500 67% 27,500, £:25.400, B:26.700 67% 127,500, +:25,400, H:26.700 400 | 27,600
FEFxR=L ) AL AL 000 65% 28,400, H:28.100 65% :28,400. H:28.100 ,300 | 29,000
V[ uAL AL 200 64% £:23.600 64% £:23.600 24,200
EATIES H) AL AL 600 66% 25,900, H:27.200 66% 25,900, H:27.200
A JAL AL 200 64% 23,600 64% :23,600
BEH=IAM EHR ) JAL AL 900 68% 27,500 68% 27,500, H:26.700
EAMRE |RECHE) AL AL ,900 68% 27.100, 68% :27,100, H:26.200
BER=KAS EHR  |[mamCRA)| JAL AL 600 69% :25,300, £ H:25.700 69% :25,300, +:25.700. H:24,900
KERUFF | JAL AL 600 62% +:26,400. H:26.600 62% +:26.400, H:26.600
AR [RECHH) AL AL 600 69% 125,400, H:26.100
KB (75 AL AL 000 63% :26,000. 1:25.200, H:26.800
EHR=RB AR [EZEE)[ JAL AL 600 70%
KB (75 AL AL 300 66%
Rias  [EZCRE)[ JAL AL 600 70% 70% A 24,900, % 25,700, H:26.100
KB (751 AL AL 300 66% 66%  +:25700
HEHR=MEA AR [EEE)| JAL JAL 24,600 69% 69%  £:24,900, F:25, 700 H:25,300
ABRURFD | JAL JAL 24,900 66% 66% :
BAE  [RR@HE)| JAL JAL 24,600 69% 69% : 27,800
AR JAL JAL 25,700 65% .25 900, 26,000, F:26,500 65% 26,000 | 26,500
EHR=EH EHE  [EZRE)|[ JAL JAL 24,600 69%  FA®1:24,900, B:25.300 69% 29,400 | 27,000
RBRURFD | JAL JAL 26,800 63%  £:29,300. +:27,200, H:28.500 63% ¥ 29,300
BEE  [RRFHE)| JAL JAL 24,600 69% £ +:24900, H:26,100 69% 26,600 | 27,000
RBRURFD | JAL JAL 27,000 63% ,600, H:28,300 63% 27,600 | 28,300
EHR=-ERE EHE  [EZRE)|[ JAL JAL 24,600 70% H:25,700 70% 28,800 | 26,600
ABRURFD | JAL JAL 24,800 67% :25,700, 1:25,200 67% 25,700 | 26,500
ERBR [RRZ(PFH)| JAL JAL 24,600 70% 4,900, £:25,700, H:26,500 70% 26,600 | 27,400
FF) [ JAL JAL 24,800 67%  +:25700, H:26,500 67% 24,800 | 27,500
) JAL JTA 31,700 68% £:34,200 69% 34,700 | 34,700
) JTA JAL 31,700 68% :35,000 69% 34, 32,200 | 37,200
[ JAL JAL 24,800 60% 125,300, £:24,000. H:25.700 60% :25,300, 1:24,000. H:25,700 25,300 | 25,600
[ JAL JAL 24,800 60% 3:25,700 60% 5.25,700 25,700 | 24,800
[ UAL JAL 30,300 57% 3:30,700 57% 5:30,700 30,700 | 31,300
[ JAL JAL 30,300 57% :30.700 57% :30,700 30,300 | 29,900
[ JAL JAL 25,100 65% 4,700 65% _ +:24,700 25,100 | 25,500
) JAL JAL 24,000 67% & +:24,400. H:23.600 67% +:24,400. H:23.600 24,400 | 23,700
[ JAL JAL 24,700 66% 3:25,500 66% 5:25.500 25,500 | 25,100
) JAL JAL 23,200 68% 25,100, £:23,900, H:24.500 68% 25,100, £:23.900, H:24,500 25,100 | 24,500
) JAL JAL 26,400 66% 24,700 66% 24,700 26,400 | 26,000
[ JAL JAL 24,700 68% 68% 24,700 | 24,700
) JAL JAL 26,900 62% H:27.300 62% H:27.300 27,300 | 28,200
[ JAL JAC 22,300 67% 123,100 67% :23,100 22,300 | 30,100
FE) | JAL JAL 25,300 64% :26.200 64% :26,200 25,300 | 26.300
25)|_JAC JAL 23,500 65% £:23.900 23,500 65% £:23.900 23,900 | 29,600 | 23,50
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FED BERi o/1-9/7 | EEH e 9/8-11,17-  EHEL iz 9/12 | 9/14 | 9/16 | 9/23
T =rEm | #51% 2224-30 E|5|FE
[ | XEO | REQ@
CRH) JAL 4,300 66% 4,300 66% 24,300 | 25,200
CRE) JAL 3,000 66% 3,900 66% 23,900 | 23,900
CRHE) JAL 4,400 66% 25,700, £:24.300, H:26.600 4,400 66% :25,700, +:24,300. H:26,600 25,700 | 26.200
CRE)| JAL JAL 4,300 66% 24,800, H:25.200 4,300 66% :24,800, H:25.200 24,800 | 25,200
CRE)| JAL JAL 25,800 65% H:26.700 25,800 65% H:26.700 26,700 | 26.400
CRE)| JAL JAL 24,100 7 27,100, H:25,800 24,100 7% :27.100, B:25.800 27,100 | 25,400
CRE)| JAL JAL 26,400 4 28,000, H:27.700 26,400 4% 128,000, B:27.700 28,000 | 27,300
AR JAL JAL 24,700 3 24,700 3% 24,700 | 24,900
HE(CAE)| JAL JAL 24,700 7% H:25,500 24,700 7% H:25,500 24,700 | 25,900
BR[| JAL JAL 25,900 1 25,900 1% 25,900 | 2
R (AE)| JAL JAL 26,300 7% %:21.100 26,300 7% £:21,100 21,100
R (RA)| JAL JAL 25,000 68 25,000 68" 25,000
[EmE@E) [ JAL JAL 25,000 68% 25700, £:26.100, H:25.300 25,000 68% :25,700, +:26.100. H:25,300 21,300
KRR JAL JAL 27,500 60% 28,200, H:28.100 21,500 60% :28,200, H:28.100 28,200
R (AA)| JAL JAL 25,000 68% 25,300 25,000 68% 25,300 26,100
[EmE@E) [ JAL JAL 25,000 69% % 125,300, H:25.700 25,000 69% %£:25300. H:25.700 21,700
KRR JAL AL 27.200 64% B: 64% < [H:28.300 28,300
[EmE@E) [ JAL AL 24,800 70% 70% % H:25.300 25,700
KRR JAL AL 28,400 63% 63% 28,400
[EmE@E) [ JAL AL 25,000 68% 68% < +:25.300, H:24.900 21,300
KRR JAL AL 26,800 4% : . 64% 27,600 21,600
[EmE@E) [ JAL AL 24,800 69%  +:25,000, H:25.300 24,800 69% 25,200
KRR | JAL AL 28,000 62%  +:28.400 28,000 62% 28, 28,000
[Em @R[ JAL AL 25,000 68% A% £ H:25.300 25,000 68% % £ B:25.300 28,100
KRR JAL AL 28,300 62% 30,400, H:30,000 28,300 62% _ %::30400. H:30,000 30,400
[Em @) [ JAL AL 25,000 68% A&+ H:25300 25,000 68% A%t H:25.300 26.100
KRR JAL AL 29,100 60%  £:29,500, £:30,300, H:30.800 29.100 60%  £:29,500, +:30,300. H:30.800 29,500
[z CHE) | JAL AL 24,800 70% _ A:25000. %+ H:25.300 24,800 70% 25,000, %+ H:25.300 27,500
KRR JAL AL 26,300 66% 27,200 26,300 66% :27.200 26,300
[EmEEE) [ JAL AL 25,000 69% % +:25,300, H:26.100 25,000 69% % £ B:25.300 26.100
R (D[ JAL AL 7,500 64%  +:28.400 7,500 64%  +:28.400 21,500
=®"E = BE)[ JAL JT) 100 68% :34,600 700 68% % +:34.200 34,200
& @R JTA AL 100 68% 34,600 .700 68%  H:34,200 31,700
FE =/ # CRE [ JAL AL 400 57% 26,100, £:23,800, H:25.800 400 57%  %:26,100, £:23.800. H:25800 26.100
/] @R[ JAL AL 800 58% H:25,500, :24,000 800 58% H:25.500, +:24.000 25,500
ME=FkEE BT @R[ JAL AL 100 58% 800 100 58% : 28,800
EfEES BE)[ JAL AL 26,000 60% 26,000 60% 26,500 | 2
FE =R #E BE)[ JAL AL 900 62% ,900, +:24,600, H:25.200 900 62% .900
L GRE)| JAL AL 500 65% 23,900, % H:24.500, +:24,400 500 65% 500
HE=LE ] GRE)[ JAL AL 500 62% 26,400, 1:26.300, H:25,600 500 62% 400
I GRE)[  JAL AL 200 64% H:25,300, +:24,700 200 64% 300 | 25,
ME=LOFH | H@A BE)| JAL AL 200 63% 27,200, +:25,400, H:26,500 200 63% 27.200, £25. 400 EI 26,500 26,500
=E2 GRE)|  JAL AL 400 67% H:24,500, +:23.900 400 67% H:24.500. +:23 900
ME=HE EF [EECEE)| JAL AL 700 59% 28,200, +:25.100, H:27.000 700 59% :28,200, +:25.100. H:27.000 26,000
KRR JAL JAC 700 64% 23,300, £:22,200, H:19.800 700 6% :23,300, +:22,200. H:19.800 X 29,500
TR [ERCEE)| JA AL 900 60% +:27.700, H:27.800 .900 60% +:27.700, H:27.800 700 | 27,800
AGI I AL 200 64% +:21,800 200 64% £:21.800 26,800 | 22
BE=85 L GRE) [ JAL AL 100 63% 125,100, +:25,000, H:24.400 100 63% :25,100, 1:25,000, H:24.400
CRED[ JAL AL 300 64% H:24.100, +:23.100 300 64% H:24.100, £:23,100
HE=B0 N CRED[ JAL AL 400 60% :28.100, +:25,800, H:27.500 400 60% :28,100, 125,800, H:27.500
GAE) | JAL AL 700 62% +:26.200, H:26.500 700 62% +:26.200, H:26.500
RE=EH i GAE) | JAL AL 600 62% 127,500, +:24.800, H:26.800 600 62% 127500, j: 24,800, H:26.800
AR | JAL AL 600 65% 600 65%
FE =l k CRE) AL AL 200 62% 26.200 62%
KERUFF) | JAL AL 000 66% 21,000 66%
W% [ExE)] JAL AL 500 63% 26,000, H:26.600 25,500 63%
PNAGI N AL .000 66% 1.400 21,000 66% :
FE=ILAM HEX  [Em(PE)|[ JAL AL .100 65% 7,100, £:25.200. H:26.400 26.100 65% 7,100, +:25.200. H:26.400
JAMFE [HECAE)| JAL AL 800 65% 26,500, £:26.300, H:25.600 25,800 65% 26,500, +:26,300, H:25.600
ME=X5 PEFE [ERCH) AL AL 800 66% 1:26,400, H:25.400 24,800 66% +:26.400, H:25.100
KRR | JAL AL 400 63% +:24.200 23.400 63% +:24.200
Xo%  [HECREA) AL AL .000 67% 24,800, +:24.900, H:25.500 000 67% 24,800, +:24.100. H:25.500 . 26.300
PN AG N AL 800 64% 23,400, £:23,000, B:24.600 800 64% 23,400, +:23,000. H:24.600 ,400 | 24,600
HE=FE MER  [HECHA) AL AL 800 67% 100, +:26.000. H:25.800 800 67% 25,100, £:26.100. +:26.000. H:25.800 ,500 | 26.600
KB (251 AL AL 600 68% 00. H:23.400 600 68% 500
RiER  [HECHA) AL AL 000 68% . £:25,900, +:25.300. H:26.300 000 68% 324,300, % 25,200, 25,300, H25,500 100
KB (251 AL AL 100 67% 23.100 67% £ 1:23.500 .500
BE=RX TERE |Rmm(HE)| JAL AL 800 66% % 26,100, F:26,000, H:25,800 24,800 66% £:26.000, H:25,000 ,000
AR [EmCHE)| JAL AL 000 67% _ H:24,300, £:25,100. £:24,900. H:25.500 24,000 67% 25,100, +:24.900, H:25.500 .900
PN AGI NN AL 500 66% 123,700, %:23,400. H:24.300 23,500 66% _ A:23,700, %:23.400. H:24.300 ,400
HE=2& #MEREX [EZRE) AL AL 800 66%  FAAH:25.100, £ 1:26.000 24,800 66% H:25.100, £ +:26.000 ,900
ARG JAL AL 000 3% | £:27.100, +:26,800. H:26.700 25,000 3% £:27,100. +:26.800, H:26.700 100
BERE  [EZECHE)|[ JAL AL 000 7% | H:24.300. %:25,100, %:24,500. H:25,500 000 7% 7:24,300, %:25.100, +:24,500. H:25.500 500
PN AGI N AL 800 4 125,000, +:25,400. H:26.100 800 4 :25,000, +:25,400. H:26,100 ,000
HE=ER #MERE [EZCRE)[ JAL AL 800 7 £:26,800 800 7" 1:26.800 ,300
PN AGI N AL 100 68% 123,900, +:23,000. H:24.300 100 68% :23,900. £:23,000. H:24,300 ,900
ERBR [RZ@H)| JAL JAL 24,000 68% 124,300, £:25,100. +:24,800. B:25.900 24,000 68% :24,300, % H:25,100, +:24,500 25,100
ARG JAL JAL 22,600 69%  +:23,500, H:24,300 22,600 69% _ +:23500. H:24.300 22,600 | 25,300
ME=RE #E%E [HEERCRE)|[ JAL JTA 31,900 66% +:35,300 31,500 66% 1:34.900 34,900 | 33,200
aE%E  [EECHE)|[ JTA JAL 30,300 68% :34,100 29,900 68% 29,900 | 36,200
TEE=HE EER [ KR(FM)| JAL JAC 28,900 55% &+ H:29.800 28,900 55% 29,800 | 35,800
HEE [XKBR(FA| JAC JAL 32,200 50% £ +:32,700 32,200 50% 33,200 | 35,800
TEE=HL it RBR(RFD | JAL JAL 33,800 47% 4 ,800, H:34,100 33,800 47% 34,800 | 34,000
[N ABRURFD | JAL JAL 34,100 46% 4 ,300 34,100 46% 35,400 | 34,700
FEE=KS k2 KB [ JAL JAL 33,400 49% H:34,700 33,400 49% 34,700 | 33,800
X RBE(FFD [ JAL JAL 32,800 50% 133,800, +:33,400. H:34.300 32,800 50% 33,800, 33,400, H:34,300 34,300 | 34,300
TEE=RE AIR(FFD[ JAL JAL 35,900 51% 7,700, £:37.900, H:37.200 35,900 51% 7,700, £:37.900, H:37.200 37,700 | 37,200
1 KRR | JAL JAL 32,600 56% :33,100 32,600 56% 33,100 33,600 | 32,900
TEE=MEA 3 AR [ JAL JAL 33,100 53% :34,900, 1:34,000 33,100 53% :34,900, 1:34,000 34,900 | 34,000
A% [ARGFFD[ JAL JAL 33,600 53%  A+:33,700, £:33,900, H:34,000 33,600 53% _ A-£:33,700, £:33,900, H:34,000 34,400 | 34,000
EE=E8 Ex [ KRB JAL JAL 37,000 48% _ £:41800, H:41,300 37,000 48%  £:41,800, H:41.300 41,800 | 39,000
BT JAL JAG 4,300 56% 4,300 56% 4,300 | 34,300
BEE  [AR@EGFA[ JAL JAL 5700 50% % H:36,100, £:37.000 5,700 50% % H:36.100, £:37.000 6.500 | 36,100
EETE JAC JAL 4,300 56% 4,300 56% 5,200 | 34,300
TEE=ERB EER |RRUEFM| JAL JAL 5,800 52% _ 2::37.400. £:36,800, H:37.900 5,800 52% 7,400, +:36,800. H:37.900 7,400 | 36,400
BERB%E [KXREFD [ JAL JAL 5,800 52% 6,900, H:37.300 800 52% 6,900, H:37.300 6,300 | 37,300
Lfi =/ [im; GBE)[ JAL JAL 1,300 56% 123,200 300 56% :23,200 22,700 | 23,200
/I GBE)[ JAL JAL 3,300 52% :24,300 300 52% 5:24,300 25,700 | 23,300
\Lifz =ML im} (BE)[ JAL JAL 22,200 61% 200 61% 23,600 | 22,200
R (BE)[ JAL JAL 21,000 63% .000 63% 22,400 | 22,100
Wi =15E8 [0} GBE)[ JAL JAL 24,300 58%  0:22.200 4,300 58%  H:22.200 25,700 | 22,200 25700 |
R& B[ JAL JAL 21,500 63%  £:23,600, £:22,200, H:23.000 1,500 63%  £:23,600. £:22.200. H:23,000 25,000 | 23,000 22,901




IE#R5128 1 ERKR(9A1A~30BERS) ALITAZIAGIRAG
EEHEE . 2014/6/24 ~ MRE WA
N e I
= f:3:200) HEadt 9/1-9/7 g“;ti iz 92»21;_,;;» g’l]l;g i 9/12 | 9/14 | 9/16 | 9/23
XD | XE® s .
Wi =05 g% [RRCHE)|[ JAL JAL 23100 63 23,100 63% 24,500 | 23,100
WOFER% [RECHE)|[ JAL JAL 22,700 63% 2 H:23.100 22.700 63% 2 H:23,100 24,500 | 23,100
Wi =HE 23 FCRA)| JAL JAL 20,300 63 20,300 63% 21,700 | 20,300
KER(FFH|  JAL JAC 26,000 57" 26,000 57% 26,000 | 32,500
HE HE(AE)| JAL JAL 23,900 57%  H:24,800 23,900 57%  H:24,800 25,300 | 25,500
KRR JAC JAL 26,400 57%  £:30,400, £:27,900, H:27.100 26.400 57%  £:30400. £:27,900. H:27.100 00
Wi =15 i CRE)| JAL JAL 22,800 60%  H:22300 800 60%  H:22,300
& CRE)| JAL JAL 22,800 60% 800 60%
=N i CRE)| JAL JAL 22,700 60% £:23,600, H:23,100 700 60% £:23.600, H:23,100
& CRE)| JAL JAL 22,700 60% 23,300, 700 60% :23,300, H:23.800
Wi =&5 i CRE)| JAL JAL 22,500 62% 23,400, ,000 500 62% :23,400, B:24.000
B CRE[ JAL JAL 22,500 62% 25800, H:24.400 500 62% 125,800, H:24.400
W=l [im GRE) [ JAL JAL 22,200 £:23.100, H:24,000 200 £:23.100, B:24,000
KRR JAL JAL 900 1900
Wik [Ex@E)| JAL JAL 300 124,000, £:23,600. H:25.100 300 124,000, +:23.600. H:25.100
[ JAL JAL 900 £:31.300, £:30,300. H:30.200 900 31,300, +:30.300. H:30.200
W= AM [ JAL AL 000 ,000
[ JAL AL 000 £:22.500 ,000 £:22,500
Wg=x% [ JAL AL 500 4‘300 1:24 800, H:23.900 500 24 300 1 24,800, H:23.900
)| JAL AL 900 .900 504
)| JAL AL 500 3 500 63% 23, 900
[ JAL AL 29,900 52 3300 :taz 900, H:31,100 29,900 52% :33,300, 132 900, H:31,100
Wi =R )| JAL AL 500 65% E+H 500 65% + H:23.9
[ JAL AL 700 56% 31 300 131 100 .700 56% % H:31.800, 1 31,100
)| JAL AL 500 65% A :4 900, % 24,800, H:25.200 500 65%  H % +:23,900, H:24.300
[ JAL AL 700 56% 4 : .700 56% 233,600, +:33.100, H:33,300
Wi =fEx )| JAL AL 500 64% 4 500 64% < +:23.000, H:23300
[ JAL AL 200 55% 4 .200 55% 31,100
)| JAL AL 300 64% 3,500, H:23.900 ,300 64% 3,500, H:23.900
[ JAL AL 700 54%  :30,800, £:34,400, +:33.100, H:32.800 700 54% 0,800, ﬁ 34 400, £:33,100, H:32.800
=2k )| JAL AL 500 64% A& 1 H:23.900 500 64% =R
[ JAL AL 300 52% 6,200, 1:33.900, H:34,500 300 52% 36,200, j: 33 900, H:34.500
B[ JAL AL 500 64% A&+ H:23900 500 64% E+H
[ JAL AL 100 52% 6100 135100 £:36.300 100 52% 6100 135100 H:36.300
W =ERS )| JAL AL 500 65% 500 65% E
[ JA AL 700 58% 0200 El 30,700 700 58%  £:30, zoo EI 30.700
FE) [ JAL AL 500 65% 500 65%
[ JAL AL 700 58% 700 58%
\L=%18 AE)| JAL JT) 500 63% 100 63% X
AE)| JT, AL 500 63% 100 63%  H:33800
WE=HE A JAL JAC 200 63% 200 63% :24,700, £:23.800. A:
D[ JAC AL 000 65% 000 65% 123,500, j::zz,zoo‘ EI»
s =l A JAL AL 100 62% : 3 100 62% +:23.800. B:2:
FED [ JAL AL 500 63% 3,500, 1:21,200, H:23,000 500 63% 23500, +:21. 200 EI 23,000
Wa=xX% FFD [ JAI AL 000 61% 26,100, j:EI 25700 000 61% 26,100, +
A JAL AL 900 61% . £:23,600. H:26.400 900 61% 126,700, j_:.za,aoo Elvza,400
wa=RE& FED [ JAL AL 200 66% :25,200, H:25.900 200 66% 126,200, +:25.200. H:25,900
5 KR (F[ JAL AL 100 66% H:26,000, £:23.700 100 66% H:26,000, +:23.700
ua=rx I3 KR (F[ JAL AL 800 65% ,000, H:25.200 800 65% : 200
A% [KIRUFA|[ JAL AL 100 66% :24,000, 123,900, H:24.400 100 66% ,900, H:24.400
We==r I KR (F[ JAL AL .100 60% F:29200, H:28,700 100 60% :29.200.
[} RBR(UFF) | JAL AL 300 62% 27,900, +:27.300, H:28.,000 300 62% 27,900, 227, 300 EI 28,000
We=ERE & KIR(FF] JAL AL 700 66% +:25,900, H:26,300 700 66% +:25.900, H:26.300
EREE |KIRGFD| JA AL 000 65% 26,900, 1:25.400, H:26.500 000 65% 26,900, +:25.400, H:26.500
Eiic) KBR (FF ) | JAL JAC 700 66% 20,200, £:21,400, H:19.800 .700 66% :20,200, +:21,400. H:19.800
HEE  [KRAFD] JA AL 1,200 s 22,200, £:21,000, H:20.200 .200 :22,200, £:21,000. H:20,200
Eiic) ABRUFFD | JA AL 20,600 s 600
EA KRR [ JAL AL 20,600 s 1000, +:20,200. H:21.500 20,600 :21,000, £:20.200. H:21.500
Ei) PGS AL AL 1400 3 ,500, £:22,700. H:23,200 21.400 :22,500, +:22.700, H:23.200
A5 KBR (R | JAL AL ,000 23,000 124,200, £:22,200, H:24,900
FR=RE Fi) KB (FFH AL AL 200 22,200 :22,700. +:23.500, H:23.400 23,400
15 KB (75 AL AL 300 66% 2 22.300 66! :23,500, +:22.700, H:24.500 ) 24,500
FR=A B ABR (5 AL AL 20,700 68% 21,900, 22,000, H:22.700 20.700 68% :21.900. :22.000, H:22.700 .900 | 22,700
‘AR [ARGFFD[ JAL AL 1,900 66% H:22,300. £:22.700 .900 66% H:22.300, £:22.700 300 22 300
FR=28 Eiv) KB (75 AL AL .600 61% 1:26.000, H:25.100 600 61% £:26,000, B:25.100 000
L] KB (75 AL AL 400 62% 25,400, +:24.600, H:26.500 400 62% :25.400. 1:24.600, H:26.500 400
HB=ERES 8 AIR(ERFD[ JAL AL 200 67% :22.700 200 67% 122,700 700
BERBRE |[AREFD | JAL AL 300 64% 124,700, £:22,700. H:25.200 300 64% :24,700, £:22.700. H:25.200 700
INE=TEL IV CHE) [ JAL AL 300 62% 125,200, £:23.900 300 62% 125,200, +:23.900 200
R CRE)|_ JAL AL 600 63% 124,400, +:23,300. H:24.800 23,600 63% :24,400. +:23,300, H:24.800 400
IMA=TEE AV CRHE) AL AL .100 62% :25,600 100 62% :25,600 ,600
LE GAE) | JAL AL 500 62% 126,500, £:24,100. H:25.700 500 62% 126,500, £:24,100, H:25.700 500
IMA=ILAFE INASE CHH) AL AL ,900 65% B:25.600 .900 65% H:25.600 600
=ESTE CRIE) AL AL 700 65%  +:24.500. H:23,800 23,700 65%  +:24,500, H:23.800 700
IME=HE INAFE CRE) AL AL ,300 59% 126,200 25,300 59% :26,200 ,300
HER CGHE) [ JAL AL ,900 58%  £::27,000. £:25.200. H:26.000 25,900 58% :27,000, £:25.200. H:26,000 000
M=FER /]y CRE)[ JAL JAL 23,500 63% % H:24,400 23,500 63% 124,400 24,400
& CGBE) [ JAL JAL 23,500 63% % H:24,400, £:23.700 23,500 63% :24,400, £:23,700 24,400
MA=FHR /v CRE)[ JAL JAL 25,800 59% % H:27,500, £:25,200 25,800 59% :27,500, +:25,200 27,500 | 27,500
= CRE)[ JAL JAL 24,900 60% % H:27,100, £:26,300 24,900 60% :27,100. i 26,300 27,100 | 27,100
ME=FH AR [ERECRE)|[  JAL JAL 23,300 64% _ %:25,900, +:23,800, H:26.100 23,300 64% N 25,900 | 25,200
= CRE)[ JAL JAL 24,700 62% _ %:26,800, £ H:26.400 24,700 62% 26,800, :tEI 26,400 26,800 | 26.400
MS=HAL /1N CRE)[ JAL JAL 25,600 61% 128,100, 25,600 61% 128,100, H:26.200 28,100 | 26,900
3l CRE)[ JAL JAL 25,800 61% 126,100, 25,800 61% 26,100 | 27,300
=TT /I CRE)[ JAL JAL 25,500 64% 127,200, 25,500 64% : 27,200 | 26,400
EZWE] CRE)[ JAL JAL 24,300 66% 126,800, 24,300 66% 26,800, 25,100, H:25,900 26,800 | 25,900
ME=K5 /v CGBE) [ JAL JAL 23,400 66% 124,600, 23,400 66% H:24,600, +:24,500 26,200 | 25,300
X GBE)[ JAL JAL 24,000 65% 125,100, 24,000 65% :25,100, +:24,700. H:25,800 26,600 | 26,600
NA=FB /I GBE)[ JAL JAL 23,400 68% F.23,700, % 24,600, H 25,000 23,400 68% +:23,700, £:24,600. H:25,000 27,800 | 25,300
Ei5 GBE)[ JAL JAL 24,200 67% _ H:24,500, %:25.800, +:25.900, H:26.600 24,200 67% _ H:24,500. %:25,400. +:25900. H:25.800 27,400 | 27,400
MA=TER /I CRED[ JAL JAL 23,400 67% 23,400 67%  £:24600, +:24.100, H:25,000 27,000 | 26,100
REAZE CRE)| JAL JAL 4,200 66% 4,200 66%  £:25.400, 1:25500, H:25,800 26,200 | 26,600
MA=EE NS CRE)[ JAL JAL 3,400 67% R+:23.700, £:24.600, B:25000 3,400 67% A +:23,700, £:24,600, H:25,000 25,700 | 24,900
EICES GBE)[ JAL JAL 4,000 66% 124,300, £:25,400, £:25.500, H:25,800 4,000 66%  H:24,300. %:25,400, +:25500. H:25.800 25,800 | 26,600
M=ERE NS GBE)[ JAL JAL 3,200 68% : 124,500, 1:24,100, H:24,400 3,200 68%  /:23,400, %:24,500, £:24,100, H:24.400 27,600 | 24,400
BERBSR GRE) [ JAL JAL 4,200 67% _ F:24,500, :265.000, +:24.700, H:26.200 4,200 67%  H:24,500, £:25,000, £:24,700, H:25.400 25000 | 26,200 | 26.100 | 25,300 |




IR#eH5128 BEER(9A1H~30HERS) JAL/JTA/JAC/RAC

SEEWAR ;. 2014/6/24 ~ MRE WA
N o PP p—
= g | BOERH o197 HEM e o/8-1117- EEH ren 912 | 9/14 | 916 | 9/23
T =rEm | #51% 2224-30 E|5|FE
[HE0)]
ME=EEH VR # (R | JTA [JTA/RAC] 24,700 63% + H:27,800 24,100 4% £ 8:27.100
BEER ﬁ(ﬁﬂﬁ) JTA/RAC| JTA 25,600 62% 28,700 25,000 3% :28,000
MA=F1E IMAFE 30,500 66% :33,000, H:31,200 30,100 7% 2,600, H:30,800
24,800 66% 24,200 7%
aER 29,600 67% 29,200 68%
24,800 66% 24,200 67%
M=% L 25,400 58% 25,400 58%
25 23,500 1 23,500 61%
EL=F18 R 23,600 4 23,600 64%
AiE 25,400 1 25,400 61%
BH=Ek BH% 200 200 60%
BUF 200 1200 60%
BEXB=5H |EXAER 900 4 .900 44%
) 900 4 .900 24%
BEAB=/KEM| EXAGR 900 52 900 52%
K REDSE AC 900 52% .900 52%
PRI =B | RE) %[ BE CHED [JAL/JTA] JAL 600 64%  2::31,400. £:29,900, H:32.600 29,800 65%  2:30,600. £:29,100. H:31.100
KRR JAL JAL 28,400 66%  +:28000. H:30,800 21,500 67%  £:27,100, H:29.200
BHE  [ER@H)| JAL [JALJTA] 29900 65% 3,900, £:31 700 EI 31,600 29,100 65% :33,900, +:30,800, H:29.800
B | JAL JAL 26,800 68% :27.200, H:26.4 25,900 69% 26,300, H:25,500
PR (FRER) b B R) | SR CRE) [JAL/JTA] JAL 30,300 64% 2,200 29,400 65% :30,600
=iR% F(AA)| JAL [JAL/JTA[ 29,100 65% 0300, +:30.400. H:30.000 28,300 66% :29,500, H:29.200
PRI =TKE | (FRE) 3[BT CHED [JAL/JTA]  JAL 30,000 62% 0,800, :29.100. H:32.000 29,200 63% 0,000, +:27.900. H:30,500
KRR JAL JAL 26,200 67% 68% X
BEE [EE@HE)| JAL [JAL/JTA 100 61% 62% 4.200, +:31.900, 529500
[KBR(RFD [ JAL AL 600 69% 70% +:24.100. H:23.300
PHEEGRT) =168 [ BH [ KR(BFH| JAL AL 600 61% 62% 3,000
A JT) AL 000 59% 59% 6.100
EBERE  [KRAEFD[ JAL AL 000 63% 31,800 ) 64% 30,900
= AL JTA 300 59% :36.500, +:34.800 300 59% % H:36500. 1:34,800
FPHECGRE) =Ly |7 (BBT) F[E CRE) [JAL/JTA[  JAL 26,200 62% 28100 25,300 63% 21
KRR JAL AL 29,900 62% 33,000, H:36.200 29,000 63% :32,100, H:34.600
(%3 SFCRA)| JAL [JAL/JTA[  26.200 62% +:28.000, H:25.800 25,400 63% 27,100, H:24,600
[KBR(FFD [ JAL AL 28,300 64%  H:27.600 7.400 65%
RREE) =5 [FEEE X[ XRED[ JAL AL 600 71% _ H:26.600 600 1%
= JTA AL 100 73% _ H:25800 100 73%
ex [XKEREM[ JAL AL 800 72% 800 800 72%
A AL JT) 100 73% ,800. H:22.700 100 73%
PRI = /M2 ﬁ(%ﬂ%)% R (FE) [JAL/JTA[ JAL 000 60% 100, +:28,700. H:32.300 200 61%
ESACEED) L [JAL/JTA 300 62% 000 63% X 29,50
PHERT) == A JTA JAG 500 56% X 500 56% 300 | 29,900
JAG JTA 900 58% 5:27,100, £2 .900 58% 28,500
SRR ER) =1l JTA JAG 600 58% 26,300, 1:24, 700 EI 23,900 600 58%
A JAG JTA 500 60% 25100, & H:23.400 500 60% 26,600
RE(PE)=RK KR CAHE) E[ARED[ JAL |JAL/JAC 500 63%  +:19,900, H:18.900 500 63% . 25,300
HE AL JAC 000 61%  £+:19,900 000 61% 900 | 21,100
RRIRF  [XRUF [JAL/JAC] JAL 700 64%  H:18.900 700 64% 24 900
HE JAC AL 600 60k H:20500 600 60%
R (PR =BEXR | KR (PE) F[__EN AL JAC 200 7,600, H:27.000 200
BRUFF | JAL AL 300 4,700, H:33.600 300
BEABR |_E) JAC AL 700 £1:27. 700
KR (B[ JAL AL 400 H:33,600 400
AR (PE)=ERB|R= (FE) F[_E AL JAC 500 60% 0,800 500 6
ESN] AL JAG 100 46% 100 6%
ERER ER JAC AL 500 60% 229,900, H:30.800 29,500 60% A%+ H:20.900
EKE | JAC AL .100 46% 35.100 46%
AR (PE) =BZB(RRFE)E|_ER AL JAG 500 61% 2t H:30900 30,500 61% <+ H:30,900
ESNY AL JAG 600 46% 37.600 6%
BLER ER JAG AL 0,300 61% 230700, H:31,200 30,300 61%  2:30700. H:30.900
BEKRE [ JAC AL 37.600 46% 37.600 46%
RRCHE) =/hkR8[RECHE) %] ER AL JAC 31,400 60% £ 1:31.800, H:31.300 31.400 60% £ 1:31.800, H:31.300 38.200
KRR [ _ER JAC AL 31,400 60% A #+:31.800. H:32.700 31.400 60% A%+ H:31.800 , 39,500
BEAL [ JAC AL 39,700 46% 39,700 46% 39,700 | 42.600
RRCAB) =58 [RRCAE)%| &) AL JAC .900 61% £ 1:32.300, H:31.700 .900 61% £ 1:32.300, H:31.700 38,900
5m% =T JAC AL .900 61% A #£1:32.300. H:33200 .900 61% A£+H:32.300
BEKRE [ JAC AL 500 46% .500 46%
KR () =B£XE [ XIR(FFD | [P AL JAC .700 59% £ 1:25200, H:24.800 700 59% £ 1:25200, H:24.800
BEABR | BT JAC AL 26,000 57%  +:25.200. H:26.600 26,000 57% _ +:25200. H:26.600
KR () =BR B[ KR (B % I3 AL JAC 27,000 55% 2 H:27.500 27,000 55% 2 H:27.500
BEEAL AL JAC 30,000 30,000
ERBR R JAC AL 29,300 +:27.500 29,300 +:27.500
BEKRE [ JAC AL 30,000 30,000
Kk (D) =Bz B Xk (BFH % R AL JAC ,000 £ +:28.500, H:29.000 28,000 £ +:28.500, H:29.000
BEAL AL JAC 500 4 32,500 4 35,500
BZBER % JAG AL 100 7% | %:30,100. H:29.600 28,100 7% £:30,100. H:29.600 34,100
K& | JAC AL 500 4 32,500 4 35,500
KR () = ok B [ KIR (A 5[ BE JAL JAC 29,900 54% 31,200, £:31,100, H:29.400 29,900 54% 31,200, £:31.100, H:29,400
S B AT JAC JAL 31,100 53% 29,400, H:31,200 31,100 53% 29,400, H:31.200 37,600
KR () =53 [KIR(FH % JAL JAC 30,400 55% +:31,700, H:29,900 30,400 55% 1:31.700, H:29,900 . 37,100
5 JAC JAL 31,700 53% 31,700 53% 31,700 | 38,900
BE=EXXE JAC JAC 20,600 60% 20,600 60% 20,600
JAC JAC 22,800 56% 22,800 56% 21,000
BE=ERE JAC JAC 25,100 50% 25,100 50% 26,400
JAC JAC 20,800 58% 20,800 58% 20,800 | 31,750
JAC JAC 24,600 51% 24,600 5%+ H:21.900 24,600 | 26,400
JAC JAC 20,800 58% 20,800 58% 20,800 | 31,750
BE=F2E JAC JAC 26,100 53% 26,100 53% 1 H:23400 26,100 | 27,000
JAC JAC 23,300 56% 23,300 56% 23,300 | 31,850
JAC JAC 25,400 54% _ t H:22.400 25,400 54% T H:22.400 25,400 | 27,000
JAC JAC 23,300 56% 23,300 56% 23,300 | 31,850
BEE R JAC JAC 27,000 52% 1 H:24,300 27,000 52% 1 H:24.300 27,000 | 30,700
KREE | _ER JAC JAC 26,500 53% 1 H:23,800 26,500 53% 1 H:23800 26,500 | 30,700
[&E=£Xx8 [ JAC JAC 25400 56% 25,400 56% 25,400 | 33,400 | 25,400 | 25400




IR#eH5128 BEER(9A1H~30HERS) JAL/JTA/JAC/RAC

SEEWAR ;. 2014/6/24 ~ MRBMONAR
speea . PP p—
=455) Ehd BEai 9/1-9/7 g;i wE 92 2141_';; g’lﬁé wE 9/12 | 9/14 | 9/16 9/23
XD | X - - -
wE=5#H EEE ERE | JAC JAC 27,500 53% -+ H:24.800 21,500 53%  + H:24.800 27,500 | 32,000
5®m% ERE | JAC JAC 27,500 53% -+ H:24,800 21,500 53% -+ H:24.800 27,500 | 32,000
BEKS | JAC JAC 21,200 55% 21,200 55% 27,200 | 33,800
R (PR =58 Zx @R % HE JTA RAC 26,700 65% £:29.700 25,900 66% £:28.900 28,900 | 25,900
EMER [FMGRM)| RAC [JAL/JTA| 30500 63% 32,400 29,600 64% :30,800 29,600 | 31,500
Al RAC | JTA 26,000 66% 29,100 25,500 66% :28,600 25,500 | 31,700
XR(FH=58E] 5HEFE [HEGEE)| RAC JAL 100 1,000 26,300 65% :29,400 26,300 | 29,400
K (Bfda) =5 30E | ABr (Bf7a) %[ A\ JTA RAC 400 +:33,300, H:30.200 27900 57% +£:30,800, H:27.700 30,800 | 29,700
5MEsE AT | RAC | JTA 100 1,000 26,300 65% :29,400 26,300 | 29,400
Al RAC | JTA 400 4,400 21,900 57% :31,800 27,900 | 33,800
2EE(RE) =5%E| 5MEFE [HEMGEE)| RAC [ JTA 500 62 0,900, +:28,800. H:33.200 30,100 62% :30,500, +:28.400. H:32,300 30,500 | 32,300
E HE S5Es [ | RAC | JTA 25,200 63% 26,000, H:26.200 25,200 63% 126,000, H:26.200 26,000 | 26.200
AP =5BE MG %] HE [JTA/RAC[ RAC 1,700 6% 700 6% 3,000 | 13,000
53 AlE RAC _[JTA/RAC| 11,700 6% 700 6% 3,000 | 13,000

ABE 5
R CHE) = KB | R CFIE) % 5 G¥R) [JAL/JTA|JTA/RAC| 23,800 61%

:25,600, H:23500 ,000 62%  %+:24.700, H:22,700 4,500 | 22,600

kB % |04 (IRER) [JTA/RAC[JAL/JTA| 24500 60%  +:23800. H:25.700 700 61%  +:23000. H:24.200 700 | 24,800

KB () =Rk & | KB (7 59) F [0 GBER) | JAL _|JTA/RAC| 21,800 5% 20,400 62% £:21,200 700 | 21,000

X [ 548 (FB¥A) [JTA/RAC| _JAL 20,400 62% 19,600 63% :22.700 600 | 22,700

KR (BI7) = A% B | KR (B7) % [#@ GRE) [ JTA [JTA/RAC|  21.800 5% 20,400 62% £:21,200 700 | 21,000

KB % 048 (BR) [JTA/RAC| JTA 20,400 62% 4,300 600 63% 22,700 600 | 22,700

BHE (PE) = AKE | BAE (PH) %A BI) | JTA |JTA/RAC 500 60% 25,100, £:25,000 500 62% 24,100, 1:24,000 4,100 | 23,500

A *%E+ 8 (FF) [JTA/RAC|JT) 500 60% 4 500 62% : 2,500 | 25,600

BE=AKE ] [F&2 BT [ JTA [JTA/RAC] 600 59% 4 600 59% 9,300 | 18,100
AKEF |0k GBE) [JTA/RAC] JTA 500 60% 4 H:19,500, F:18,600 500 60% 95500 | 20000 | 18500 | 19,500



IR#RS528 EER(10A1B~25BEERS) JAL/JTA/JAC/RAG

SEEBAE :2014/6/24 ~ ARBENEA
N — .
XFE bl 10/1-9 55’2 #E 10/15-25 f}l;i % 10/10 | 10/12 | 10/14
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RR(HBR) =28 [RRECHE) JAL/JTA[JTA/RAC 22,800 66%  %:24,400, H:22.900 21,800 68% | £:23,300. H:21.900 25,800
ERE JTA/RAC|JAL/JTA 24,400 64% 23,300 65% 25,700
HRCAE) =RE |[RRCAE) X[ JAL/JTA|JTA/RAC 22,900 69%  £:24,500, H:23,000 21,900 70% _ £:23,400, H:22,000 25,800
JAL JTA 25,800 68% & 1:28.100. H:25.600 25,800 68% % +:28,100, H:25.600 28,100
RiEH JTA/RAC[JAL/JTA 23,600 68% 22,600 69% 24,900
KR () =% 51 | KR () % JAL JAL 23,000 70%  £:26,000. £:26,200, H:24,600 20,800 73%  £:22,700, £:22,900, H:21,200 27,400
JAL JAL 24,800 67% 27,200 24,000 68% & +:26,400 27,200
SIS JAL JAL 25,800 66% 26,300, £:24,400. H:29,100 23,600 69% 424,100, £:22.300. H:27,100 26,300
JAL JAL 24,800 67% 6,700 24,000 68% :25,700 24,800
PNACEEE S FIIPNAGESES JAL JAL 23,000 70% 6,000, +:26,200, H:24.600 20,800 73% 22,700, £:22,900, H:21,200 27,40
JAL JAL 24,800 67% 27,200 24,000 68% & +:26400 27,20
iR 5E JAL JAL 25,800 66% A £:26,300, 1:24,400. H:29.100 23,600 69%  A£:24100, £:22.300, H:27.100 26,300 |
JAL JAL 24,800 67% 6,700 24,000 68%  H:25700 24,801
KR (FFH =)l | KR (55 % JAL JAL 26,900 64% :27,600, H:24,500 22,300 70% | F:22,400, %:24,000, £:23,300, H:21,100 27.60
JENIES JAL JAL 25,500 66% :26,800, £:27,700, H:28,100 22,500 70% _ :23,800, £:24,700, H:24,500 27,70
KB (BEFE) =HB)Il | KRR (B9#E) % JAL JAL 26,900 64% :27,600, H:24,500 2,300 70%  F:22,400. %:24,000, £:23,300, H:21.100 27,60
JAL JAL 25,500 66% 6,800, 27,700, H:28,100 2,500 70% _ A:23,800, £:24,700, H:24,500 7,70
KR (F753) =8l JAL JAL ,600 69% 24,200, H:23,000 500 74% | £1:21,200 ,900 .20
JAL JAL 800 68% 5,100, %:25,900, £:24,600, H:25,30 700 7 K H:21,700 700, £:21,500 90!
KB (BHEE) =8B JAL JAL ,600 69% 24,200, H:23,000 500 74% [ £1:21,200 ,900 .200
JAL JAL 800 68% :25,100, £::25,900, +:24,600. H:25.30 700 7 K B:21,700 700, £:21,500 900
K (BFH) =FIE JAL JAL 4,000 67% :24,400, £ H:24,900, £:22,600 1,500 1% % 20,200, H:22,900 25,800 |
JAL JAL 22,400 69%  4:23.600, %:25900. £:24,900. H:2570( 19,900 73% A 23,500, +:22,500, H:22,900 27,800
Kk (B§EE) =& JAL JAL 24,000 67%  F:24,400, £ H:24,900, £:22,600 21,500 1% % 25,800
JAL JAL 22,400 69%  4:23.600, %:25900. £:24,900. H:2570( 19,900 73% _ A:21,100, 2 H:22,900 27,800
KR () =g JAL JAL 22,100 66% % +:24,400, H:25,700 20,500 69% % +:23,000. H:21,800 25,800
JAL JAL 23,300 64%  A%:24,600, T:22,600. H:26,200 21,600 67% A ,000, F:24,900 25,200
Kk (B§FE) = EfR JAL JAL 22,100 66% @ 1:24,400. H:25.700 20,500 69% |2 . 25,800
JAL JAL 23,300 64%  A%:24,600, T:22,600. H:26,200 21,600 67% A ,000, F:24,900 25,200
KR (D) = JAL JAL 21,900 65% 21,900 65% . 21,900
JAL JAL 22,700 64% 22,700 64% 24,000, H:23,600 24,000
Kk (B§EE) = JAL JAL 21,900 65% 21,900 65% 1300 21,900
JAL JAL 22,700 64% 22,700 64% 24,000, H:23,600 24,000
KR () =Rk JAC JAC 16.400 55% 16.400 55% 16.800
JAC JAC 16,800 54% 16,800 54% 4 17,300
KR (B =BF 5 JAL JAC 19,100 59%  ©1:19,600. H:20.100 19,100 59% % +:19,600, H:20,100 19,600
JAC JAL 19,600 58% 0,800, +:20,100, B:21,000 19,600 58% 120,800, £:20,100, H:21,000 20,800
KR (D =28 JAL _|JTA/RAC 17,000 72% 17,000 72% _ &1:17,700 21,500
JTA/RAC|__JAL 18,900 68% 18,900 68% £ 1:19,500, H:22,000 20,500
KR (BEE) ==& JTA_|[JTA/RAC 17,000 72% 17,000 72% _ &1:17,700 21,500
= JTA/RAC|__JTA 18,900 68% 18,900 68% £ 1:19,500, H:22,000 20,500
KB (FFH) =F1E | KR (FF) %568 GR#) | JAL _[JTA/RAC 17,100 74% 17,100 74%  #£1:17,800 21,500
HIER JTA/RAG| JAL 18,100 72% 18,100 72% _ £1:18,700. H:21.200 20,000
Kk (B§#E) =R1E JTA__|[JTA/RAC 17,100 74% 17.100 74% _ £1:17,800 21,500
JTA/RAC|_JTA 18,100 72% 18,100 72% _ £1:18,700. B:21.200 20,000
BEE (PE) =B 5 JAL JAL 25,000 65% 24,200 66% |2 +:26,600, H:23,100 27,400
JAL JAL 26,800 62% 25,100 64%  A£:25700. 1:24500, H:27.200 28,800
AEE(PE) =8 JTA _[JTA/RAC 18,500 71% 18,000 72% 9,500, +:23,500 21,400
) [JTA/RAC]_JTA 19,900 69% 19,400 70% :21,500 20900
AEE(PE) =FRE )| _JTA [JTA/RAC 18,600 74% 18,100 74% £:19,600 21,400
) [JTA/RAC]_JTA 19,100 73% 18,600 74% _ H:20,700 20,400
AR EFTFR) =/Ma ) JAL JAL 24,900 63% A A:25500, £:26,900, +:26,400, H:27.] 25500 62%  £:26,900, 1:26,400, H:28,400 26,900
)| JAL JAL 25,000 63%  A:26,700, £:29,900, £:28,000, H:25.70( 24.200 64% _ %:29,100, £:27.000, H:25.400 29,900
AR FTFR) = menE AR GTR % 5m CHE) | JAL JAL 26,800 64%  FA:27,400, % £:28,300, H:31,100 27,400 63% % +:28300, H:30,400 28,300
B EES CRE)| JAL JAL 26,000 65%  :26.600, £ 1:29.600. A: 25,200 66%  A:25700, £:30,600. 1:28,800, H:27.500 32,00
AL (BT F %) =Rl LU [4L8% (3 F 2%) [ Bam CHE) [ JAL JAL 25,200 67% 26,300, +:24,100, H:26, 24,400 68% < H:26,100, +:24,100 26,301
FE LI 5 (AE) | JAL JAL 24,600 68%  £:26.800, £:25400, H:23,800 23,800 69%  %:26,500, £:26.000, H:22,600 26,800 |
IR FFR) =EB ARG TR R FZCAA) | JAL JAL 25,500 67% : . % H:26,800, 1:25,800 26,700 65%  £:26,800 26,80
LB% FH)| JAL JAL 25,400 67% . £:26,800, H:25,600 24,600 68%  %:27,100, £:25.800, H:25.300 29,700 |
R F TR = LOTH LR G T8 %) )| JAL JAL 26,500 67%  £:27.600, £:24,900, H:27,800 25,700 68%  £:27,600, £:24,900, H:28,500 28,40
=EZTE [ JAL JAL 25,800 68%  £:29,800, £:27,300. H:23,800 25,000 69%  %:29,000, £:27.900, H:23.800 29,80
HREF TR =HEHLRF TR | )| JAL JAL 26,100 65%  H:26,300 25,400 66% 26,10
HER )| JAL JAL 25,400 66% | A:26,500, % +:30,000, H:26,100 4,600 67%  F:25,200, 7:25,800, $:29,700. 1:29,100 30,00
AR F TR =EB[ARHTR) % )| JAL JAL 24,400 68% 0. 1:24,000, H:26.900 66% 25,800, H:27.600 7,201
! [ JAL JAL 25,000 67% 68% 400, H:24.000 7,200
HIREF TR =B [fLEFTE % )| JAL JAL 26,700 65% 66% 00, H:28,500 8,600
i [ JAL JAL 26,700 65% 66% +:27.100, H:26,400 29,400 |
IREF TR =2 [fLEFHTH % )| JAL JAL 25,900 67% 68% :29,500 27,900
SR )| JAL JAL 26,800 65% 66% :26.900, H:24.200 31,700
ALIR T &) =HIL LR T &) %| )| JAL JAL 26,500 66% 67% 4 :29.500 29,200
L% [ JAL JAL 27,900 64% 65%  %:28,900, £:26,300, H:26.500 29,200 | 27,200 | 27.100
AREFTR =LAN[ARFTH % )| JAL JAL 26,400 68% 69% % H:28,300, £:26,000 28,300 | 29,000 | 25,700
AN FE [ JAL JAL 27,600 67% 67%  %:29,300, £:27.500, H:24.100 29,600 | 24,900 | 27.400
REFTFR) =K5 [fLEFHTH | )| JAL JAL 25,800 69% 69%  £:28,400, 1:26,800, H:27,800 28,500 | 29,700 | 25,700
2 )| JAL JAL 25,200 69% 70% :26,200, %:27.700, £:27,200, H:26.2 30.700 | 26,500 | 25,900
R EFTFR) =R [HLEFHTH % )| JAL JAL 25,800 70% 70% _ F:26.500, %:27.200. £:26,800, H:29,300 28,900 | 30,000 | 27500
RI5% JAL JAL 26,000 70% ,000, £:28,60 71% _ F:25,600, £:29,700, +:28,600, H:26.200 31.400 | 27,300 | 27.500
HREFTTFR) =EA 4L¢ﬁ<¥ﬂ—ﬁ>% ¥ JAL JAL 24,500 71% :26,300. H:28.( 26,200 69%  £:26,800, £:27,100, H:27,300 28,900 | 29,000 | 26.200
REARE JAL JAL 25,200 70% 29,900, +:28,20( 24.400 71% _ F:25200, £:29, ,200, B:25, X 26,500 | 25,500
FLIR BT %) =20 [#LIR B T8 % JAL JAL 24,500 71% 26,400, £:25.50( 26,200 69%  F:26.500, %:26, ,800, H:28, . 30,000 | 26.500
S JAL JAL 25,200 70% 24,400 7% __F 26,500 | 25,500
WREFTH) =RRB[ALEFT ) 2[5 JAL JAL 25,600 70% 25,600 70% 4 30,000 | 25,600
BERE3 JAL JAL 25,200 71% 24,400 1% % 26,100 | 25,500
HIR TR =04 (BB | 1LIR (BT T3 % JAL _[JAL/JTA 29,100 67% 29,100 67% & 33,400 | 29,100
RBR (BAF) [ JAL JTA 23,200 74% ) . 22,200 5% % 26,800 | 22,200
ZEHE (PH)| JAL JTA 25,600 72% . ! 128, 23,500 4% % 31,800 | 23,500
eI JAL JTA 27,900 70% . H:30,800 27,900 70% & 27,400, H:30,800 30,800 | 27,900
8 (8 5[ R CHE) [JAL/JTA[ JAL 29,800 66% 2:33,900, £:33,400, H:30.70( 28.200 68%  4:28,700. £:32,600. :31,800. H:30.300 33,900 | 31,300 | 29.600
RBR (BAF) [ JTA JAL 23,200 74% 24,900, H:26,500 22,400 75% % 1:23,800, H:25.700 24,900 | 26,500 | 22,400
ZHE(PH)| JTA JAL 28,300 69% 32,100, +:27,800, H:33,400 27,800 69% 31,400, £:26,200, H:31,700 32,100 | 35,200 | 27,800
[ JTA JAL 27,600 70% £ 1:30,400 27,600 70% £:30,400 30.400 | 29,200 | 27,600
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[ e
=) f23::0) 10/1-9 §;§ #E 10/15-25 ;‘%;g % 10/10 | 10/12 | 10/14
RED | KEQ@ il -
ARFTR) =REAEFTRE[ER JAL JTA 30,400 71% £ 1:32,000. H:30,500 29,800 71% _ £1:32,300 32,900 | 33,000 | 29,800
A% 3 JTA JAL 30400 71% _ H:32.900 29,600 71% _ %:30,100, £:30,000. H:32,900 30,400 | 35,300 | 29,600
BR=%HE5 [HEES JAL JAL 26,000 72% :31,300. +:30,000. H:29.900 25,300 73% _ FA:23,800, £:28,000, £:26,900. H:26.5 32,700 | 30,900 | 26,500
JAL JAL 27,000 69% £:28,700 27,000 69% & +:28700 28,700 | 27,000 | 27.000
ESIES JAL JAL 28,900 69% :32,600, £:29,400. H:33,900 26,700 71% _ £:30,400, £:27.300. H:31,900 32,600 | 34,700 | 26,700
JAL JAL 25,400 70% :27,100 25,400 70% _ H:27,100 25,400 | 27,100 | 25,400
BRA=1EI e JAL JAL 28,600 68% £:31,900 23,900 74% % +:28,700. H:25,200 31,900 | 28,600 | 23,900
JENIE JAL JAL 28,500 68% :32,600, £:28,300. H:33.300 25,500 72% _ £:29,000, £:25.300. H:29.700 33,600 | 33,300 | 25,500
1akE =g BEFE JAL JAL 25,600 71% :29,500 : 24,000 73% 24,000
FIEE JAL JAL 26,000 71% 23,900 73% 23,900
[HEEETN BEFE JAL JAL 26,400 70% 24,700 72% 25,700
HIEE JAL JAL 25,500 71% 23,000 74% _ £:29,000, £:27.500. H:28,000 32,500 | 31,300 | 24,700
R FEEES JAL JAL 25,700 68% 28,200, H:31,000 24,400 70% 27,500, £:26,800, H:27,100 30,300 | 31,000 | 24,600
JAL JAL 26,200 64 25,200 25,800 65% 26,600, H:24.800 27,000 | 25,200 | 25,800
S JAL JAL 25,500 69% . %:27,400, £:26,300, H:29,90( 24,800 69% 25,700, 25,300, H:29,100 29,600 | 32,700 | 26,000
JAL JAL 24,600 66 26,200, H:25.400 24,200 67% 25,800, H:25.000 25,800 | 26,600 | 24,200
=5 EREF JAL JAL 25,300 68% 25,800, H:29,200 25,700 68% :26,200, H:29,600 28,500 | 28,800 | 26,000
JAL JAL 26,100 63% 26,500 26,100 63% 26,500 26,100 | 26,900 | 26,100
EHRE JAL JAL 28,100 65% :25,800, A:28,500. £::30,800. +:27.70 28,500 64% | £:28,000. £:31,200. £:28,100. H:29.700 31,200 | 29,600 | 28,500
JAL JAL 26,500 63% £:26.900 26,500 63% £ 1:26.900 26,900 | 27,300 | 26,500
EEES JAL JAL 25,000 68% % H:26,400, £:25700 25,000 68% % H:26,400, £:25700 26,400 | 26,400 | 25,500
JAL JAL 27,500 62% 27,500 62% 27,500 | 29,200 | 27,500
ZiR% JAL JAL 25,000 68%  :25,900, £:26,800, F:26.300, H:27.20 25,900 67% | H:25000, %:26,800, £:26,300, H:27,200 28,400 | 27,200 | 25900
JAL JAL 26,300 63% 26,300 63% 26,300 | 29,200 | 26,300
1B =15 EHEES JAL 30,200 56% 30,200 56% 30,200 | 30,000 | 30.200
3 JAL 29,000 58% @+ H:29,800 29,000 58% % H:29,800 29,800 | 30,000 | 29,000
BRE=HE JAL 26,100 65%  2:28,700, £:27,300, H:27,200 27,200 63% _ 7:28,400, #:28.700, 1:27.500 28,700 | 27,200 | 27,200
JAL 23,800 64%  ©1:24,200 23,800 64% £ +:24,200 24,200 | 24,600 | 23,800
JAL 25,900 65%  2:30,200, £:29,100. H:28,900 27,400 63% | A:28,600. £:30,200. £:29,100. H:28.900 30,700 | 28,900 | 25.900
JAL 24,200 64%  ©1:24,600. H:23,800 24,200 64% 4 24,600 | 24,000 | 24,200
EE=L% JAL 23,500 64% 25,100, +:24,000, H:25,300 23,500 64% 26,500 | 25,300 | 23,500
JAL 31,000 53% :33,500, £:32,100 31,000 53% 33,500 | 31,100 | 31,000
JAL 24,300 62% 27,400, £:26,900, H:24,000 26,000 60% 28,800 | 24,000 | 24,300
JAL 31,000 53% 31,000 53% 31,000 | 31,100 | 31,000
BE=%R JAL 23,000 63% % 1:23,800, H:22,600 23,000 63% 23,800 | 23,400 | 23,000
JAL 24,700 60% 24,700 60% 24,700 | 24,700 | 24,700
fakE =/ JAL 25,000 65%  %::28,100, £:25,800, H:28,400 25,000 65% £:25800, H:28,400 28,100 | 28,400 | 25,000
JAL 25,500 64%  F:24,900, K:25900, &: 25,500 64% 30,000, £:25,600, H:27,900 30,000 | 27,900 | 25.500
BE=2% JTA/RAC 17,100 67% 16,600, 17.100 67% 16,600, H:17.400 19,600 | 18,800 | 17,100
JTA 19,200 63% 18,500, 19,200 63% 18,500, H:20,500 21,600 | 20,500 | 19,200
BE=RE JTA/RAC 17,200 70% 16,700, B: 17.200 70% 16,700, H:17.500 19,600 | 18,800 | 17,200
JTA 18,400 68% 18,600 18,400 68% 18,600 20,800 | 19,700 | 18,400
Bl =1tE JAL 25,200 56%  + H:27.500 25,200 56% H:27,500 25,200 | 25,800 | 25.200
JAL 25,200 56% @+ H:27.500 25,200 56% %t H:27.500 27,500 | 24,400 | 25.200
ZHA=E JAL 24,000 60%  £:25500, £:23,100. H:26.300 24,000 60% _ %:25,500, £:23.100, H:26.300 25,800 | 26,300 | 24,000
JAL 23,100 62% % +:23,600 23,100 62% % +:23600 23,600 | 23,100 | 23,100
Bl =R JAL 23,500 62% :24,600 23,500 62% :24,600 23,500 | 24,600 | 23.500
JAL 22,600 63% £:24,000 22,600 63% % 1:24,000 24,000 | 24,600 | 22,600
iR = /M JAL 27.100 64%  £:27.600, £:26,200. H:31.800 24,900 67% & 24,100, H:29,800 27,600 | 32,700 | 24,900
JAL 25,400 66% :28,100, £:28,300. H:29,000 23,200 69% |4 25,000, H:25,600 29,500 | 30,000 | 24,900
i) JAL 27,600 67% 30,600, £:30.800 25,400 70% 3 27,500, H:27.200 32,000 | 31,200 | 27,000
Zimpl =Rl JAL 27,400 68% 26,200, H:30,600 25,200 70% 28,600 27,400 | 32,300 | 25,200
JAL 25,100 70% 25,500, %:28,500, £:28,700, H:26,00( 22,900 73% _ 4:23,300, £:25.200, +:25,400, H:22.600 29.900 | 28,000 | 24.100
T =58 ESEIES JAL 28,600 67%  +:27.800. H:31,000 26,400 69%  +:25700, H:29,000 28,600 | 31,900 | 26,400
JAL JAL 24,500 69% % 1:25,000. H:25.400 24,500 69% % :25000. H:25.100 25,000 | 25,400 | 24,500
L& JAL JAL 25,800 70% :28,800. +:29,000, H:27.800 23,600 72% _ £:25500, 1:25700. H:24.400 30,200 | 28,800 | 24,800
JAL JAL 24,900 69% % +:25800 24,900 69% % 1£:25800 25,800 | 24,900 | 24,900
Himpl=HE ESERIES JAL JAL 29,200 65% 28,400, H:34,000 27,000 68% 30,800 | 35,000 [ 27.000
TR JAL JAL 27,200 67% 4 31,200, 25,000 70% 32,400 | 31,000 | 26.200
ESEIEEATT] ESERIES JAL JAL 28,700 67% = 27,900, 26,500 69% 30,300 | 34,100 | 26.500
EAIES JAL JAL 25,800 0% % 29,000, . 23,600 73% 30.200 | 30,700 | 24,900
Zimpl=Hh1E ESTE JAL JTA 35,200 69% = £:36,900, H:38, 33,000 70% _ #:35,500, 1:34,800. H: 37,700 | 41,800 | 33,000
AiES JTA JAL 31,900 71% % +:33,500, H:37.100 29,700 73% % 1:31,300. H:33.700 34,800 | 40,500 | 31,400
TBIT=/ JENIES JAL JAL 27,400 63%  £:29,000, £:25,900, H:31,300 4,400 67%  %:25400, +:22900, H:28.800 29,000 | 31,300 | 24,400
INASE JAL JAL 26,500 64%  £:30,700, £:30,300, H:27.000 ,700 69%  %:27,500, £:26.900, H:24.100 30.700 | 27,000 | 22,700
BII=FEE JEIIES JAL JAL 27,400 66% 2:27,800. H:30,100 4,500 70% _ #:24,900, H:28.400 27,800 | 29,70 4,500
FAfCE RS JAL JAL 27,600 66%  £:28,200. H:28,600 4,800 70% | £:25,300. H:25,700 28,200 | 28,200 | 24,800
FEJIT=M0 JENIED JAL JAL 27,900 66%  2:28,800, 1:27,500, H:29.900 ,900 70% _ £:25800, 1:24,500. H:26,300 28,800 | 30,100 | 24,900
FEl Ll 3¢ JAL JAL 26,100 68%  £:29,400, £:28,900 1,900 74% _ £:22,300, £:26,000, +:25,300, H:22.700 29.400 | 26,100 | 21,900
MBII=HE JEIIES JAL JAL 29,200 64% 25,600 68% 29,200 | 29,200 | 25,600
HE JAL JAL 26,000 68%  ©1:28,900. H:27.500 23,200 71% £ 1:25700. H:24,600 28,900 | 28,000 | 23,200
TENI=H21L I3 JAL JAL 29,200 66%  £:31,700, H:33,300 26,200 69%  £:28,700, H:29,700 31,700 | 33,300 | 26.200
I3 JAL JAL 29,400 65%  £:32,000, £:31,300. H:27.700 24,700 71% _ £:28,400, £:27.700. H:24,800 32,000 | 28,100 | 24,700
BII=F1E I3 JAL JTA 32,800 70% % +:35300 30,000 73% _ #£1:32,500 35,300 | 35,300 | 30,000
AiES JTA JAL 32,000 71% _ £:32,600, H:35,100 29,200 73% _ £:29,700. H:32,200 32,600 | 37,500 | 29,200
BIER =12 HREFE JAL JAL 25,900 65%  £:27,200, H:29,600 22,800 69%  £:24,100, H:26,200 27,200 | 29,600 | 22,800
INEASE JAL JAL 24,700 66% % +:26,300. H:25,900 21,600 70% ,800 28,000 | 28,800 | 22,800
Hig=mfEE FEES JAL JAL 26,100 68% :26,000, £:27,300, £:26.900, H:26,800 22,800 72% ,300. + H:23,900 28,800 | 28,000 | 24,500
EGERS JAL JAL 27,200 66% < 1:28,800. H:28.400 24,100 70% 5,300 29,200 | 30,000 | 24,900
g =ML FES JAL JAL 26,200 68%  £::27,000, £:26,600, B:27,300 22,900 72% 23,900, £:23,500, H:23.7 27.000 | 29,500 | 23.100
[ENES JAL JAL 24,700 70% _ :25,100 700, B: 21,600 74% ,700. H:22,400 26,700 | 26,800 | 21,600
HE =18 FEES JAL JAL 25,800 69% 26,600, H:27.900 22,700 73% 24,300, 1:23,500 27,400 | 29,400 | 22,700
&% JAL JAL 25,400 69% 4 22,300 73% £ 1:24,000 27,400 | 27.600 | 22,300
HE=HE FEES JAL JAL 26,300 67% :26.100, £ +:27.300. H:26,600 22,200 72% 22,500, £ +:23,500, H:23,000 29,100 | 28,600 | 24,300
HE JAL JAL 26,800 67% £:29,200, H:27,600 23,700 71% _ £1:26,200. H:24,500 29,200 | 29,800 | 23,700
HRg=H210 FEES JAL JAL 27,500 67% 2:29.900. £:28,300, H:30,700 24,300 1% F 24,400
L% JAL JAL 25,400 70% £:27,000, H:27.400 22,300 ZTIE: 22,800
SIE=RE FIEES JAL JTA 30,500 72% :30,400, £ 1:33,800. H:30,800 27,200 5% F 28,900
AEHE | JTA JAL 30,300 72% A 1:30,700, A:30,900, £:31,800. H:33.] 27.200 75%  F 29,300
Hh=/M2 HIE%E JAL JAL 24,400 66%  £:26.900, £:26,700. H:27.800 21,900 70% _ £:24,400, £:24,300. H:25,300 28,600 | 28,700 | 23,700
INEASE JAL JAL 26,200 64%  F 1:26,300. £:28,800, H:29,300 23,700 67% A +:23,900, £:26,300, H:27,700 30,400 | 31,200 | 25,400
HIEE JAL JAL 26,500 67% 7,700, +:26,600. H:28,600 24,000 70% 25,200, +:24,100, H:26,100 29,500 | 29,900 | 25,800
B EESR JAL JAL 26,900 67% 7.800, F H:28.000 24,400 70% 25,300, & H:25,600 25,800
HIEE JAL JAL 24,700 70% H:27.200 22,200 73% 24,000
BN JAL JAL 24,400 70% %:25,800, +:25.900. H:26.30( 21,900 73% 23,300
wL=HE WIS JAL JAL 26,500 67% 26,600, H:27.100 24,000 70% 24,100 . X 25,800
HE JAL JAL 26,500 67% 28,400, H:27.200 24,000 70% 26,000, H:24,800 29,100 | 28,900 | 25,000
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N — .
X @ kg 10/1-9 g;;é = 10/15-25 ;%;2 % 10/10 | 10/12 | 10/14
RED | KEQ@ il -
HIL=H B CRE) [ JAL JAL 26,000 69% :20,200, £:28,300. H:29,800 23,500 72% _ %:26,700, £:25,900, H:27,300 30,200 | 30,700 | 25,300
PNITE CRE)| JAL JAL 26,400 68%  £:28,600, £:27,500. H:30,000 23,900 71% _ £:26,100, £:25.100. H:28,200 30,200 | 31,900 | 25,400
Hh=nhi8 BHE CRE) | JAL JTA 31,800 71% £:37,400, H:31,200 29,300 73% % 1:35,000. H:28.700 39,300 | 35,200 | 31,000
AiE% (EE)|[ JTA JAL 30,900 72% _ %:31,800, £:32,000, H:34,500 28,400 74% _ £:29,300, £:29.600. H:32,100 33,500 | 38,400 | 30,200
EEE=/M EfE CRE) | JAL JAL 25,400 61% :25,900, £:23,900. H:28,400 23,700 63% | £:24,200, £:22,300, H:27,600 26,500 | 31,200 | 24,800
INASE CRE)| JAL JAL 25,500 61%  £:27.800, £:26,500. H:30,100 24,200 63% % H:26,200, £:25,100 27,900 | 30,100 | 24,200
FOfCEESR CRE) | JAL JAL 27,600 62% +:29,000. H:31,700 26,300 64% & 30,400 | 31,300 | 26,300
] CRE)| JAL JAL 25,700 65%  +:24,600, H:27.800 24,000 67% 23,000, H:26.700 26,300 | 30,700 | 25,100
[ENES CRE) | JAL JAL 24,200 67%  4:24,600, % 1:26,900. H:27,100 22,500 70%  A:22,900, £ 125500, H:23,400 28,300 | 28,100 | 23,100
L (FE) | JAL JAL 25,300 66%  £:26.100, £:24,700. H:28,200 23,700 68% | £:24,400, H:27.300 26,700 | 31,000 | 25,700
L&% CRE) | JAL JAL 24,900 67% % +:27,200. H:28,900 23,200 69% % +:25800. 28,600 | 28,900 | 23,800
EfE=HE BEER CRE)| JAL JAL 27,300 62 :26,800 25,800 64% % H:26,000, £:25,200 29,700 | 29,800 | 26,900
RER (B[ JAL JAC 21,400 69% 2,600, £:23,000, H:22,200 21,000 70% _ %:22,200, £:22,600, H:21,800 22600 | -— | 21,000
HE FRCHA)| JAL JAL 26,300 64 24,700 66% % 1:28,000, H:26.700 30,800 | 31,100 | 25,200
AR(FF)| JAC JAL 23,000 67% 22,600 67% 24,20 — [ 22,600
BEEE=HALL BEER  [RE(PH)| JAL JAL 27,000 64 25,300 67% & . H:29,600 29,200 | 33,200 | 26.400
KER(FFD | JAL JAL 23,000 66% 22,600 67% & . H:23,400 24,200 | 25,200 | 22,600
wil%  [RERGIHE)|[ JAL JAL 25,500 66! 24,200 68% & . H:26,900 28,600 | 30,80 4,200
ABR(FF) | JAL JAL 24,600 4% 24,200 64% 3 23,200 25,400 | 23801 4,200
A= AM EEER FOHA)|  JAL JAL 26,900 7 25,200 69% 226,000, +:24.600. F128.200 28,300 | 31,800 | 26.300
ElZRES RCEE)| JAL JAL 26,500 7% 24,800 69% £ +:27.400, B: 30,200 | 28,90 5,400
EfE=X% WEER  [RE(GEE)| JAL JAL 25,000 69 . H:27.200 24,000 70% | £1:26,300. H:27,200 28,500 | 31,600 | 25,900
KR (B[ JAL JAL 25,800 63% 8:27,200 25,400 64%  £:27,300, :27,000, H:26,800 27,700 | 28,400 | 25,400
An% |[RRCREH)| JAL JAL 25,700 68% . H:29.700 24,400 70% :

EWiE=RE HER  [RR(EE)| JAL JAL 25,000 70% 25300 +.25.700. H:27,600 24,300 71% A4 .
KER (D[ JAL JAL 25,500 67% _ £:27,800, £:27,100, H:27,400 25,100 68%  £:27,400, 1:26,700, H:27,000 27,800 | 28,600 | 25,100
RE%  [RECEE)| JAL JAL 25,700 69%  F:26,000, %:27.400, £:27.000, H:30.40( 24,400 1% :25,500, %:26,600, £:25,600, H:27,000 30,000 | 31,700 | 26,700
KR (D[ JAL JAL 27,100 65% £ 1:27,000. H:26,100 26,700 66% = 1+:27,500, H:25,700 27,900 | 26,100 | 26,700
BE=RX EWEER [RZ(EE)| JAL JAL 25,000 69%  £:25700, £:25,600, H:27,600 24,000 70% _ £:24,700, +:24,600, H:27,600 29,300 | 32,400 | 26,000
KER(BFH | JAL JAL 25,100 66%  £:27,100, £ H:26,700 24,700 67% 26,700, £ H:26.300 27,100 | 27,900 | 24,700
BA%E [Em(EE)| JAL JAL 25,500 69% 27,000, H:29,700 24,200 70% % +:25,600. H:25.800 29,100 | 30,500 | 24,200
KR (B[ JAL JAL 26,700 64%  %:27 500 £:27,900. H:25,700 26,300 65%  %:27,100, £:27,500, H:25,300 27,500 | 25,700 | 26,300
EREE=2 WEEE  [ERCRE)| JAL JAL 25,000 69% 300, H:27.6 24,000 70% H:26.800 29,300 | 32,200 | 26.300
KRB JAL JAL 26,600 64% 28,200, 26,200 65% 7,800, H:28,700 29,900 | 30,300 | 26,200
=E%E [EmCHE)| JAL JAL 25,700 68% 27,000, 24,400 70% 25,600 30,300 | 30,500 | 24,300
RER(FFD [ JAL JAL 27,800 63% 29,800, 27,400 63% % 9,400, H:28,100 29,000 | 28,900 | 27.400
HE=ERS IR [ERCRE)| JAL JAL 24,800 70% 125,300, H:27.200 23,800 72% _ 7K:24,000, £ ,300. H:26,400 29,700 | 30,800 | 25.800
KER(BFH [ JAL JAL 24,600 69% £A: 26,200 24,200 69% % H:25,900 ,800 26,300 | 27,500 | 24,200
BEREHE [EmCHE)| JAL JAL 25,700 69% 26,000, £:27.400, F:26.200, H20.70] 24,400 1% :24,700, %::25,800, £:24,800, H:26,600 28,400 | 30,500 | 24,700
BR(FA) | JAL JAL 26,200 67%  £:27,000, £:27,900, H:25,200 25,800 67% | £:26,600, £:27,500, H:24,800 27,000 | 25,200 | 25,800
HEE=H1E HEER RCEE)| JAL JTA 31,300 69% k1:33,800 30,300 70%  #£1:32,800 35,800 | 35,800 | 32,300
AEH CRE)| JTA JAL 32,000 68%  £:33,400, H:38,200 30,700 70% _ %:31,800, H:34,300 33,400 | 40,600 | 30,700
EFH= ERE CRE)|[ JAL JAL 25,500 60% % H:26,600. £:26,300 25,900 59% % H:27,000, £:26.700 27,000 | 27,000 | 25,900
INAFE CRE) | JAL JAL 24,900 61% 2 H:26,600 25,300 60% % H:27,000 27,000 | 27,000 | 25,300
BEHR=mILHER EHR CHED [ JAL JAL 30,800 57% | #1:31.700 31,300 56% % 1:32,200 32,200 | 31,300 | 31.300
B EESR CRE) | JAL JAL 30,800 57% 31,700, H:32,600 31,300 56% | £:32,200. H:33,100 32,200 | 31,300 | 31,300
HH=MEWL EHR CRE)| JAL JAL 25,200 65% % H:26,000, £:24,800 25,600 65% % H:26,400, £:25,200 26,400 | 27,200 | 25,600
BN CRE)| JAL JAL 24,500 66% 25,600 24,900 66% % H:26,000 26,000 | 26,000 | 24,900
BEHR=LE EHER CHED [ JAL JAL 25,800 65% 26.400 26,200 64% < H:26,800 26,800 | 26,800 | 26.200
L& CRE)| JAL JAL 25,600 65% 26,500, £:24,800 26,000 64% % H:26,900. £:25,200 26,900 | 26,800 | 26,000
HEHR=LOFH EHR CHED [ JAL JAL 26,500 66% 27,300, £:24,800 26,900 65% < H:27,700, £:25.200 27,700 | 26,900 | 26.900
WO A (HE) [ JAL JAL 24,800 68% 25,600 25,200 67% % H:26,000 26,000 | 26,000 | 25,200
BH=HE EHR [EE@A)| JAL JAL 27,000 62% :27,400 27,400 61% % H:27,900 27,900 | 27,900 | 27,400
RER(FFD [ JAL JAC 24,100 64% :24,500 24,100 64% £ 1:24500 24500 | —— | 24,100
HEER [REREGH)| JAL JAL 26,600 62% :27.400, 1:27,000 27,000 62% € H:27,900, 1:27.400 28,600 | 28,900 | 27.000
KR (B[ JAC JAL 24,500 63% 24,900 24,500 63% % H:24,900 24900 | —— | 24,500
HEHR=E HHE  [EmCHE| JAL JAL 24,400 66% 25,200 24,800 65% < H:25,600 27,300 | 25,600 | 24,800
EEHE [EmCHE| JAL JAL 24,400 66% 25,200 24,800 65% 25,600 26,400 | 25,600 | 24,800
HHx=mi HHE  [EmCHE| JAL JAL 26,700 63 28,300, 1:26.100 27,100 62% < H:28,700., 1:26.500 28,700 | 28,700 | 27.100
% [HE(WE)| JAL JAL 26,000 64% % +:27,100, H:27,900 26,400 63% & +:27,500, H:28,300 27,500 | 28,000 | 26,400
HEH=mA HHE  [HmCHE| JAL JAL 24,200 67% | £:26,700. £:25,900. H:26.900 24,600 67%  %:27.100. £:26.300, H:27.300 26,300 | 26.500 | 24,600
BAFE  [EmCHE| JAL JAL 25,000 66%  £:28,000, £:25,900, H:: 25,400 66%  %:28,400, £:26,300, H:27,600 28,400 | 27,600 | 25,400
BEHR=L HHEE  [HECEHE)| JAL JAL 26,500 64 £:28,900, H:28,600 26,900 64%  £:29,300, H:29.000 29,300 | 29,00 6,900
KER (D[ JAL JAL 24,900 62% % 125300 24,900 62 > £:25300 5,300 | 25900 | 24,900
W% [EmEE)| JAL JAL 26,100 65 :26,400. H:27.700 26,500 64%  £:26,800, H:28.100 7,300 | 27,700 | 26500
ABR(FF) | JAL JAL 24,900 62% 5,300 24,900 62 H:25,300 4,900 | 25,901 4,900
EHx=dAM HFHER RCHE)| JAL JAL 26,400 67 :27,200 26,800 66%  £:28,400. H:27.600 7,600 | 27,600 | 26.800
EZRES RCEE)| JAL JAL 26,400 67% 6,700 26,800 66%  %:28,000, H:27,100 8,000 | 27.10¢ 6,800
HEHR=KS HHE [EmCEE)| JAL JAL 25,100 68 ,400. H:25,400 25,500 68% < +:27,800. H:26.600 28,600 | 27.400 | 25,500
KER(BFD | JAL JAL 27,300 60% 27,300 60% & +:28,100, H:28,300 28,100 | 29,100 | 27,300
A7%E  [RECHE)| JAL JAL 25,100 68% . H:27.400 25,500 68% £:25,700, %:26,600, H:27.800 27,400 | 27,400 | 26,200
KRB JAL JAL 26,700 61% . £:26,900, B:28,600 26,700 61%  £:27,700, :26,900, H:28,500 27,700 | 28,500 | 26,700
HHx=Ri HH®E [EmCEE)| JAL JAL 25,100 70% 25,800 69%  H:26,200, £ 1:26.600. H:27.000 29,000 | 27,800 | 27.300
KER(FFD | JAL JAL 27,000 64% 27,000 64% & 28,200, H:28,500 28,100 | 29,300 | 27,000
RE%  [RECHA)| JAL JAL 25,100 70% 25,500 69%  F +:26,600, £:27.400. H:27800 28,600 | 28,600 | 27,800
KER(FFD | JAL JAL 27,000 64% 27,000 64% |t 27,000 | 27,300 | 27,000
HEHR=RX BEHRxE  [EEREE)| JAL JAL 25,100 69% 25,500 68% 4 28,600 | 27,400 | 25,700
RER(FFH[ JAL JAL 26,600 63% 27,400, H:27.800 26,600 63% 27,400 | 28,600 | 26,600
BARE [RE(EE)| JAL JAL 25,100 69% :25,400, £::26,200. H:26,600 25,500 68% 25,800, £:26.600. H:27.000 27,400 | 27,800 | 25,800
RER(FFH[ JAL JAL 27,400 62% _ :27,600, %:27,700, H:28,200 27,400 62% 27,600, %:27,700, H:28,200 27,700 | 28,200 | 27,400
EH=25 FHE [Rm(HE)|[ JAL JAL 25,100 69%  F % +:25,400. H:25,800 25,500 68% | H % £:25800, H:26,200 29,000 | 28,000 | 25,800
KER (B[ JAL JAL 28,500 61%  £:31,000, £:28,900, H:30,200 28,500 61%  %:31,000, £:28,900, H:30,200 31,000 | 31,000 | 28,500
FEFE [RECEE)| JAL JAL 25,100 69% :25,400. H:26.600 25,500 68% A2 27,400 | 27,000 | 25,800
RER(FFH[ JAL JAL 28,700 60% 29,300, H:30,000 28,700 60% 29,300 | 30,000 | 28,700
HER=-ERS EHRxE  [EEREE)| JAL JAL 25,100 70% 26,200, H:25,400 25,500 69% 29,000 | 26,600 | 25,500
KER(BFD | JAL JAL 26,500 65% H:27,400, £:26,900 26,500 65% & H:27.400. F.26.900 27,400 | 28,200 | 26,500
BEREHE [RmCHE)|[ JAL JAL 25,100 70% £:25,400, £ H:26,200 25,500 69% £:25,800, £:26,600, H:27.400 26,600 | 27,400 | 25,800
KER(FFD | JAL JAL 26,500 65%  +:27,400, H:28,200 26,500 65% | +:27,400, H:28,200 26,500 | 29,200 | 26,500
EH=H0E [ CHE) [ JAL JTA 31,400 68% £ 1:33.900 31,800 68% £ 1:34,300 34,300 | 34,300 | 31,800
R (AA)|[ JTA JAL 31,400 68%  H:34,700 31,800 68%  H:35.100 31,800 | 36,700 | 31,800
ZiR=/M RE(RE) | JAL JAL 24,800 60%  £:25,300, £:24,000, H:25,700 24,800 60% | #:25300, £:24,000, H:25700 25,300 | 25,700 | 24,800
B (HA)|[ JAL JAL 24,800 60% % H:25700 24,800 60% % H:25700 25,700 | 25,700 | 24,800
ZR=mRkaE RE(HE) | JAL JAL 30,300 57% % H:30,700 30,300 57% £ H:30,700 30,700 | 30,300 | 30,300
B (HA)|[ JAL JAL 30,300 57% _ H:30,700 30,300 57%  H:30,700 30,300 | 30,300 | 30,300
ZR=MEW RS (BE) | JAL JAL 25,100 65%  +:24,700 25,100 65% | £:24,700 25,100 | 25,900 | 25,100
HRCRE) [ JAL JAL 24,000 67% A% +:24,400. H:23,600 24,000 67% A% £:24,400, H:23600 24,400 | 23,700 | 24,000
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[ .
=) f23::0) 10/1-9 §;§ #E 10/15-25 fh;i % 10/10 | 10/12 | 10/14
RED | KEQ@ il -
=g ZR¥E |[EmCEE)[ JAL JAL 24,700 66% 2 H:25500 24,700 66% % H:25500 25,500 | 25,500 | 24,700
B (HE)|[ JAL JAL 23,200 68%  £:25100. £:23,900. H:24,500 23,200 68%  %:25100, £:23.900, H:24,500 25,100 | 24,500 | 23,200
R CRE) [ JAL JAL 26,400 66%  +:24,700 26,400 66% | +:24,700 27,200 | 26,400 | 26,400
HRCRE) | JAL JAL 24,700 68% 24,700 68% 24,700 | 24,700 | 24,700
[(E CHE) [ JAL JAL 26,900 62% £ H:27.300 26,900 62% % H:27,300 27,300 | 27,300 | 26,900
RERUFFD | JAL JAC 23,100 66%  H:23.900 23,100 66%  H:23,900 23100 | -—— | 23,100
RS CHE) | JAL JAL 25,300 64%  H:26,200 25,300 64%  H:26,200 25,300 | 26,700 | 25,300
RERUFFD [ JAC JAL 24,300 64%  &1:24.700 24,300 64% & 1£:24,700 24,700 | —— | 24,300
R (HE) | JAL JAL 24,300 66% 24,300 66% 25,100 | 24,300 | 24,300
HRCRE) | JAL JAL 23,900 66% 23,900 66% 23,900 | 23,900 | 23,900
RS (RE) | JAL JAL 24,400 66% :25,700. +:24,300, H:26.600 24,400 66%  %:25,700, 1:24.300, H:26.600 25,700 | 26,600 | 24,400
R (HE)|[ JAL JAL 24,300 66%  :24,800, H:25.200 24,300 66%  %:24,800, H:25.200 24,800 | 25,200 | 24,300
RS (RE) | JAL JAL 25,800 65% % H:26,700 25,800 65% 2 H:26,700 26,700 | 26,700 | 25,800
R (HE)|[ JAL JAL 24,100 67%  £:27.100, H:25800 24,100 67% 27,100 | 25,800 | 24,100
[(E=EE) [ JAL JAL 26,400 64%  £:28,000, H:27.700 26,400 64% | %:28000, H:27,700 28,000 | 27,700 | 26,400
RERUFFD [ JAL JAL 24,700 63% 24,700 63% 24,700 | 27,800 | 24,700
wmil%E  [ERmECEE)| JAL JAL 24,700 67%  H:25500 24,700 67%  H:25500 24,700 | 26,30 4,700
RERFFD [ JAL JAL 25,900 61% 25,900 61% 25,900 | 27,800 | 25,900
ZiR=4tnm ZR% FCHE) | JAL JAL 26,300 67%  £:27,100 26,300 67%  £:27,100 27,100 | 26,30 6,300
EZNIE F(PHE)| JAL JAL 25,000 68% 25,000 68% 25,000 | 25,00 5,000
ZR=K% =R%  [RE@E)| JAL JAL 25,000 68%  2:27,300, £:26,100. H:25.300 25,000 68% % +:27,300, H:25300 27,300 | 26,100 | 24,900
KER(BFD | JAL JAL 27,500 60%  £:28,200, H:28,100 27,500 60%  %:28,200, H:28,100 28,200 | 31,000 | 27500
A% |[ERCRE)| JAL JAL 25,000 68% | H:25.300 25,000 68% A £:25,200, £:25,300, H:26,100 26,100 | 26,100 | 25200
ZR=R& =R% [EmCEE)| JAL JAL 25,000 69%  H%:25,300, £:25,700. H:26.100 25,300 69%  H+:25700, £ H:26.100 27,700 | 26,500 | 26,700
RER(FFH[ JAL JAL 27,200 64% % H:28,300 27,200 64% % H:28,300 28,300 | 31,200 | 27.200
RiB%  [REHA)| JAL JAL 24,800 70% £ H:25,300 24,800 70% £ H:25,300 26,500 | 25,300 | 24,800
RER(FFH[ JAL JAL 28,400 63% 28,400 63% 28,400 | 30,100 | 28,400
ZR¥  [EmCRE)| JAL JAL 23,300 71% A 1:24,100, £:24,500. H:24,900 24,100 70% _ F:24,900, £:25,300, +:24,800, H:25.700 27.300 | 26,900 | 25,200
RER(FFD [ JAL JAL 26,800 64% % H:27.600 26,800 64% % H:27.600 27,600 | 30,500 | 26,800
AR [EmCHE)|[ JAL JAL 24,800 69% 24,800 69% 25,000, H:25.300 25,200 | 26,100 | 24,800
RER(FFD[ JAL JAL 28,000 62% 28,400 28,000 62% 28,400 28,000 | 29,700 | 28,000
ZR%E [REEE)| JAL JAL 23,300 71% % +:24,500. H:24.900 23,300 1% £ 1:24,500, 5:24.900 27,700 | 26,700 | 24,500
RER(FFH[ JAL JAL 28,300 62% 30,400, H:30,000 28,300 62% 30,400, H:30,000 30,400 | 32,900 | 28,300
B [ERCEE)|[ JAL JAL 25,000 68% £ H:25.300 25,000 68% £ B:25.300 26,400 | 26,100 | 24,900
RER(FFH[ JAL JAL 29,100 60% 29,500, +:30,300, H:30,800 29,100 60% 29,500, +:30,300, H:30,800 29,500 | 32,900 | 29,100
ZR=ERS ZR%E [REE)| JAL JAL 24,800 70% _ A:25,000, £+ H:25,300 24,800 70%  A:25,000., £+ H:25.300 27,700 | 25,300 | 24,800
RER(FFH[ JAL JAL 26.300 66%  H:27.200 26,300 66%  H:27.200 26,800 | 30,100 | 26.300
ERER [EZ(HE)| JAL JAL 25,000 69% A= H:25300 25,000 69%  H%1:25,300. H:26.100 25,300 | 26,100 | 25,300
KER(BFD | JAL JAL 27500 64%  +:28.400 27,500 64% _ +:28,400 27,500 | 29,200 | 27.500
ZR=%R8E =R RCAE) | JAL JTA 31,300 68% < 1:33,800 31,300 68% % 1:33800 33,800 | 33,800 | 31,300
A% CRE)|[ JTA JAL 31.300 68%  H:33.800 31.300 68% _ H:33,800 31,300 | 36.200 | 31.300
FE=/IE RER CRE)| JAL JAL 24,500 57% _ £:26,500, £:24,200. H:26.300 24,500 57%  %:26,500, 1:24.200, H:26,300 26,500 | 26,300 | 24,500
(EE) | JAL JAL 24,400 57% % H:25,500, £:24.700 24,400 57% % H:25500, £:24.700 25,500 | 25,500 | 24,400
HE=FEE CEE) | JAL JAL 27,500 58% % 1:29.200 27,500 58% % 1:29,200 29,200 | 27,900 | 27500
(FE) | JAL JAL 26.900 59% 27.200 26,900 59% % 1£:27.200 27,200 | 26,400 | 26,900
FE=MRLL CRE) | JAL JAL 25,000 62% ,900, H:25,700 25,000 62% | £:25900, H:25.700 25,900 | 26,500 | 25,000
(FE) | JAL JAL 24,400 63%  4:24,800, £ 1:25,100, H:24,500 24,400 63%  A:24,800. #+:25,100, H:24,500 25,100 | 24,500 | 24,400
RE=LE CRE)| JAL JAL 25,900 61% £:26,800, H:26,100 25,900 61% % 1:26,800, H:26,100 26,800 | 26,100 | 25,900
(FE) | JAL JAL 25,100 63%  £:26.200, £ H:25.400 25,100 63% 126,200, & H:25.400 26,200 | 25,400 | 25,100
FE=LOFH TEES CRE)| JAL JAL 26,300 63% :27,200, £:25,800. H:27,000 26,300 63%  %:27,200, 1:25,800, H:27.000 28,000 | 27,000 | 26,300
=EZTES (FE) | JAL JAL 24,300 66% % 1:24.600. H:24.500 24,300 66% % +:24,600. H:24.500 24,600 | 24,500 | 24,300
ME=HE A [RECEA)|[ JAL JAL 26,800 59% :28,700. +:25500, H:27.500 26,800 59%  %:28,700, 1:25,500, H:27.500 28,700 | 28,000 | 26,800
KER (D[ JAL JAC 25,800 59% :26,300, +:25,300, H:22,200 25,800 59%  %:26,300, £:25.300, H:22.200 26,300 | -—— | 25,800
HE FR CRE) [ JAL JAL 26,500 59% +:27.600. B:27.400 26,500 59% |4 . H:27.400 27,600 | 27,400 | 26,500
RERUFFD [ JAC JAL 24,700 60% 125, 24,700 60% 4 24,300 | —— | 24,700
HE=FS PEFE  [FRRRCEHE)| JAL JAL 24,500 63% 124, 24,500 63% 4 26,800 | 24,900 | 24,500
BE% [RE(HH)| JAL JAL 23,500 64% £ H:24,100. £:23.800 23,500 64% & 24,900 | 24,100 | 23,500
HE=5K (A% [ER(RA)| JAL JAL 26,500 60% :28,200, +:26,200, H:28,000 26,500 60%  %:28200, +:26,200, H:28,000 28,200 | 28,000 | 26,500
0E [EFREA)| JAL JAL 25,600 61% % 1:26.900. H:26.500 25,600 61% % +:26.900. H:26.50! 26,900 | 26.500 | 25,600
HE=5H AEF  [HECHE)|[ JAL JAL 25,700 62% 25,200, H:27,300 25,700 62% : H:27.300 27,500 | 27,300 | 25,700
% [ERERCIHE)| JAL JAL 24,500 64 26,000, 24,500 64% & H:26.100 26,900 | 26.100 | 24,500
FRE=H1L VEFE  [ERCRE)| JAL JAL 26,300 61% . 1:25,800 26,300 61% H:28,300 28,600 | 28,300 | 26,300
RERFFD [ JAL JAL ,600 3% %t 0:23,000 600 3% X 3,000 | 26,00 ,600
Wil [EmEGEE)| JAL JAL ,400 1% 26,700, H:26,600 400 1 26,700, H:26,600 6,700 | 27,001 400
RERFFD [ JAL JAL ,600 3 3,000 600 3% 2,600 | 23,60 ,600
FRE=dtIM PNEES RCEE)|  JAL JAL ,200 4% 7,100, £:25,600, B:26,900 ,200 4 7,100, £:25,600. H:26,900 7,100 | 26,90 ,200
EZNIES F(PHE)| JAL JAL 26,700 4% & 1:27,000, H:25,600 26,700 4% € +:27,000, B:25,600 7,000 | 25,601 700
ME=X% PEFE [ERCEA)| JAL JAL 25,200 65% :28,400, 1:26,900, H:25,500 25,200 65%  £:28,400, 1:26,900, H:25,900 8,100 | 26,70 100
KER (D[ JAL JAL 25,000 61%  £1:25800 25,000 61% £ 1£:25800 25,800 | 25,200 | 25,000
AA%E  [RZEE)| JAL JAL 24,000 67% :24,500 24,000 67% K:24,500, %:25.100, £:25,600, H:25.9 25,900 | 25,900 | 24,500
KER (D[ JAL JAL 24,400 62%  £:25,000 24,400 62% _ %:25,000, £:24,600, H:26.200 25,000 | 26,200 | 24,400
E=RE ERE [RREH)| JAL JAL 25,200 67%  H:25,500, %26, ] 126, 25,500 66% A £:27.200, 1:26.800. H:26,300 28,800 | 27,100 | 26,900
KER (D[ JAL JAL 24,200 66%  £:25,100 000 24,200 66% = 25,900, H:25,000 25,100 | 25,200 | 24,200
RE%  [RECEE)| JAL JAL 24,500 68%  H:24,900 24,500 68% | AH: 25,900, £:26,000, H:26,300 27,100 | 27,100 | 26.300
RER(FFD [ JAL JAL 24,700 65%  ©1:25,100 24,700 65% % 25,100 | 25,000 | 24,700
ME=FF FEFE [HR(E)| JAL JAL 25,200 66%  £:26,800, 1:26,700, H:26,300 25,200 66%  %:26,800, 1:26.700, H:26.300 28,500 | 28,300 | 25,200
BAR [EmCHE)| JAL JAL 24,000 67%  F:24,500, £:25,200. 24,000 67% | H:24,500, £:25,200, 1:25,600. H:25,500 26,000 | 26,300 | 24,500
RER(FFH[ JAL JAL 25,100 63%  A:25300, %:25,000, H:25.900 25,100 63% 25,300, £:25.000, H:25.900 25,000 | 25,900 | 25,100
HE=215 MEX [EmEE)|[ JAL JAL 25,200 66% A H:25,500. £ 1:26,400 25,200 66%  H H:25500, £1:26.400 28,500 | 27.300 | 25,500
RER(FFH[ JAL JAL 26,600 61% 26,600 61%  %:28,700, +:28.400, H:28.300 28,700 | 31,100 | 26,600
FEFE [RECHAE)| JAL JAL 24,000 67% 24,000 67% | H:24,500, % £:25,200, H:25,500 27,100 | 26,300 | 24,500
RER(FFH[ JAL JAL 26,400 61% 26,400 61%  %:26,600, £:27.000, H:27.700 26,600 | 27,700 | 26,400
ME=ERS MEX [EmEE)|[ JAL JAL 25,200 67% 25,200 67%  #1:27,200 29,400 | 26,300 | 25,200
BR (| JAL JAL 24,700 66% 24,700 66%  %:25500, 1:24.600, H:25.900 25,500 | 28,700 | 24,700
ERER [EZ(HE)| JAL JAL 24,500 68% 24,500 68% % +:25200, H:25.900 25,500 | 25,900 | 24,500
BR(FAD | JAL JAL 24,200 66% 24,200 66%
ME=RE MEX [Rm(HE)|[ JAL JTA 31,500 66% 31,500 66% 4
AiEFE |[ERCRE)| JTA JAL 29,500 68% 29,500 68% E
EE=HE ER [KREF| JAL JAC 29,900 54% 29,900 54% |4
HEZ  [XROFM|[ JAC JAL 33,200 49% 33,200 49% 3
&=l EER [KREF| JAL JAL 33,800 47% 33,800 47% 4
wil%  [KEREFEA [ JAL JAL 34,100 46% 34,100 46% 4
EE=K% 5% |[KRFH| JAL JAL 33,400 49% 33,400 49% _ #+ H:34,700 34,700 | 35,000 | 33,400
AN%E |[KEREFD| JAL JAL 32,800 50%  £:33,800., £:33,400. H:34,300 32,800 50% _ %:33,800, £:33.400, H:34.300 33,800 | 35,500 | 32,800
EE=RK B [KRWEFFD[ JAL JAL 35,900 51% :37,700, £:37,900. H:37,200 35,900 51%  %:37,700, 1:37.900, H:37.200 37,700 | 35,900 | 35,900
RiE%  [KEREED| JAL JAL 32,600 56%  ©1:33.100 32,600 56% @ 1:33,100 33,100 | 34,100 | 32,600
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— .

=) f23::0) 10/1-9 ;E;Jg’é #E 10/15-25 ;‘%;i % 10/10 | 10/12 | 10/14

RED | KEQ@ il -
TEE=RX EER |[KREF | JAL JAL 33,100 53% % H:34,900. £:34,000 33,100 53% | % H:34,900. £:34,000 34,900 | 35,200 | 33,100
AR [KIR(FM| JAL JAL 33,600 53%  A1:33.700, £:33,900. H:34,000 33,600 53% _ A1:33,700. £:33.900. H:34.000 33,900 | 35,200 | 33,600
EE=25 EER  [KRBFD| JAL JAL 37,000 48% | £:41,800. H:41,300 37,000 48% | £:41,800. H:41,300 41,800 | 37,900 | 37,000
Heil JAL JAC 31,600 59% 31,600 59% 34,300 | 34,300 | 31,600
=B (KR JAL JAL 35,700 50% £ H:36,100, £:37,000 35,700 50% % H:36,100, +:37,000 36,100 | 37,200 | 35,700
] JAC JAL 31,600 59% 31,600 59% 35,200 | 34,300 | 31,600
EE=ERS EEHE | XREEF| JAL JAL 35,800 52%  #::37,400. 1:36,800, H:37,900 35,800 52%  %:37,400, 1:36,800, H:37,900 37,400 | 35,200 | 35,800
BERBFE [KWRUFFH| JAL JAL 35,800 52%  +:36.900. H:37.300 35,800 52%  +:36,900, H:37.300 35,800 | 36,300 | 35,800
WL =/ 23 SCAE)| JAL JAL 21,300 56%  H:23200 21,300 56% | H:23,200 22,700 | 23,200 | 21,300
INASE CRE)| JAL JAL 23,300 52% % H:24,300 23,300 52% % H:24,300 25,700 | 24,300 | 23,300
Witz =Ml i} Z3 (HE)[ JAL JAL 22,200 61% 22,200 61% 23,600 | 22,200 | 22,200
FE L5 CRHE)| JAL JAL 21,000 63% 21,000 63% 22,400 | 22,100 | 21,000
=158 I}z CRE) | JAL JAL 24,300 58%  H:22,200 24,300 58%  H:22.200 25,700 | 22,200 | 24,300
L&% (AE) | JAL JAL 21,500 63%  £:23,600, +:22,200, H:23,000 21,500 63% _ %:23,600, £:22.200, H:23.000 25,000 | 23,000 | 21,500
Wifz=1L0F4 i}Z:3 CRE) [ JAL JAL 23,100 63% 23,100 63 24,500 | 23,100 | 23,100
5] )| JAL JAL 22,700 6 £H:23,100 22,700 63% £ H:23,100 24,500 | 23,100 | 22,700
Wiz =HE [im} )| JAL JAL 20,300 63% 20,300 6 21,700 | 20,300 | 20,300
)| JAL JAC 28,300 5 28,300 54% 28300 | —— | 28,300
[ JAL JAL 23,900 57%  H:24,800 23,900 57% | H:24,800 5,300 | 25500 | 23,900
)|_JAC JAL 28,700 53%  £:31.600, £:29,200. H:29.600 28,700 53% _ %:31,600, £:29,200, H:29.600 1,600 | — | 28,700
=15 V[ JAL JAL 22,800 60%  H:22,300 22,800 60%  H:22,300 4,200 | 22,300 | 22,800
)| JAL JAL 22,800 60% 22,800 60% 25,100 | 22,800 | 22,800
Lz =&H )| JAL JAL 22,700 60% % +:23600. H:23,100 22,700 60% % 1:23,600, H:23.100 25,000 | 23,800 | 22,700
)| JAL JAL 22,700 60% _ %:23,300, H:23800 22,700 60%  £:23,300. H:23,800 24,700 | 23,800 | 22,700
== )| JAL JAL 22,500 62%  £:23,400, H:24,000 22,500 62% | £:23,400, H:24,000 24,800 | 24,000 | 22,500
)| JAL JAL 22,500 62% _ %:25800, H:24.400 22,500 62% 27,200 | 24,400 | 22,500
W= )| JAL JAL 22,200 63% % +:23,100. H:24,000 22,200 63% & +:23,100, H:24,000 24,500 | 24,000 | 22,200
)| JAL JAL 29,200 51% 29,200 51% 29,200 | 29,500 | 29,200
)| JAL JAL 23,300 61%  %:24,000, 1:23600, H:25,100 23,300 61%  :24,000, £:23,600, H:25,100 25,400 | 25,100 | 23,300
)| JAL JAL 29,200 51% _ £:32,500, £:30,300, H:31,700 29,200 51%  %:32,500, £:30,300, H:31,700 32,500 | 29,900 | 29,200
wfz=4c M )| JAL JAL 23,000 64% 23,000 64% 24,400 | 23,000 | 23,000
)| JAL JAL 23,000 64% 22,500 23,000 64% 22,500 24,400 | 23,000 | 23,000
=K% )| JAL JAL 23,500 63% 26,100, £:24,800, H:23,.900 23,500 63% £:26,100, H:23.900 26,600 | 24,200 | 23,400
)| JAL JAL 32,200 48% % H:33,000 32,200 48% 33,000 | 33,100 | 32,200
)| JAL JAL 23,500 63%  H:23,900 23,500 63% . %:23,900, H:24,800 26,200 | 24,800 | 23,800
)| JAL JAL 31,200 50% _ £:33,300, £:32,900, H:32,400 31,200 50% 2,900, H:32,400 33,300 | 32,800 | 31,200
WL =RIG )| JAL JAL 23,500 65%  F£:23,900, +:24,300, B:24,800 23,900 64% , 28,000 | 24,800 | 25,400
)| JAL JAL 32,000 54% £ H:33,100, £:32,400 32,000 54% £ H:33,100 2,400 33,100 | 33,200 | 32,000
)| JAL JAL 23,500 65%  H % +:23,900, H:25,200 23,500 65%  H % +:24,800, H:25200 27,500 | 26,100 | 26,100
)| JAL JAL 32,000 54%  £:34,900, £:33,100, H:34,400 32,000 54% | £:34,900, £:33,100, H:34,400 34,900 | 32,100 | 32,000
Lz =HeA )| JAL JAL 23,500 64%  £:24,300, £:24,200, H:23,300 23,500 64%  %£:24,300, £:24,200, H:23,300 27,500 | 24,200 | 23,500
[ JAL JAL 31,500 53% % H:32400 31,500 53% £ H:32,400 32,400 | 32,500 | 31,500
)| JAL JAL 23,300 64%  +:23500, H:23900 23,300 64% 3,500, H:23.900 24,700 | 24,800 | 23,300
)| JAL JAL 32,000 52%  :32,100, #:35,700, £:33.100, H:34.30( 32,000 52% | £:32,100, £:35,700. £:33,100. H:34,300 35,700 | 32,500 | 32,000
=215 JAL JAL 23,500 64% £ 8:23,900 23,500 64% £ H:23900 27,500 | 24,300 | 23,900
JAL JAL 33,600 50% 100, +:35,200, H:36.400 33,600 50%  £:37,100, +:35,200, H:36.400 37,100 | 37,000 | 33,600
JAL JAL 23,500 64% :23,900 23,500 64% 4 23,900 26,200 | 24,800 | 23,400
JAL JAL 33,400 50% :37,400, £:35,100. H:37,800 33,400 50% | #:37,400, £:35.100, H:37,800 37,400 | 35,200 | 33,400
LW =ERE JAL JAL 23,500 65% 24,800 23,500 65% & +:24.800 28,700 | 24,300 | 23,500
JAL JAL 31,000 56% ,500, H:32,000 31,000 56% | £:31,500. H:32,000 31,500 | 32,100 | 31,000
JAL JAL 23,500 65% %+ H:23,900 23,500 65% & £:23,900, H:24,800 25,300 | 24,800 | 23,900
JAL JAL 31,000 56% 4,400, +:33,100, H:33,700 31,000 56% 4,400, +:33,100, H:33,700 34,400 | 33,600 | 31,000
WL =RE JAL JTA 30,600 64% 33,400 30,600 64% 33,400 34,800 | 33,400 | 30,600
JTA JAL 30,600 64%  H:33.400 30,600 64% :33,400 32,000 | 36,100 | 30,600
WE=HE JAL JAC 24,800 59% +:25,500. H:22,100 24,800 59% & +:25,500, B:22,100 25,500 | — [ 24,800
JAC JAL 23,700 60% :25,600, +:23,900, H:25,400 23,700 60% | #£:25600, +:23.900, H:25400 25600 | —— | 23,700
A=l JAL JAL 22,900 61% % +:23.800. H:22.700 22,900 61% % +:23,800, H:22.70! 23,800 | 23,200 | 22,900
JAL JAL 22,700 61% 22,100, H:24,300 22,700 61% 22,100, H:24,300 24,900 | 24,900 | 22,700
WE=X% JAL JAL 24,800 59% | & 25,900, 24,800 59% 25,900, H:26.100 26,900 | 26,100 | 24,800
JAL JAL 25,100 59% 24,500, 25,100 59% 24,500, H:27,700 28,100 | 27,700 | 25,100
& =ik JAL JAL 24,300 6 %27, 26,000, 24,300 64% 26,000, H:26.300 27,000 | 26,300 | 24,300
JAL JAL 24,300 64% 27, 24,600, 24,300 64 24,600, H:27,300 27,400 | 27,300 | 24,300
s =% JAL JAL 23,900 6. % 25,000, H:25.600 23,900 64% 5,000, H:25,600 26,300 | 25,601 ,900
JAL JAL 23,500 64% X ,800, H:25,20(_ 23,500 64 4,900, +:24,800, H:25,200 24,900 | 25,20 ,500
e =2k JAL JAL 26.900 59% 29,200, H:29.500 26,900 59% 9,200, H:29.500 0,300 | 29,50 .900
JAL JAL 6,500 60% 28,200 6,500 60% 28,200 9,300 | 29,30 500
WeE=ERS JAL JAL 4,600 65% 4 £:25,900 4,600 65% £:25.900 7,100 | 27,100 | 24,600
JAL JAL 4,800 64% : :26,300, H:27,300 4,800 64% :26,300, H:27,300 7,700 | 28,100 | 24,800
HR=HE JAL JAC 3,700 59% | £:25,300. £:25,500. H:22,200 3,700 59% :25,500, H:22.200 25300 [ — 3,700
JAC JAL 23,500 59% 4,300, H:23,700 23,500 59% 24,300, H:23,700 24700 | —— | 23,500
FR=120 JAL JAL 22,200 61%  +:22,400 22,200 61% 22,400 22,200 | 22,400 | 22,200
JAL JAL 21,400 62% % +:22200. H:22,700 21,400 62% | % 1:22,200, H:22,700 22,600 | 23,300 | 21,400
HR=K% JAL JAL 23,800 60% _ £:25.700, +:25,200, H:24,700 23,800 60%  %:25,700, £:25,200, H:24.700 25,700 | 24,700 | 23,800
JAL JAL 23,800 60%  £:25400, H:26,100 23,800 60% | %:25400, B:26,100 25,800 | 26,100 | 23,800
FR=RIE JAL JAL 23,800 64%  £:25,800, £:25,300, H:25,000 23,800 64%  %:25,800, £:25,300, H:25,000 25,800 | 25,000 | 23,800
JAL JAL 23,900 64% &t 23,900 64% & +:24700 25,100 | 25,700 | 23,900
FiR=REA JAL JAL 23,100 64% 4 23,100 64%  £:25,100 25,100 | 24,200 | 23,100
JAL JAL 23,500 63% 7 23,500 63% _ :23,700, %:24,600, £ H:24,700 24,600 | 24,700 | 23,500
HR=E15 JAL JAL 26,200 59% 4 26,200 59%  £:27,900, £:27.600, H:26,600 27,900 | 26,600 | 26,200
JAL JAL 25,200 61% 4 25,200 61% % 1:26,600, H:27.700 27,000 | 27,700 | 25,200
HR=ERS JAL JAL 23,800 65% 4 23,800 65% | % H:24,300, £:24,000 24,300 | 24,300 | 23,800
JAL JAL 25,100 63% 25,900, +:24,700, H:26,400 25,100 63%  %:25900, 1:24,700, H:26,400 26,300 | 26,400 | 25,100
MA=TEWL JAL JAL 24,300 62% :25,200, £:23,900 24,300 62% % H:25,200, £:23,900 25,200 | 26,000 | 24,300
FELI%E CRE)|[ JAL JAL 23,600 63% :24,400, 1:23,300, H:24,800 23,600 63%  %:24,400, +:23,300, H:24,800 24,400 | 24,800 | 23,600
IME=IES IMAFE CRE) | JAL JAL 24,100 62% 25,600 24,100 62% % H:25,600 25,600 | 25,600 | 24,100
LB% CRE)|[ JAL JAL 24,500 62% 25,400, £:24,100, H:25,700 24,500 62%  %:25400, £:24,100, H:25,700 26,500 | 25,700 | 24,500
IMA=ILIOFE INAFE CRE) | JAL JAL 23,900 65% :25,600 23,900 65% % H:25,600 26,400 | 25,600 | 23,900
=E3TE (HE) | JAL JAL 23,700 65%  +:24,500, H:23800 23,700 65% 24,500, H:23.800 23,700 | 23,800 | 23,700
IMA=HE MAFE [RRCRE) | JAL JAL 25,300 59%  H:26,200 25,300 59% | H:26,200 25,300 | 26,200 | 25,300
HER (FE) | JAL JAL 25,500 59%  £:27.000, £:24,400. H:26.000 25,500 59%  %:27,000, £:24.400, H:26.000 27,000 | 26,000 | 25,500
IME=TEE IIMAFE CRE)| JAL JAL 23,500 63% % H:24,400 23,500 63% £ H:24,400 26,100 | 24,400 | 23,500
BE% CRE)| JAL JAL 23,500 63% % H:24,400 23,500 63% % H:24,400 25,200 | 24,400 | 23,500
IME=ER INAFE CRE)| JAL JAL 25,800 59% 27,500 25,800 59% £ H:27,500 27,500 | 27,500 | 25,800
EIE CRE)| JAL JAL 24,900 60% % H:27,100 ! 24,900 60% % H:27,100 . 27,100 | 27,100 | 24,900
A= IMAFE CRE) | JAL JAL 23,300 64% :25,900, +:23,800. H:26,100 23,300 64%  %:25,900, 1:23.800, H:26.100 25,900 | 26,100 | 23,300
BAR CRE)| JAL JAL 24,700 62%  %:26,800, £ H:26,400 24,700 62%  %:26,500, £ H:26.400 26,800 | 26,400 | 24,700




IR#RS528 EER(10A1B~25BEERS) JAL/JTA/JAC/RAG

SEEBAE :2014/6/24 ~ ARBENEA
N — .
R [E3:HUO) &t 10/1-9 g;;é i 10/15-25 ;%;2 % 10/10 | 10/12 | 10/14
RED | KEQ@ il -
M=#310 INAFE CRE) [ JAL JAL 25,600 61% :28,100, H:26.200 25,600 61% | £:28,100. H:26,200 28,100 | 27,800 | 25,600
ENITE CRE)| JAL JAL 25,800 61%  £:26,100, £:26,600. H:26.900 25,800 61% _ %:26,100, £:26.600, H:26.900 26,100 | 27,300 | 25,800
IMR=JLAM INAFE CRE) | JAL JAL 25,500 64% :27,200, H:26.400 25,500 64% | £:27,200, H:26,400 27,200 | 26,400 | 25,500
JEAMEE (FE) | JAL JAL 24,300 66%  £:26,800, £:25,100. H:25.900 24,300 66%  %:26,800, £:25.100, H:25.900 26,800 | 25,900 | 24,300
IME=K% IS (HE) [ JAL JAL 23,400 66% 23,400 66% < +:25,700, H:24,600 26,200 | 26,200 | 23,700
A% CRE)| JAL JAL 24,200 65% : 24,200 65% :24,400, £:25.100, £:25,500, H:26.600 26,600 | 26,600 | 24,700
M= IR CRE) | JAL JAL 23,400 68% : 23,700 68%  F £:24,100, £:25,400, H:25,800 27,800 | 26,600 | 25,100
RIG% (FE) | JAL JAL 24,200 67% : 24,200 67% | H:25,300. £:26.200. 1:25,900. H:26.600 27.400 | 27,400 | 26500
INA=FER IS (HE) [ JAL JAL 23,400 67% & 23,400 67% Hi: :
REASE CHE) | JAL JAL 24,200 66% A : 24,200 66% A
INA=E IS (HE)[ JAL JAL 23,400 67% A 1:23700, £:24,600, H:25,000 23,400 67% Ht:
B CRE)| JAL JAL 24,000 66% _ F:24,300, %:25400, £:25500, H:25.80( 24,000 66% A: . B:25.800 |
M=ERE IS (HE)[ JAL JAL 23,200 68%  A:23400, %:24,500, £:24.100, H:23.90( 23200 68% : . B:23,900
FIE) | JAL JAL 24,200 67%  F:24,500, % F:25400, 1:24,700 24,200 67% H:26.20
MA=EE )| _JTA [JTA/RAC 24,700 63% : 0 24,700 63%
) [JTA/RAC|_JTA 25,600 62 H:28,700 25,600 62%
MA=F1E )| JAL JTA 29,700 67% 200, H:30,400 29,700 67%
)| JTA_|JTA/RAC 4,800 66 4,800 66%
)| JTA JAL 8,800 68% 800 68%
) [JTA/RAC]_JTA 4,800 66% 4,800 66%
=2 ) JTA/RAC 5,400 58% 400 58%
) JTA 3,500 61% . 3,500 61%
=51 ) JTA/RAC 23,600 64%  £1:26,700 23,600 64%
) [JTA/RAC| JTA 25,400 61%  H:28,500 25,400 61%
JAC JAC 21,200 60%  £:22,100 21,200 60%
JAC JAC 21,200 60%  H:22,100 21,200 60%
W | EEASR | HKEE | JAC JAC 16,900 44% 16,900 44%
5imst ShkRER | JAC JAC 16,900 44% 16,900 44%
BEAB=AKRE| BEEABE S5k JAC JAC 15,900 52% 15,900 52%
X 55 JAC JAC 15,900 52% 15,900 52%
SRR =FF R EH) R[ER (BHE) [JAL/JTA]  JAL 30300 64% 31,100, £:29,600, H:31,600 29,900 65% 30,700, £:29,200. H:31,900
KER (B[ JAL JAL 29,200 65% 28,800, H:30,900 29,200 65% 28,800, H:30,900
BEHE  (RR(EE)| JAL [JAL/JTA 29,500 65% 34,400, £:31,200, H:30,300 28,600 66% 33,300, £:30,300. H:29.800
[RBR (D[ JAL JAL 27,600 67% 28,000, H:27.200 27,600 67% % 1:28,000, H:27.200
SRR (RER) ==IR |48 (BRE) [ BR CHE) [JAL/JTA]  JAL 29,400 65% 30,700 28,500 66%  H:30,600
R% FCRE) | JAL _|JAL/JTA 28,300 66% 29,500, H:29,200 27,100 68%  %:28,700, + H:28.300
SRR (FRER) =T | (E) R [RZECREA) [JAL/JTA[  JAL 29,200 63% 30,000, 1:28,600, H:30,500 28,400 64%  £:29,200, 1:27,800, H:30,400
RER(FFD [ JAL JAL 26,900 67% :26,500. H:28, 26,900 67% % 1:26,500, H:28,600
MEEX  [EmRGEE)|[ JAL [JAL/JTA 29,600 62% 34,300, +:32,200, H:30,000 28,300 64%  #:32,800, :30.900, H:29,100
RERFFD [ JAL JAL 25,300 68% 25,700, H:24,900 25,300 68% % +:25700. H:24.900
SRR (TR =7EB R (BB [ KREFEM | JAL JAL 31,700 62% :33,000 31,700 62% :33,000
] JTA JAL 32,600 62%  £1:33,700 32,600 62% % 1:33700
EEH% [KREEFD[ JAL JAL 30,100 64% %+ H:30,900 30100 64% %+ H:30,900
EHE] JAL JTA 32,900 62% % H:34,100. £:32,400 32,900 62% | % H:34,100, £:32,400
SR (IRER) =1LR |h#E (BDER) 5[ B (BHE) [JAL/JTA|  JAL 25,300 63%  H:26.600 24,400 65%  H:26,500
X JAL JAL 30,200 62%  £:33,300, H:34,600 30,200 62%  %:33,300, H:34.600
JAL _|[JAL/JTA 25,300 63% & 1:27.000. H:24.600 24,000 65% & +:25700. H:23,800
JAL JAL 28,600 64% 28,600 64%
R (RE) =1LE JAL JAL 22,600 71% 22,600 71%
JTA JAL 23,100 73% 23,100 73%
JAL JAL 21,800 72% 21,800 72%
JAL JTA 23,100 73% H:22,700 23,100 73%
TR (IR ER) = /ML |7 (RER) %[ 3m (HE) [JAL/JTA|_JAL 29,200 61% . £:28,400, H:30,800 28,400 62% . B:30,700
INAFE PIE) | JAL |JAL/JTA 28,000 63% :33,600. +:29,100, H:29,500 27,100 64% H:28,600
SPERE) =54 ME@BIE| & JTA JAC 27,500 56% :28,300, £:27,600. H:29.400 217,500 56% H:29.400
= 2 JAC JTA 25,900 58% H:27.100, £:27,200 25,900 58% 27,200
SRR (GIRER) =l hEE(RER) E| B JTA JAC 4,600 58%  £:26,300. £:24,700, H:23,900 4,600 58%  £:26,300, £:24,700, H:23,900
NI ] JAC JTA 3,500 60% 125,100, £ H:23.400 3,500 60% _ %:25,100, & H:23.400
RR(HB) =R |RRCHR)% | JAL [JAL/JAC 9,500 63 9,500 63%  +:19,900, H:18.900
H JAL JAC 9,000 61% 9,000 61% &1:19,900
[2I%% | KB (FFD[JAL/JAC]  JAL 8,700 64 8,700 64%  H:18,900
H JAC JAL 9,600 60% 9,600 60%  H:20,500
RRCHA) =BEX S| Fn CRA) % JAL JAC 27,200 63 27,200 63% % 1+:27,600. H:27.000
JAL JAL 34,800 51% 34,800 51
BEXBR JAC JAL 26,700 64 26.700 64%
JAL JAL 33,900 52% 33,900 52
R (PR =ERE(RRAE) X _ER JAL JAC 29,500 60 29,500 60% % +:30,800
BEXE | JAL JAC 35,500 45% 35,100 46%
ERBR R JAC JAL 29,500 60% A%+ H:29.900 29,500 60%  H%1:29,900. H:30.800
BEXE | JAC JAL 35,500 45% 35,100 46%
R (P =EZE(RRAE) %[ _ER JAL JAC 30,500 61% % 1:31,800. H:30,900 30,500 61% % 1:31,800. H:30,900
BEXE | UAL JAC 38,000 45% 37,600 46%
BEBR IR JAC JAL 30,300 61%  £:30,700. H:30,900 30,300 61%  £:30,700. H:31,200
BEXE | JAC JAL 38,000 45% 37,600 46%
R (AE) =4 kRH[HRCARA) K| ER JAL JAC 31,400 60% % 1:31,800. H:31,300 31,400 60% | %+:31,800. H:31,300
Pk RERSE | _EER JAC JAL 31,400 60% A&+ H:31.800 31,400 60% A% +:31,800, H:32.700
\WEKE | JAC JAL 40,100 45% 39,700 46%
RR(PUB) =5# [RECHR) %] ER JAL JAC 31,900 61% | % +:32,300, H:31,700 31,900 61% % +:32,300, H:31,700
ER% ERE JAC JAL 31,900 61% A2+ H:32.300 31,900 61% | H%+:32,300, H:33200
BEEXE | JAC JAL 41,900 45% 41,500 46%
KR (B =BEXE[XIR(FH %] ER JAL JAC 24,700 59%  ©1:25,200. H:24.800 24,700 59% % +:25200, H:24.800
BEABR | BER JAC JAL 26,000 57%  +:25.200. H:26,600 26,000 57% _ +:25.200, H:26.600
KR (B =ERE| Xk (FHE[_ER JAL JAC 27,000 55% % H:27.500 27,000 55% % H:27,500
BEXE | JAL JAC 30,500 43% 30,500 43%
ERBR BERE JAC JAL 29,300 51%  +:27.500 29,300 51%  +:27,500
BEXE | JAC JAL 30,500 43% 30,500 43%
KR (B =BZB| Xk (B % _ERE JAL JAC 28,000 57% £ 1:28,500. H:29.000 28,000 57% | %1:28,500. H:29,000
BEXE | JAL JAC 33,000 43% 33,000 43%
[-FA-t ERE JAC JAL 28,100 57%  £:30,100, H:29.600 28,100 57% | £:30,100. H:29,600
BEXE | JAC JAL 33,000 43% 33,000 43%
KR () =k RE [ KR (FFD | ER JAL JAC 29,900 54% 31,200, £:31,100, H:29,400 29,900 54% 31,200, £:31,100, H:29,400
ik RERSE R JAC JAL 31,100 53% 29,400, H:31,200 31,100 53% 29,400, H:31,200
KRB =55 [KR (B FE[ ER JAL JAC 30,400 55% £:31,700, H:29.900 30,400 55% +:31,700, H:29.900
B@m% i3 JAC JAL 31,700 53% 29,900 31,700 53% 29,900




rEMENZI28 1 EER(10A1H~25BEFES)

JAL/JTA/JAC/RAC

EEEAE 2014/6/24 ~ HRBIESNEA
N — .
R [E3:HUO) &t 10/1-9 g;;é i 10/15-25 g;i % 10/10 | 10/12 | 10/14
RED | KEQ@ il -
BE=EXXE FeIRES BERE JAC JAC 20,600 60% +H:17.900 20,600 60% £ H:17,900 20,600 20,600
BEABR R JAC JAC 22,800 56% |+ H:20.100 22,800 56%  + H:20,100 22,800 22,800
BHR=ERB BEX ERE JAC JAC 25,100 50% -+ H:22,400 25,100 50% & H:22,400 25,100 25,100
BEKE | JAC JAC 20,800 58% 20,800 58% 20,800 20,800
ERBE ERE JAC JAC 24,600 51%  +H:21,900 24,600 51%  +H:21,900 24,600 24,600
BEKE | JAC JAC 20,800 58% 20,800 58% 20,800 20,800
BE=EZ5 [HEES ERE JAC JAC 26,100 53% |+ H:23,400 26,100 53%  + H:23,400 26,100 26,100
BEKE | JAC JAC 23,300 56% 23,300 56% 23,300 23,300
R BER JAC JAC 25,400 54%  + H:22,400 25,400 54%  + H:22,400 25,400 25,400
BEKE | JAC JAC 23,300 56% 23,300 56% 23,30 23,300
1akE =Pk RE FHEES BR JAC JAC 27,000 52%  + H:24,300 27,000 52% _ + H:24,300 27,001 27,000
ik RERRE R JAC JAC 26,500 53% |+ H:23.800 26,500 53%  + H:23,800 2650 26.500
EXKXE [ JAC JAC 25,400 56% 25,400 56% 25,401 25400
1EfE =55 BER JAC JAC 27,500 53% | 1+ H:24.800 27500 53%  + H:24,800 27,50 27,500
5imse ER JAC JAC 27,500 53% -+ H:24,800 27,500 53%  + H:24,800 27,50 27,500
EEKS | JAC JAC 27,200 55% 27,200 55% 27,200 | —— [ 27.200
RECHR) =5RE[XRCAE) %[ R\ JTA RAC 25,900 66% 1:28,900 25,100 67% 1:28,100 28,900 | 25,900 | 32,300
EMER [FRGRE) [ RAC [JAL/JTA 29,600 64% _ H:30,900 28,700 65% | H:30,800 29,600 | 31,500 | 28,700
HiE RAC JTA 25,000 67% 28,100 25,000 67% 28,100 25,000 | 31,100 | 30,200
Rz (B =5ME| 5MEFE [P#FEBE [ RAC JAL 26.300 65%  H:29.000 26,300 65% 29,000 26,300 | 29,400 | 26.300
KB (BFE) =5 3E | KPR (BAF@) %  FHiE JTA RAC 27,900 57% 4 1:30.800. H:27,700 27,900 57% % +:30,800, H:27.700 30,800 | 29,70 7,900
EMEH [HHEGRH| RAC JTA 26,300 65%  H:29,000 26,300 65% | H:29,000 26,300 | 29,400 | 26,300
HiE RAC JTA 27,900 57%  H:31,800 27,900 57%  H:31,800 27,900 | 33,800 | 27,900
AEHE(PH) =50E] SPER [FRGEH)| RAC JTA 29,700 63%  £:30,100, £:28,000. H:31.900 29,700 63% _ %:30,100, £:28,000, H:31,900 30,100 | 31,900 | 29,700
18k = 5 HE 5 ARE 5 RAC JTA 25,200 63%  £:26,000, H:26,200 25,200 63%  £:26,000, H:26,200 26,000 | 26,200 | 25.200
R () =5 E [ L8 % JTA/RAC|_RAC 11,700 69% 11,700 69% 13,000 | 13,000 | 11,700
SHMEFE RAC [JTA/RAC 11,700 69% 11,700 69% 13,000 | 13,000 | 11.700
R (PE) =AXKE[ER(HA) & JAL/JTA[JTA/RAC 22,900 62% % 1:24,600. H:22,700 21,600 64% % +:23300. H:21,800 24,500 | 22,400 | 21,600
AKBFE JTA/RAC[JAL/JTA 23,700 61% 4 22,900 62% 23,700 | 24,800 | 22,900
KR (B = Ak B[ XIR () % JAL _|JTA/RAC 20,400 62% % 20,400 62% 22,700 | 21,000 | 20,400
AKBFE JTA/RAC|__JAL 19,600 63% 19,600 63% 19,600 | 22,700 | 19,600
KR (B) = Ak B[ Xk (BEAF) % JTA__|[JTA/RAC 20,400 62% 20,400 62% 22,700 | 21,000 | 20,400
AKBF JTA/RAC|_JTA 19,600 63% 19,600 63% 19,600 | 22,700 | 19,600
ZEE (D) = RB[RHE (PH) % JTA_|[JTA/RAC 22,000 62% 21,500 63% 23,500 | 23,100 | 21,500
AKBSE JTA/RAC|_JTA 22,500 62% 22,000 62% 22,500 | 25,200 | 22,000
BE=AXE E3 MEBB | JTA [JTA/RAC 18,600 59% 4 18,600 59% 4 19,300 | 18,100 | 18,600
B (FF) [JTA/RAC]  UTA 18,500 60% £ H:19,500, +:18,600 18,500 60% £ H:19,500, +:18,600 19,500 | 20,000 | 18,500




[EE517 EER(OA1B~10A258E%FS)

EE#EAR 2014/6/24 ~ MBI EA

BERM 9/1-12,9/16- | BEH

X #aud frmiiiied wE
RO T KED 10/10,10/14-25 | E|B|%
HRCHA) =% RHECHEA) F 48 (IRER) JAL | JTA/RAC 37,000 42%
=T o8 (ARZR) [ JTA/RAC JAL 37,000 42%
RRECHA)=FE RECHA) F Pi8 (IRER) JAL | JTA/RAC 37,300 46%
KBz (BEFE) JAL JTA 37,300 50%
RiEH SPEE(RZ;) [ JUTA/RAC|  JAL 37,300 46%
KR (71 =X &5l KB () 5 EGACELED) JAL JAL 34,900 51%
#LIE R TR JAL JAL 34,900 50%
ESEIES R CRIA) JAL JAL 34,900 51%
#LIE G %) JAL JAL 34,900 50%
KR (BE7E) =% Al PNUAGEESES EGACELED) JAL JAL 34,900 51%
#LIE G T %) JAL JAL 34,900 50%
ESHES EGACELED) JAL JAL 34,900 51%
#LIE T %) JAL JAL 34,900 50%
KB (£ =hel KB (75 F EGACELD) JAL JAL 27,300 61%
JENIE:3 HRECHH) JAL JAL 27,300 61%
KB (BEE#R) =he)l pNIAGEEIES EGACELED) JAL JAL 27,300 61%
JENIE:3 HRECHE) JAL JAL 27,300 61%
KR () =8I3% KB (R F HFCAMA) JAL JAL 34,700 50%
S % 58 R (PE) JAL JAL 34,700 50%
K (B#E) = 8% NG EDES B JAL JAL 34,700 50%
S 2% 38 B JAL JAL 34,700 50%
KR (FFH) =% A KRR (R F B JAL JAL 31,200 54%
IL % B JAL JAL 31,200 54%
Kk (B#E) =% A NG EDES JAL JAL 31,200 54%
L% B JAL JAL 31,200 54%
KB (FFH) =g ABERGFFDHE | HRERCHE) JAL JAL 34,900 42%
EEER EVd (22 H) JAL JAL 34,900 42%
KRk (B#8) =EE B JAL JAL 34,900 42%
= JAL JAL 34,900 42%
KR (FFH ==iR KB (FHD) ﬁa(zm) JAL JAL 31,100 47%
SR RHECHEA) JAL JAL 31,100 47%
Kk (B#E) ==iR NG EDES EGACRL:D) JAL JAL 31,100 47%
=R RECHEA) JAL JAL 31,100 47%
KR () =12k KBR (FF) 5 HE JAC JAC 20,100 43%
=TS HE JAC JAC 20,100 43%
KR (RFH) =FF 5 KBR (FFH) 5 ERS JAL JAC 31,900 28%
BYER ERE JAC JAL 31,900 28%
KR (FFH =52% xrﬁ (ﬁiF}) F* P8 (ARER) JAL JTA/RAC 35,400 37%
P48 (FBFR) | JTA/RAC JAL 35,400 37%
Kk () ==& jcrﬂi (Eﬁﬁ) F* 8 (ARER) JTA JTA/RAC 35,400 37%
SPEE (%) [ JTA/RAC JTA 35,400 37%
KR (FFH =F1E jcrﬂi <1¥F}> F* 8 (ARER) JAL JTA/RAC 33,700 46%
RiE% SPEBGIRER) | JTA/RAC|  JAL 33,700 46%
Kk (Bd8) =H1E NG EDES 8 (ARER) JTA JTA/RAC 33,700 46%
RIEE SPf8 (%) [ JTA/RAC JTA 33,700 46%
£2HE(PE) =xiE3 [ BEE(RE) R | ARGTFR) JAL JAL 32,800 50%
i Al 5 FLIR (BT %) JAL JAL 32,800 50%
£2EER (P =20 | BEEFEFE | P GEH) JTA JTA/RAC 36,200 41%
BEOH SPE8 (BBF) [ JTA/RAC JTA 36,200 41%
2R (PE)=h1E | BEEFEFE | P GEH) JTA JTA/RAC 34,800 48%
RIEH P4 (FBFR) | JTA/RAC JTA 34,800 48%
AR (B Fm) =/ [ ARG TR % | BRECHHE) JAL JAL 26,500 57%
IMAFE BUR (CHH) JAL JAL 26,500 57%
LR (FF%) =mitBE| ARG TR E | RECIH) JAL JAL 32,200 54%
=k EGACRL:D) JAL JAL 32,200 54%
AR (I F) =L [ ARG % | HRECHH) JAL JAL 32,200 55%
EIE:S EGACRL:D) JAL JAL 32,200 55%
LIREFTFR)=LEE | AREGTFHH | RRERCHH) JAL JAL 33,000 54%
LE% HECRA) JAL JAL 33,000 54%
IR EFTR) = ILOFH| FRGTFR)E | ZRCHAH) JAL JAL 34,600 55%
eSS BR (CHH) JAL JAL 34,600 55%
IR TR =HE #Lﬁ(%ﬁ%‘{&)% EGACELED) JAL JAL 30,900 56%
EGACRL:D) JAL JAL 30,900 56%
LR TR =85 #Lﬁ(%ﬁ%fs’;)&é R CREA) JAL JAL 32,100 55%
mE % R CRIA) JAL JAL 32,100 55%
LR TR =2 | AL (%ﬁ%r‘{&) % | WRECHH) JAL JAL 32,900 53%
AT ESACELED) JAL JAL 32,900 53%
IR TR =24 #Lﬁ(%ﬁ%‘{&)% R CRMA) JAL JAL 34,100 53%
ISRk EGACELED) JAL JAL 34,100 53%
MIRGTFR) =0l | ARG TR % | RRECHH) JAL JAL 36,000 51%
NI EGACELED) JAL JAL 36,000 51%
AR FFm) =dthm | AREFFFTR)HK | RFECHA) JAL JAL 34,600 56%
JEh IS EGACELED) JAL JAL 34,600 56%
LIREFFR) =K | ARGTFH R | RRECHH) JAL JAL 34,600 55%
P EGACELED) JAL JAL 34,600 55%
LIRGEFFR) =G | ARGTFH R | RRECHH) JAL JAL 36,200 55%
RIS HR CRIA) JAL JAL 36,200 55%
IR Fm) =X | AMRGHTR) R | RRECHH) JAL JAL 35,400 55%
AR HFECRMA) JAL JAL 35,400 55%
IREEGTE) —a8 | ARGIe % | sm(hE JAL JAL 36,200 54%
=I5 EGACRLE) JAL JAL 36,200 54%
IR FFR)=ERS *Lﬁ(%ﬁﬁ%‘&)% HFECAMA) JAL JAL 40,300 50%
[ HRECHE) JAL JAL 40,300 50%

JAL/JTA/JAC/RAC



[EE517 EER(OA1B~10A258E%FS)

EE#EAR 2014/6/24 ~ MBI EA
BERM 9/1-12,9/16- | BEH
=45 #aud B | wE
X0 T K@D 10/10,10/14-25 | E|B|%
HIR FFR) =R @B | ARG TS % | mECHE) JAL JAL 41,500 50%
KB (BE#E) JAL JTA 41,500 51%
252 (PE) JAL JTA 41,500 51%
2@ JAL JTA 41,500 53%
EEIEFES R CRMA) JAL JAL 41,500 50%
KB (BE#E) JTA JAL 41,500 51%
ZHE (PEL) JTA JAL 41,500 51%
12 E JTA JAL 41,500 53%
IR FR)=FE | ARGTFH R | RRCHH) JAL JTA 51,000 48%
RIEH EGACELED) JTA JAL 51,000 48%
&R =% Rl FEEES HFCRMA) JAL JAL 40,900 53%
#LIE G T %) JAL JAL 40,900 50%
ESHES EGACELED) JAL JAL 40,900 53%
#LIE T %) JAL JAL 40,900 50%
FEES ] [ 5 R CAMA) JAL JAL 36,700 57%
JENIE:3 HRECHE) JAL JAL 36,700 57%
2 = HI % [ 58 RHFECAMA) JAL JAL 36,200 57%
% 58 HRECHE) JAL JAL 36,200 57%
[EEEETN e[ 58 HFECAMA) JAL JAL 35,800 57%
wIL % HRECHE) JAL JAL 35,800 57%
(RS FEEES RHFECRMA) JAL JAL 40,600 47%
KRR (FFF1) JAL JAL 40,600 40%
S HRECHE) JAL JAL 40,600 47%
KRR (FFF1) JAL JAL 40,600 40%
BE=F% FEEES RFECRMA) JAL JAL 40,500 46%
KRR (FFF1) JAL JAL 40,500 38%
EHR HRECHE) JAL JAL 40,500 46%
KRR (FFF1) JAL JAL 40,500 38%
RBE==R FEES RECHEA) JAL JAL 40,100 46%
KRR (FFF1) JAL JAL 40,100 40%
=ZR% RHECHEA) JAL JAL 40,100 46%
ABR (FFFH JAL JAL 40,100 40%
1Ef =165 12 F KRR (FFF1H JAL JAL 39,700 38%
EEE KRR (FFF1) JAL JAL 39,700 38%
&R =FE FEES RECHEA) JAL JAL 34,900 49%
ABR (FFF1) JAL JAL 34,900 43%
PREES RECHEA) JAL JAL 34,900 49%
KRR (FFF1) JAL JAL 34,900 43%
2R = Lz EEES RECHEA) JAL JAL 30,400 49%
ABR (FFF1) JAL JAL 30,400 50%
ig:Z:3 RECHEA) JAL JAL 30,400 49%
KRR (FFH) JAL JAL 30,400 50%
2R =#im 12 F KRR (FFFH JAL JAL 25,200 56%
FRE ABR (#F}) JAL JAL 25,200 56%
[EFEUSA 12 F RECHEH) JAL JAL 26,700 59%
IMAF BR CHH) JAL JAL 26,700 59%
B == 12 F 8 (ARER) JTA JTA/RAC 32,100 34%
2o SPE8 (FBF) [ JTA/RAC JTA 32,100 34%
fBRE=R1E 12 F 8 (ARER) JTA JTA/RAC 34,900 36%
RIEH h$8 (IBEE) | JTA/RAC JTA 34,900 36%
Zimpl=1e% i Al 5 LR BT i=%) JAL JAL 24,600 53%
EEHE LR BT i=%) JAL JAL 24,600 53%
Ziaml=l& i Al 5 LR BT %) JAL JAL 25,100 55%
=3 LR B T %) JAL JAL 25,100 55%
il =R i Al 5 LR (BT %) JAL JAL 26,300 54%
EFE LR (BT %) JAL JAL 26,300 54%
i B =/ R i Al 5 BUR CHH) JAL JAL 33,600 52%
IMAFE BR (CHH) JAL JAL 33,600 52%
iRl =maic 2R EACEES EGACELED) JAL JAL 37,000 53%
25w Bl = el Bl 5 BUR CHH) JAL JAL 37,000 54%
] (LI ¢ BUR CHH) JAL JAL 37,000 54%
TR =1L5 3RS BUR (CHH) JAL JAL 39,300 51%
ALIR (BT R%) JAL JAL 39,300 48%
NEES EGACRLED) JAL JAL 39,300 51%
IR TR JAL JAL 39,300 48%
ZiGA=HE Sk EGACELED) JAL JAL 35,700 54%
HESR EGACELED) JAL JAL 35,700 54%
iR =0 KBl EGACELED) JAL JAL 40,700 50%
[NIIE: EGACELED) JAL JAL 40,700 50%
XiGnl=RiE LIRS EGACELED) JAL JTA 57,300 46%
RiEH EGACEL:D) JTA JAL 57,300 46%
JEJI =/ JBJIFE EGACELED) JAL JAL 29,800 57%
IMAF EGACELED) JAL JAL 29,800 57%
B =Fait BE NI EGACELED) JAL JAL 37,000 52%
iR R CRMA) JAL JAL 37,000 52%
TBI=MEWW JENIE:S R CRMA) JAL JAL 37,000 53%
EIIES EGACELED) JAL JAL 37,000 53%
BI=HE JENES R CRMA) JAL JAL 35,700 53%
HEH HFCRMA) JAL JAL 35,700 53%
HBJI=#x11 JENIE:3 EGACELED) JAL JAL 40,700 49%
[NIIE: EGACELED) JAL JAL 40,700 49%
BINI=FH1E JENIE:3 EGACELED) JAL JTA 53,200 49%
HIEH EGACELED) JTA JAL 53,200 49%
IR =/ SR F HRECHE) JAL JAL 33,600 51%
IMAF HRECHE) JAL JAL 33,600 51%
R =mcRE FE s R CRMA) JAL JAL 37,000 51%
Elsl=ha.a HRECHE) JAL JAL 37,000 51%
$IR% =R FE s HFCAMA) JAL JAL 36,200 53%
EIES HRECHE) JAL JAL 36,200 53%

JAL/JTA/JAC/RAC
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X0 T K@D 10/10,10/14-25 | E|B|%
SR =155 $2% 58 EGACELED) JAL JAL 39,300 50%
LE% EGACELED) JAL JAL 39,300 50%
Sl =HE $% 58 EGACELED) JAL JAL 35,700 53%
B EGACELED) JAL JAL 35,700 53%
g =410 SR F R CRMA) JAL JAL 40,700 49%
[ANIIE: FRCRIA) JAL JAL 40,700 49%
flix="H1E SR F R CRMA) JAL JTA 56,500 46%
HiEH EGACELD) JTA JAL 56,500 46%
IR = LT EGACELED) JAL JAL 31,200 54%
IMAF EGACELD) JAL JAL 31,200 54%
HLh=raltak i1 36 R CAMA) JAL JAL 37,000 51%
Eisl=had EGACRLE) JAL JAL 37,000 51%
HIE=REl L% R CHA) JAL JAL 37,000 52%
IS EGACELED) JAL JAL 37,000 52%
Hh=HE HILFE EGACELED) JAL JAL 35,700 53%
HE HRECHE) JAL JAL 35,700 53%
HIL=#1 SILF R CAMA) JAL JAL 40,700 48%
NITES HRECHE) JAL JAL 40,700 48%
Hh=HR1E = L% HFCAMA) JAL JTA 55,700 46%
RIEH HRECHE) JTA JAL 55,700 46%
BEE=/ BEES HRECHE) JAL JAL 27,600 54%
IMAF HRECHEH) JAL JAL 27,600 54%
EfE=Fi HE Eisl=h.a RRECAMA) JAL JAL 35,900 47%
EEE=M L EREES R CAMA) JAL JAL 35,900 48%
] LLI IR CHA) JAL JAL 35,900 48%
EEE=L5 EEES R CAMA) JAL JAL 38,800 44%
LE% HRECHE) JAL JAL 38,800 44%
EEE=HE S RHECRMA) JAL JAL 34,700 49%
KRR (FFF1) JAL JAC 34,700 47%
HER RHECHEA) JAL JAL 34,700 49%
ABR (FF1) JAC JAL 34,700 47%
EEE=#10 HEER RHECHEA) JAL JAL 38,600 46%
KRR (FFF1) JAL JAL 38,600 38%
FEAITE RECHEA) JAL JAL 38,600 46%
KRR (FFF1) JAL JAL 38,600 38%
EEE=dt M R RECHA) JAL JAL 28,100 63%
ElZNLE: RECHEA) JAL JAL 28,100 63%
HEE=K5 HEER RECHEA) JAL JAL 33,300 56%
KBR (FFF1) JAL JAL 33,300 49%
ADFE RECHEA) JAL JAL 33,300 56%
EEE=RIE HEER BIR CHHE) JAL JAL 34,600 56%
ABR (1) JAL JAL 34,600 52%
RIBHE BR CHHE) JAL JAL 34,600 56%
KBR (1) JAL JAL 34,600 52%
EEE=HEX HEER RECHEA) JAL JAL 34,600 55%
KRR (1) JAL JAL 34,600 51%
REARRE RECHEA) JAL JAL 34,600 55%
KBR (1) JAL JAL 34,600 51%
EEE IR BR CHH) JAL JAL 34,600 55%
KBR (1) JAL JAL 34,600 51%
E:ES RECHEA) JAL JAL 34,600 55%
ABR (#F1) JAL JAL 34,600 51%
HEE=ER BEES R CHEH) JAL JAL 35,400 55%
KBR (1) JAL JAL 35,400 52%
BEREH R CRA) JAL JAL 35,400 55%
ABR (1) JAL JAL 35,400 52%
EfE=HR1E EREEF BUR (CHH) JAL JTA 49,400 49%
Aia% R CREA) JTA JAL 49,400 49%
HiHR=/I B EGACELED) JAL JAL 26,300 55%
I FE R CREA) JAL JAL 26,300 55%
BEHR=mRLAE B R CHEH) JAL JAL 29,600 55%
Hi RS R CREA) JAL JAL 29,600 55%
HEHR=EL RS EGACELED) JAL JAL 29,600 56%
EIIES BUR CHH) JAL JAL 29,600 56%
EHR=IL5 B EGACELED) JAL JAL 30,400 56%
LE% EGACELED) JAL JAL 30,400 56%
EF=LOFH EHRR R CRMA) JAL JAL 32,100 56%
I=ES 3 EGACELED) JAL JAL 32,100 56%
EHR=HE EHRR EGACELED) JAL JAL 29,600 55%
ABR (1) JAL JAC 29,600 53%
HEH EGACELED) JAL JAL 29,600 55%
KB (1) JAC JAL 29,600 53%
EHR=05 B EGACELED) JAL JAL 31,500 53%
EE% FRCRA) JAL JAL 31,500 53%
EH=mi EaE R CRMA) JAL JAL 29,600 56%
SFE FR CRIA) JAL JAL 29,600 56%
EHxR=m B R CRMA) JAL JAL 30,400 56%
SEF FR CRIA) JAL JAL 30,400 56%
HFEHR=1 AR R CRMA) JAL JAL 30,400 56%
KR (1) JAL JAL 30,400 49%
[ATIES R CHA) JAL JAL 30,400 56%
KBx (751 JAL JAL 30,400 49%
BEHE=dtAM EHR HRECHE) JAL JAL 32,100 57%
BB HRECHE) JAL JAL 32,100 57%
FEHR=K2 EHR RHFECRMA) JAL JAL 32,100 56%
KR (1) JAL JAL 32,100 49%
KAHF HIE CHHEA) JAL JAL 32,100 56%
KRR (FFF1) JAL JAL 32,100 49%
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EHR=R& EHR EGACELED) JAL JAL 34,600 55%
RBR (751 JAL JAL 34,600 51%
RIGS FRCRA) JAL JAL 34,600 55%
KB (1) JAL JAL 34,600 51%
EHR=EX EHR EGACELED) JAL JAL 33,300 56%
KB (1) JAL JAL 33,300 51%
X3 R CRA) JAL JAL 33,300 56%
KBR (1) JAL JAL 33,300 51%
EHR=E% EHR EGACELED) JAL JAL 33,300 56%
KB (1) JAL JAL 33,300 51%
EEES R CRMA) JAL JAL 33,300 56%
KR (1) JAL JAL 33,300 51%
BEHR=-ERE EHR HFECRMA) JAL JAL 34,600 55%
KR (1) JAL JAL 34,600 51%
BREX HRECHE) JAL JAL 34,600 55%
KBx (75 JAL JAL 34,600 51%
EH=RE EHRR RHFECAMA) JAL JTA 48,100 49%
RiEH HRECHE) JTA JAL 48,100 49%
SiR=/# =iR%E HRECHE) JAL JAL 26,300 54%
IMAF HRECHE) JAL JAL 26,300 54%
ZiR=mktak =iR%E HRECHE) JAL JAL 29,600 55%
Elsl=had HRECHE) JAL JAL 29,600 55%
ZiR=[ =iR% HRECHEH) JAL JAL 29,600 56%
IS HR CHA) JAL JAL 29,600 56%
ZR=ILK5 =R IR CHHA) JAL JAL 30,400 55%
LE% = CRH) JAL JAL 30,400 55%
ZR=110OFH ZiR%E IR CHHA) JAL JAL 32,100 55%
I=EXE3 EGACETE:D) JAL JAL 32,100 55%
ZR=HEZE =R% RHECHEA) JAL JAL 29,600 55%
KRR (FFF1) JAL JAC 29,600 54%
HE RHECHEA) JAL JAL 29,600 55%
ABR (FFF1) JAC JAL 29,600 54%
ZIR=%5 R CRMA) JAL JAL 31,000 53%
RECHEA) JAL JAL 31,000 53%
ZiR=ah = CHH) JAL JAL 29,600 55%
EGACRL:D) JAL JAL 29,600 55%
ZiR=1a%H RECHEA) JAL JAL 29,600 57%
R CRMA) JAL JAL 29,600 57%
ZiR=#1l RECHEA) JAL JAL 30,400 56%
KRR (FFF1) JAL JAL 30,400 50%
PEAITES RECHEA) JAL JAL 30,400 56%
ABR (1) JAL JAL 30,400 50%
ZiR=dtnM = RECHEA) JAL JAL 32,100 57%
EZRE: RECHEA) JAL JAL 32,100 57%
ZR=X% =R RECHEA) JAL JAL 32,100 56%
ABR (FFF1) JAL JAL 32,100 50%
ADHE EGACRL:D) JAL JAL 32,100 56%
ZR=RI& =R BOR CHHE) JAL JAL 34,600 55%
KBR (FFF1) JAL JAL 34,600 51%
RIGHE BUR CHH) JAL JAL 34,600 55%
ABR (1) JAL JAL 34,600 51%
ZIR=8EX =R BUR CHH) JAL JAL 33,300 55%
KBR (1) JAL JAL 33,300 52%
RBARR EGACER:D) JAL JAL 33,300 55%
KRR (1) JAL JAL 33,300 52%
ZR=EI& =R BUR CHH) JAL JAL 33,300 55%
ABR (1) JAL JAL 33,300 52%
E:ES RECHH) JAL JAL 33,300 55%
KBR (1) JAL JAL 33,300 52%
ZR=ERE ZiR% R CHH) JAL JAL 34,600 55%
ABR (#F1) JAL JAL 34,600 52%
BEREH EGACELED) JAL JAL 34,600 55%
ABR (#F1) JAL JAL 34,600 52%
ZiR=R1#E =iR% BUR (CHH) JAL JTA 48,100 49%
RIEH EGACELED) JTA JAL 48,100 49%
FE=/ ML EF EGACELED) JAL JAL 25,500 51%
INERFE EGACELED) JAL JAL 25,500 51%
MH=FLEE =K EGACELED) JAL JAL 26,300 56%
i EESR EGACELED) JAL JAL 26,300 56%
FE=FRL =K EGACELED) JAL JAL 26,300 57%
EIES EGACEL:D) JAL JAL 26,300 57%
MHEA=L5 RS EGACELED) JAL JAL 28,000 55%
LE% EGACELED) JAL JAL 28,000 55%
E=LOFF REES FRCRIA) JAL JAL 30,400 54%
I=ESE3 EGACELED) JAL JAL 30,400 54%
ME=HE FEF EGACELED) JAL JAL 26,300 56%
KBR (1) JAL JAC 26,300 55%
HE EGACELED) JAL JAL 26,300 56%
KB (1) JAC JAL 26,300 55%
ME=E5 FUEFE EGACELED) JAL JAL 26,300 57%
e EGACRLE) JAL JAL 26,300 57%
ME=2% A=ES EGACELED) JAL JAL 28,000 54%
SFE HRECHE) JAL JAL 28,000 54%
ME=54%0 A=ES EGACELED) JAL JAL 28,000 55%
EEFE HRECHE) JAL JAL 28,000 55%
FE=IL RS HRECHE) JAL JAL 29,600 53%
KRR (FFF1) JAL JAL 29,600 47%
PNIIE S HRECHE) JAL JAL 29,600 53%
KRR (FFF1) JAL JAL 29,600 47%

JAL/JTA/JAC/RAC
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FE=JthM FREF FR CRIA) JAL JAL 30,400 56%
EZINLE. EGACELED) JAL JAL 30,400 56%
ME=X% PREES FRCRA) JAL JAL 30,400 55%
KRR (1) JAL JAL 30,400 48%
P EGACELED) JAL JAL 30,400 55%
KB (1) JAL JAL 30,400 48%
MHA=RI& PREES EGACELED) JAL JAL 32,100 55%
KB (1) JAL JAL 32,100 51%
RIS FR CRA) JAL JAL 32,100 55%
KR (1) JAL JAL 32,100 51%
FHE=FEX A=ES EGACRLED) JAL JAL 32,100 53%
X3 HRECHE) JAL JAL 32,100 53%
KR (1) JAL JAL 32,100 49%
ME==1 PREE3 HRECHE) JAL JAL 32,100 53%
KR (1) JAL JAL 32,100 49%
EEES HRECHE) JAL JAL 32,100 53%
KR (FF1) JAL JAL 32,100 49%
ME=FERS RS HRCHE) JAL JAL 33,300 53%
KRR (FFF1) JAL JAL 33,300 50%
BREX HRCHE) JAL JAL 33,300 53%
KRR (FFF1) JAL JAL 33,300 50%
MHE=FHE A=ES HRECHE) JAL JTA 40,400 54%
HIEH IR CHHA) JTA JAL 40,400 54%
EE=HE EER KRR (FFF1) JAL JAC 29,100 52%
HER KRR FF1) JAC JAL 29,100 52%
S =1l EEE KRR (FFF1) JAL JAL 29,900 49%
[NIIE:] XBR (FFF1 JAL JAL 29,900 49%
EE=X5 EEE KRR (FFF1) JAL JAL 31,600 48%
ADE KRR (FFH JAL JAL 31,600 48%
EE=RIK EEE KRR (FFF1) JAL JAL 34,000 50%
RIGHE KRR (FFF1H JAL JAL 34,000 50%
TEE=FEX EEE KRR (FFF1) JAL JAL 32,800 50%
REAE KRR (FFF1) JAL JAL 32,800 50%
EE=2F EER KRR (FFF1) JAL JAL 32,800 50%
[ JAL JAC 32,800 55%
EEES KRR (FFF1) JAL JAL 32,800 50%
[ JAC JAL 32,800 55%
EE=ERS EEE KRR (FFFH JAL JAL 34,000 51%
BREX ABR (1) JAL JAL 34,000 51%
L=/ 2 iz RECHHA) JAL JAL 24,400 44%
IR FE RECHHA) JAL JAL 24,400 44%
iRz =FRLl IRz 5 RECHHA) JAL JAL 25,500 51%
e LLI RECHEA) JAL JAL 25,500 51%
AN IR 5 RECHEA) JAL JAL 27,900 48%
LE% R CRMA) JAL JAL 27,900 48%
I s E S iRz 5 BIR CHH) JAL JAL 29,600 49%
WO FERF BIR CHHE) JAL JAL 29,600 49%
i =H= [ig:Z:3 BR CHHE) JAL JAL 27,900 45%
KBR (1) JAL JAC 27,900 51%
HER RECHEA) JAL JAL 27,900 45%
KBR (1) JAC JAL 27,900 51%
=18 23 EGACEL)) JAL JAL 26,500 49%
EE % R CRA) JAL JAL 26,500 49%
Wi = 23 EGACR:D) JAL JAL 25,500 51%
S BR CHH) JAL JAL 25,500 51%
Wi =%=4%0 N3 BUR (CHH) JAL JAL 26,300 51%
S EGACEL:D) JAL JAL 26,300 51%
Wiz =210l %3 BUR CHH) JAL JAL 26,300 52%
ABR (1) JAL JAL 26,300 52%
PNTIES] BUR CHH) JAL JAL 26,300 52%
ABR (#F1) JAL JAL 26,300 52%
WLz =3t i 3 EGACELED) JAL JAL 30,400 49%
EZILE EGACELED) JAL JAL 30,400 49%
W =X% i3 EGACELED) JAL JAL 29,600 49%
ABR (1) JAL JAL 29,600 48%
K55 R CRA) JAL JAL 29,600 49%
KBR (1) JAL JAL 29,600 48%
W =R 23 R CHEH) JAL JAL 32,100 48%
KBR (75 JAL JAL 32,100 50%
RIGS FRCRA) JAL JAL 32,100 48%
KRR (1) JAL JAL 32,100 50%
IfE=HKER i3 R CRMA) JAL JAL 30,400 49%
KB (1) JAL JAL 30,400 51%
X3 FECRA) JAL JAL 30,400 49%
KBR (1) JAL JAL 30,400 51%
W == 23 EGACELED) JAL JAL 30,400 49%
KBR (1) JAL JAL 30,400 51%
=EE FRCRA) JAL JAL 30,400 49%
KBR (1) JAL JAL 30,400 51%
L =ERS i3 EGACELED) JAL JAL 32,100 48%
KR (1) JAL JAL 32,100 51%
BREX HRECHE) JAL JAL 32,100 48%
KR (1) JAL JAL 32,100 51%
wWis=%a1E W 5 R CHA) JAL JTA 46,600 42%
HIEH R CHHA) JTA JAL 46,600 42%
E=HE = KR (FF1) JAL JAC 26,300 53%
HE KRR (FFFH JAC JAL 26,300 53%
& =#10 = KRR FF1) JAL JAL 28,000 48%
PIIES KRR (FFF1) JAL JAL 28,000 48%

JAL/JTA/JAC/RAC
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iE=X% =3 KBx (7 JAL JAL 29,600 47%
K% KB (1) JAL JAL 29,600 47%
E=F% =3 KRR FFH JAL JAL 32,100 49%
RIGSE ABR (£ F1) JAL JAL 32,100 49%
s =FER =3 AR FFH JAL JAL 30,400 50%
A% ABR (7 F1) JAL JAL 30,400 50%
e =2k =3 KRR FFF1 JAL JAL 32,100 47%
ERES ABR (£ F1) JAL JAL 32,100 47%
heE=ERS =3 KRR FFH JAL JAL 32,100 50%
BREEH ABR (£ F1) JAL JAL 32,100 50%
FR=HE mER ABR (7 F1) JAL JAC 23,900 56%
HES KR (FF1) JAC JAL 23,900 56%
Fim=#1l FinFE KB (FF) JAL JAL 26,300 49%
[NIIE: KBx (7 JAL JAL 26,300 49%
FR=X% FinE KB (FF) JAL JAL 28,000 48%
K% KBx () JAL JAL 28,000 48%
FR=RI& R KB (FFH) JAL JAL 30,400 50%
RIS KRR (FFFH) JAL JAL 30,400 50%
FR=EX Pk ABR (FFH) JAL JAL 29,600 50%
AR KRR FFF1) JAL JAL 29,600 50%
FR=E5 MRS ABR (FFH) JAL JAL 29,600 50%
e KRR FFF1) JAL JAL 29,600 50%
HR=ERE iR ABR (FF) JAL JAL 30,400 51%
BREX KRR (FFF1) JAL JAL 30,400 51%
IMY=TE L IMAF HRECHE) JAL JAL 24,900 57%
] LLI & R CHA) JAL JAL 24,900 57%
IMA=IEE8 IV S IR CHHA) JAL JAL 25,500 57%
LE% B JAL JAL 25,500 57%
MA=1LOFE IV S = JAL JAL 28,600 55%
WO FERH EGACRL:ED) JAL JAL 28,600 55%
IMA=HE IMAF RECHEA) JAL JAL 25,900 54%
HES RHECHA) JAL JAL 25,900 54%
INA=TES IMAF RECHEA) JAL JAL 25,300 56%
mERE HECHE) JAL JAL 25,300 56%
INR=E IR B EGACR:D) JAL JAL 24,400 58%
S RHECHA) JAL JAL 24,400 58%
A= IMAF EGACRL:D) JAL JAL 26,100 56%
=A% M) JAL JAL 26,100 56%
M=l IMAF FIH) JAL JAL 26,300 56%
NI FH) JAL JAL 26,300 56%
IMR=JE M AV FH) JAL JAL 28,600 56%
ElZNLE: FH) JAL JAL 28,600 56%
M=K IMAFE FH) JAL JAL 29,400 54%
ADHE FH) JAL JAL 29,400 54%
IMY=RIE IMAFE FH) JAL JAL 32,100 53%
RIES TH) JAL JAL 32,100 53%
INY=FER IMAFE FH) JAL JAL 30,300 54%
BEARE FCRH) JAL JAL 30,300 54%
M= IE IMRFE BR CHHE) JAL JAL 30,300 54%
I RECHH) JAL JAL 30,300 54%
IMNR=FER IMAFE EGACEL:)) JAL JAL 32,100 53%
BEREH RECHH) JAL JAL 32,100 53%
MA=FTH MR 8 (ARER) JTA JTA/RAC 37,000 42%
EoH 8 (3B%R) [ JTA/RAC JTA 37,000 42%
INA=FR1E INERFE BUR CHH) JAL JTA 37,300 56%
iR (IRER) JTA JTA/RAC 37,300 46%
RIEH BUR CHH) JTA JAL 37,300 56%
8 (3B%R) [ JTA/RAC JTA 37,300 46%
fL=2% ] LI & R (IRER) JTA JTA/RAC 35,400 37%
Eo¥ SPE8 (BBF) [ JTA/RAC JTA 35,400 37%
fIl=%"1E ENIES i (FRER) JTA JTA/RAC 38,100 39%
AiEH Sh#E(IRE) | JTA/RAC|  JTA 38,100 39%
BH==& S 12l JAC JAC 27,100 44%
EGES 1= JAC JAC 27,100 44%
BERE=5H EEAEH ok B AR JAC JAC 19,200 36%
5ims ok BER JAC JAC 19,200 36%
EEAE="KRE BEEAEH CE JAC JAC 16,500 50%
Pk BERFE 5 5 JAC JAC 16,500 50%
R =FH EEAEFIES EGACELED) JAL JAL 38,300 52%
RBR (751 JAL JAL 38,300 52%
EHR FRCRA) JAL JAL 38,300 52%
KB (1) JAL JAL 38,300 52%
8 (BFH) ==iR s (BRER) F EGACELED) JAL JAL 38,300 51%
=) EGACELED) JAL JAL 38,300 51%
iR (AR =HAE EEEFES RECHEH) JAL JAL 37,000 50%
KBR (1) JAL JAL 37,000 51%
FEF R CRA) JAL JAL 37,000 50%
KR (FF1) JAL JAL 37,000 51%
s (RER) =15 s (RER) KB (FFF1) JAL JAL 37,700 52%
1= JTA JAL 37,700 54%
TEER KB (FFF1) JAL JAL 37,700 52%
1= JAL JTA 37,700 54%
s (BRER) =L s (RER) F EGACELED) JAL JAL 37,000 43%
KR (1) JAL JAL 37,000 50%
iZ3 R CHHA) JAL JAL 37,000 43%
KR (FF1) JAL JAL 37,000 50%
hiE (BRER) =& s (BRER) F KB (FFF1) JAL JAL 39,000 47%
1= JTA JAL 39,000 51%
(=¥ KB (FFF1) JAL JAL 39,000 47%
1= JAL JTA 39,000 51%

JAL/JTA/JAC/RAC



rE#BE17EBEROAT1H~10A25HEES) JAL/JTA/JAC/RAC

EE#EAR 2014/6/24 ~ MBI EA

BERM 9/1-12,9/16- | BEH

=45 #aud B | wE
X0 T K@D 10/10,10/14-25 | E|B|%
R (AR = /M iR GRER) % FR CRIA) JAL JAL 35,900 49%
IMAF EGACELED) JAL JAL 35,900 49%
iR (AR =55 A ES & JTA JAC 25,900 55%
SEF 1= JAC JTA 25,900 55%
B (ARER) =#Ab iR () % & JTA JAC 24,200 55%
[NIIE: 1= JAC JTA 24,200 55%
R CHA) =2 RRECHA)F KBx () JAL JAC 31,100 38%
HE JAL JAC 31,100 33%
[EE KB (FF1) JAC JAL 31,100 38%
HE JAC JAL 31,100 33%
RR(PHE)=FBXZKXE | RRPHH BERE JAL JAC 42,900 38%
KR (FF1) JAL JAL 42,900 35%
BEEXER BER JAC JAL 42,900 38%
KR (FF1) JAL JAL 42,900 35%
RECRE)=ERS5 RRECHA)F BRE JAL JAC 43,000 39%
TEEXS JAL JAC 43,000 31%
ERER ERS JAC JAL 43,000 39%
TBEXS JAC JAL 43,000 31%
RRCAE) =1z 5 RRECHA)F BRE JAL JAC 44,000 40%
BEXS JAL JAC 44,800 33%
mZEH BRE JAC JAL 44,000 40%
BEXS JAC JAL 44,800 33%
RRCPA) =ik RE [ HRCHEA) % BRE JAL JAC 45,900 40%
ok BERFR ERS JAC JAL 45,900 40%
BEXS JAC JAL 45,900 35%
RRECRR) =5 RECHE)F BRE JAL JAC 46,300 41%
Bims BRE JAC JAL 46,300 41%
BEXS JAC JAL 46,200 37%
KR (R =EEKE | KBR(FFH # BIRE JAL JAC 37,000 34%
EEAEH BEIRE JAC JAL 37,000 34%
KRFFH=ERE KR (74 F BERE JAL JAC 38,200 33%
BEXS JAL JAC 38,200 25%
ERER BEIRE JAC JAL 38,200 33%
BEXS JAC JAL 38,200 25%
KR (FFH =25 KR (74 5 BRE JAL JAC 39,200 35%
BEXS JAL JAC 40,100 28%
mZEH BRE JAC JAL 39,200 35%
EPN- JAC JAL 40,100 28%
KR (7 =Mk REB | KR (BFD % ERS JAL JAC 40,700 35%
ok BERFE ERS JAC JAL 40,700 35%
KR (FFH) =55/ KBR (R 5 ERS JAL JAC 41,000 37%
5HR%E ERS JAC JAL 41,000 37%
EE=EXXE 1R F ERE JAC JAC 30,100 36%
EEXEH EIRE JAC JAC 30,100 36%
ER=E85 FEFES ERS JAC JAC 31,500 35%
BEEXE JAC JAC 31,500 33%
ERER ERS JAC JAC 31,500 35%
BEEXE JAC JAC 31,500 33%
ER=Ez5 FEES ER JAC JAC 31,600 38%
EPN-) JAC JAC 31,600 38%
[ BER JAC JAC 31,600 38%
EEAE JAC JAC 31,600 38%
12 =K RED 12 % EER JAC JAC 33,100 38%
ok RERFE BER JAC JAC 33,100 38%
BEEAE JAC JAC 32,200 41%
BE=5H 12 5 EIRE JAC JAC 33,500 40%
5ims EIRE JAC JAC 33,500 40%
EEAES JAC JAC 33,500 42%
RECHHE) =53= BRI CHH)# AiE JTA RAC 42,300 42%
S5MER iR (GIRER) RAC JAL 42,300 46%
fiE RAC JTA 42,300 42%
AR (#FH) = 53RE SMEF B (ARER) RAC JAL 38,700 45%
Kix (B8) =5 A= KB (B 7a) & A8 JTA RAC 38,700 37%
SMEFE i (FRER) RAC JTA 38,700 45%
fiE RAC JTA 38,700 37%
£5E (PE) =5BE 5 IREF 48 (ARER) RAC JTA 39,700 48%
12 =5 I E 5 EF 48 (IRER) RAC JTA 35,600 44%
iR (R ER) =5 HE G ES ais JTA/RAC| RAC 19,300 46%
SHREHR AiE RAC | JTA/RAC 19,300 46%
RRECPHE)=AX5E RHECHE)F 8 (IRER) JAL | JTA/RAC 37,700 35%
AKXKESH SP#B(IRE) | JTA/RAC|  JAL 37,700 35%
KR (D =AXKE KB () % 48 (IRER) JAL | JTA/RAC 33,100 34%
AXEH T3 (FFH) | JTA/RAC|  JAL 33,100 34%
KR (BT =AXKE A (BH7E) F 48 (ARER) JTA | JTA/RAC 33,100 34%
AXEH T48 (BT | JTA/RAC|  JTA 33,100 34%
AEE(PE)=AKRE | REE(REH) F | i GRH) JTA | JTA/RAC 36,000 35%
AXER h48 (BT | JTA/RAC|  JTA 36,000 35%
EE=AXE 12 5 48 (ARER) JTA | JTA/RAC 27,400 36%
AKRESH hEBGRE) | JTA/RAC|  JTA 27,400 36%




TR RS ERR(8A260~8A31AERS)

JAL/JTA/JAC/RAC

st R FAEEIB| INREFRIRAEIS| SAEN VNE R REEIE|
X #mid® | BHHO RAE= F—5H E—55 E—5H

B D [ EEe [EEa Y2 | wmix wE 8/26-8/31 | ‘pyals & 8/26-8/31 | "pyals wE
RECRE) =2 [ExCHB) %+ (RH) JAL/JTA[JTA/RAC] 59,300 12% 29,650 56% 36,550 46%
EEE T ) JTA/RAC|JAL/JTA] 59,300 12% 29,650 56% 36,550 46%
HR(PE)=F1E [RRCRB) R 4EGRE) JAL/JTA[JTA/RAC] 63,300 13% 31,650 57% 39,050 46%
KB (BHE) JAL JTA 63,300 20% 31,650 60% 39,050 51%
FIEE 8RR JTA/RAC[JAL/JTA 63,300 13% 31,650 57% 39,050 46%
KR (5D =% 31| Kk (5D 5[z (FR) JAL JAL 46,800 39% 23,400 69% 28,600 62%
LR (BT F i) JAL JAL 46,800 38% 23,400 69% 28,600 62%
TRl [RECRE) JAL JAL 46,800 39% 23,400 69% 28,600 62%
LI (BT F i) JAL JAL 46,800 38% 23,400 69% 28,600 62%
KWk (BTE) =% 31| KWk (B8 #) 5[ (FA) JAL JAL 46,800 39% 23,400 69% 28,600 62%
LR (BT F i) JAL JAL 46,800 38% 23,400 69% 28,600 62%
SRS JAL JAL 46.800 39% 23,400 69% 28,600 62%
JAL JAL 46,800 38% 23,400 69% 28,600 62%
KR (R =1l [ KBk () % JAL JAL 44,000 41% 22,000 70% 26,950 64%
JAL JAL 44,000 41% 22,000 70% 26,950 64%
KBz (B3#8) =he)Il JAL JAL 44,000 41% 22,000 70% 26,950 64%
JAL JAL 44,000 41% 22,000 70% 26,950 64%
KR (5 =1l JAL JAL 44,800 39% 22,400 70% 27,250 63%
JAL JAL 44,800 39% 22,400 70% 27,250 63%
KBz (B378) =4HI3% JAL JAL 44,800 39% 22,400 70% 27,250 63%
JAL JAL 44,800 39% 22,400 70% 27,250 63%
KR (7 =H 5 JAL JAL 44,300 39% 22,150 70% 26,950 63%
LR JAL JAL 44,300 39% 22,150 70% 26,950 63%
KBz (B3#8) =I5 [ KBk (BFE) % | JAL JAL 44,300 39% 22,150 70% 26,950 63%
L% JAL JAL 44,300 39% 22,150 70% 26,950 63%
KR () =BfE JAL JAL 45,300 31% 22,650 65% 27,200 58%
JAL JAL 45,300 31% 22,650 65% 27,200 58%
KR (B ) =BRfE JAL JAL 45,300 31% 22,650 65% 27,200 58%
JAL JAL 45,300 31% 22,650 65% 27,200 58%
KR () = JAL JAL 41,100 35% 20,550 67% 24,900 61%
JAL JAL 41,100 35% 20,550 67% 24,900 61%
KR (E#E) == JAL JAL 41,100 35% 20,550 67% 24,900 61%
JAL JAL 41,100 35% 20,550 67% 24,900 61%
KR (7 F}) =12k JAC JAC 21,100 42% 10,550 71% 13,500 63%
JAC JAC 21,100 42% 10,550 71% 13,500 63%
KR (75 =BF5 JAL JAC 33,500 28% 16,750 64% 21,450 54%
i JAC JAL 33,500 28% 16,750 64% 21,450 54%
KR (RFH) =2 JAL _[JTA/RAC 47,300 21% 23,650 61% 28,300 53%
JTA/RAC|  JAL 47,300 21% 23,650 61% 28,300 53%
KR (BEfE) == JTA _[JTA/RAC 47,300 21% 23,650 61% 28,300 53%
JTA/RAC| JTA 47,300 21% 23,650 61% 28,300 53%
KR (2FH) =FR1E JAL _|JTA/RAC 52,000 21% 26,000 60% 31,850 51%
JTA/RAC| JAL 52,000 21% 26,000 60% 31,850 51%
KR (B#E) =FR1E K JTA |JTA/RAC 52,000 21% 26,000 60% 31,850 51%
i JTA/RAC| JTA 52,000 21% 26,000 60% 31,850 51%
BEE () =ZE5| A5 E (P [ LEFTR) JAL JAL 42,800 39% 21,400 70% 26,200 63%
KR FE AR EFTFR) JAL JAL 42,800 39% 21,400 70% 26,200 63%
AHE(FE) =25 |2&E Ch#) |48 (R H) JTA _|JTA/RAC] 48,300 26% 24,150 63% 29,000 55%
=E s s (RE) JTA/RAC| JTA 48,300 26% 24,150 63% 29,000 55%
2R (FH) =H1E | &5 E (P) | P8 (BBEH) JTA _|JTA/RAC] 49,400 30% 24,700 65% 29,750 58%
AIERE P GEER) JTA/RAC| JTA 49,400 30% 24,700 65% 29,750 58%
ALOR (B F5%) = /MR #LIR FF T %) | 5= (FIE JAL JAL 37,000 45% 18,500 72% 22,100 67%
MRS CFIH) JAL JAL 37,000 45% 18,500 72% 22,100 67%
AREFTR) —BAROE[AEFHTH R CFIH) JAL JAL 38,100 49% 19,050 75% 23,050 69%
EinI=R o [€RL::D) JAL JAL 38,100 49% 19,050 75% 23,050 69%
ALOR (B F &%) =R L[ +LIRF TR % CRA) JAL JAL 38,100 50% 19,050 75% 23,050 70%
] L 5 CHH) JAL JAL 38,100 50% 19,050 75% 23,050 70%
IR TR =LEB[HIREF TR X CRA) JAL JAL 39,100 49% 19,550 75% 23,700 69%
LE% |[RECHH) JAL JAL 39,100 49% 19,550 75% 23,700 69%
AMEFTR) = WOFHR[ R FHTFH) K[ RHCRA) JAL JAL 44,200 45% 22,100 73% 27,650 66%
I=ESTE3 JAL JAL 44,200 45% 22,100 73% 27,650 66%
FLIR (B FaR) = HE [ALR G F i) % JAL JAL 41,100 45% 20,550 72% 24,650 67%
HESR JAL JAL 41,100 45% 20,550 72% 24,650 67%
IR (FTFRR) =188 4R FTH) % JAL JAL 42,200 44% 21,100 72% 25,650 66%
BEF JAL JAL 42,200 44% 21,100 72% 25,650 66%
LR F TR =S [fLIRGHTR) % JAL JAL 43,200 43% 21,600 71% 26,250 65%
BT JAL JAL 43,200 43% 21,600 71% 26,250 65%
IR FTFHR) = [{IREFTE) R JAL JAL 45,300 42% 22,650 71% 27,250 65%
% JAL JAL 45,300 42% 22,650 71% 27,250 65%
IR (FHFR) =L ARG TR & JAL JAL 47,300 40% 23,650 70% 28,750 63%
EANITE:S JAL JAL 47,300 40% 23,650 70% 28,750 63%
HIRF T =L AM[4LIE FHTH) R JAL JAL 46,300 45% 23,150 72% 27,650 67%
EIZRE: JAL JAL 46.300 45% 23,150 72% 27,650 67%
IR FTFR) =KD ARG TR) R JAL JAL 46,300 44% 23,150 72% 27,650 66%
K55 JAL JAL 46,300 44% 23,150 72% 27,650 66%
IR FTFHR) =RBE[HLREFETR R JAL JAL 48,300 44% 24,150 72% 29,000 66%
RIGF JAL JAL 48,300 44% 24,150 72% 29,000 66%
IR TR =EAHREGETR R JAL JAL 47,300 43% 23,650 72% 28,300 66%
REAFE JAL JAL 47,300 43% 23,650 72% 28,300 66%
IR F TR == EB[HLRETR) R JAL JAL 48,300 42% 24,150 71% 29,000 65%
HEFE G JAL JAL 48,300 42% 24,150 71% 29,000 65%
HIRF TR =EREHEFHTH R JAL JAL 53,500 38% 26,750 69% 32,250 63%
B R B % JAL JAL 53,500 38% 26,750 69% 32,250 63%
AR TR = BB [HLIE FH TR %[ ER JAL _[JAL/JTA 55,500 37% 27,750 68% 33,750 62%
KB (BHE) JAL JTA 55,500 38% 27,750 69% 33,750 62%
AR (PED) JAL JTA 55,500 38% 27,750 69% 33,750 63%
126 JAL JTA 55,500 40% 27,750 70% 33,750 64%
hiB () KR (HA) JAL/JTA] JAL 55,500 37% 27,750 68% 33,750 62%
KB (BHE) JTA JAL 55,500 38% 27,750 69% 33,750 62%
AEE (PED) JTA JAL 55,500 38% 27,750 69% 33,750 63%
126 JTA JAL 55,500 40% 27,750 70% 33,750 64%
IR (F TR =REHREFTHR 2R CHH) JAL JTA 70,000 32% 35,000 66% 42,950 58%
RIEHE = (FH) JTA JAL 70,000 32% 35,000 66% 42,950 58%
& =2 3l [HEERESIEEED) JAL JAL 56.600 39% 28,300 69% 34,300 63%
ARG TER) JAL JAL 56,600 34% 28,300 67% 34,300 60%
S EEACTS) JAL JAL 56.600 39% 28,300 69% 34,300 63%
[ KBR (A JAL JAL 56,600 28% 28,300 64% 34,300 57%
) JAL JAL 56,600 34% 28,300 67% 34,300 60%
=1 1w 5 R (FH) JAL JAL 56,600 37% 28,300 69% 34,300 62%
[ ESIEE:D) JAL JAL 56,600 37% 28,300 69% 34,300 62%
KB (A JAL JAL 56,600 30% 28,300 65% 34,300 58%




TR RS ERR(8A260~8A31AERS)

JAL/JTA/JAC/RAC

st R RMEEIB| INREFRIRAEIS| SAEN NE R REEIE|
Bf REh o= B3 E—5H E—5H

O [ EED 8/26-8/31 “yals 8/26-8/31 “gyalm & 8/26-8/31 | "pyals &
12 =gl 12 5 JAL JAL 56,600 37% 28,300 68% 34,300 62%
Sk 5 JAL JAL 56,600 37% 28,300 68% 34,300 62%
1B =I5 12 5 JAL JAL 56,600 36% 28,300 68% 34,300 61%
HLFE JAL JAL 56,600 36% 28,300 68% 34,300 61%
12 =i = JAL JAL 55,500 32% 27,750 66% 33,650 59%
JAL JAL 55,500 24% 27,750 62% 33,650 54%
JAL JAL 55,500 32% 27,750 66% 33,650 59%
JAL JAL 55,500 24% 27,750 62% 33,650 54%
wE=HFH JAL JAL 47,300 41% 23,650 70% 28,950 64%
JAL JAL 47,300 33% 23,650 67% 28,950 59%
JAL JAL 47,300 41% 23,650 70% 28,950 64%
JAL JAL 47,300 33% 23,650 67% 28,950 59%
JAL JAL 46,800 41% 23,400 70% 28,550 64%
JAL JAL 46,800 35% 23,400 67% 28,550 60%
JAL JAL 46,800 41% 23,400 70% 28,550 64%
JAL JAL 46,800 35% 23,400 67% 28,550 60%
=15 JAL JAL 45,800 34% 22,900 67% 27,900 60%
JAL JAL 45,800 34% 22,900 67% 27,900 60%
= =EA JAL JAL 46,300 37% 23,150 69% 27,850 62%
JAL JAL 46,300 30% 23,150 65% 27,850 58%
JAL JAL 46,300 37% 23,150 69% 27,850 62%
JAL JAL 46,300 30% 23,150 65% 27,850 58%
=1L JAL JAL 43,200 33% 21,600 67% 25,650 60%
JAL JAL 43,200 34% 21,600 67% 25,650 61%
JAL JAL 43,200 33% 21,600 67% 25,650 60%
JAL JAL 43,200 34% 21,600 67% 25,650 61%
B =518 JAL JAL 39,800 36% 19,900 68% 24,400 61%
JAL JAL 39,800 36% 19,900 68% 24,400 61%
1aRE =/ JAL JAL 40,100 43% 20,050 72% 24,250 66%
JAL JAL 40,100 43% 20,050 72% 24,250 66%
BR=2% JTA _|JTA/RAC 41,100 21% 20,550 61% 25,000 52%
JTA/RAC| JTA 41,100 21% 20,550 61% 25,000 52%
B =hiE JTA _|JTA/RAC 41,700 28% 20,850 64% 25,450 56%
JTA/RAC| JTA 41,700 28% 20,850 64% 25450 56%
TR =1t% 23 B 5 JAL JAL 33,400 42% 16,700 71% 19,800 65%
TS JAL JAL 33,400 42% 16,700 71% 19,800 65%
ZisA=1lE AL JAL JAL 33,900 44% 16,950 72% 20,100 67%
[ JAL JAL 33,900 44% 16,950 72% 20,100 67%
Zimpl =8 ZEBIFE JAL JAL 35,000 43% 17,500 72% 21,050 66%
i JAL JAL 35,000 43% 17,500 72% 21,050 66%
ESCEIRYS Sk JAL JAL 45,300 40% 22,650 70% 27,150 64%
INRF JAL JAL 45,300 40% 22,650 70% 27,150 64%
ZHR =FLEE | EilEER JAL JAL 49,400 41% 24,700 70% 29,650 64%
i =R Sk JAL JAL 49,400 42% 24,700 71% 29,650 65%
FE L5 JAL JAL 49,400 42% 24,700 71% 29,650 65%
ESCERDNC ESERIES JAL JAL 52,400 39% 26,200 69% 31,400 63%
JAL JAL 52,400 35% 26,200 67% 31,400 61%
NEES JAL JAL 52,400 39% 26,200 69% 31,400 63%
JAL JAL 52,400 35% 26,200 67% 31,400 61%
impl =HE ES-RIES JAL JAL 47,300 43% 23,650 72% 28,600 66%
JAL JAC 47,300 37% 23,650 68% 28,600 62%
HER JAL JAL 47,300 43% 23,650 72% 28,600 66%
SRR iR F JAL JAL 54,300 37% 27,150 69% 32,600 62%
PALLIFE JAL JAL 54,300 37% 27,150 69% 32,600 62%
Ximpl =R\ ESTIES JAL JTA 77,200 31% 38,600 65% 47,300 58%
AHIEX JTA JAL 77,200 31% 38,600 65% 47,300 58%
B =1 JENIE:S JAL JAL 45,300 39% 22,650 69% 26,050 65%
INERFE JAL JAL 45,300 39% 22,650 69% 26,050 65%
B =FaftBE JENES JAL JAL 49,400 39% 24,700 70% 29,650 64%
IR JAL JAL 49,400 39% 24,700 70% 29,650 64%
TBI=HLL JENIES JAL JAL 49,400 40% 24,700 70% 29,650 64%
FE LLI 58 JAL JAL 49,400 40% 24,700 70% 29,650 64%
BII=HE JENTES JAL JAL 47,300 42% 23,650 71% 28,600 65%
JAL JAC 47,300 38% 23,650 69% 28,600 63%
HESR JAL JAL 47,300 42% 23,650 71% 28,600 65%
B =#xL FENIES JAL JAL 54,300 36% 27,150 68% 32,600 62%
JAL JAL 54,300 28% 27,150 64% 32,600 57%
PALLIFE JAL JAL 54,300 36% 27,150 68% 32,600 62%
BII=R1E JENES JAL JTA 75.300 31% 37,650 66% 46,000 58%
AiEF JTA JAL 75.300 31% 37,650 66% 46,000 58%
HlEE =/ 8 5 JAL JAL 42,400 42% 21,200 71% 25,650 65%
NS JAL JAL 42,400 42% 21,200 71% 25,650 65%
Sk =raft e R FE JAL JAL 49,400 39% 24,700 70% 29,650 63%
B AER JAL JAL 49,400 39% 24,700 70% 29,650 63%
#IEE =R Ll FE JAL JAL 49,400 40% 24,700 70% 29,650 64%
& L1y 5 JAL JAL 49,400 40% 24,700 70% 29,650 64%
HIB=L8 5 JAL JAL 52,400 37% 26,200 68% 31,400 62%
INEES JAL JAL 52,400 37% 26,200 68% 31,400 62%
HIE=HE ik 5 5 JAL JAL 47,300 41% 23,650 71% 28,600 65%
Hi = JAL JAL 47,300 41% 23,650 71% 28,600 65%
HIEE=H10 ik 5 = CRHE) JAL JAL 54,300 36% 27,150 68% 32,600 61%
PALLIFE = CHHE) JAL JAL 54,300 36% 27,150 68% 32,600 61%
HIFE="F1E Sk 5 = CHHE) JAL JTA 74,800 32% 37,400 66% 45,750 58%
RER = CHHE) JTA JAL 74,800 32% 37,400 66% 45,750 58%
L=/ HL % = CHE) JAL JAL 45,300 38% 22,650 69% 26,050 64%
RN = CHHE) JAL JAL 45,300 38% 22,650 69% 26,050 64%
HL=mftEE FIL % = CHE) JAL JAL 49,400 39% 24,700 69% 29,650 63%
#LEE = CHHE) JAL JAL 49,400 39% 24,700 69% 29,650 63%
L =Rl AN = CHHE) JAL JAL 49,400 39% 24,700 70% 29,650 64%
[ = (CHHE) JAL JAL 49,400 39% 24,700 70% 29,650 64%
HLE=HE HL%E = CHE) JAL JAL 47,300 41% 23,650 70% 28,600 64%
HE = CHE) JAL JAL 47,300 41% 23,650 70% 28,600 64%
L =#l Hh % = CHE) JAL JAL 54,300 35% 27.150 68% 32,600 61%
HALLSE = CHHE) JAL JAL 54,300 35% 27,150 68% 32,600 61%
HLE=hiE HLFE = CHE) JAL JTA 74,200 32% 37.100 66% 45,400 58%
AIEE = CHHE) JTA JAL 74,200 32% 37,100 66% 45,400 58%
EAE =/ BRAESE = CHHE) JAL JAL 37,400 42% 18,700 71% 22,450 65%
IMRFE = CHHE) JAL JAL 37,400 42% 18,700 71% 22,450 65%
HE=FILAE | miLoUER [RR(CHA) JAL JAL 48,300 33% 24,150 67% 29,000 60%
] BRAESE = CHE) JAL JAL 48,300 35% 24,150 67% 29,000 61%
FEl LU 5 = CHH) JAL JAL 48,300 35% 24,150 67% 29,000 61%




TR RS ERR(8A260~8A31AERS) JAL/JTA/IAG/RAC

st R RMEEIB| INREFRIRAEIS| SAEN NE R REEIE|
B #mimd® | #HHO RAE= E—5H E—75H E—5H

o [ EEe [EEa Y2 | mmix wE 8/26-8/31 | "pyals & 8/26-8/31 | "pyals &
EWiE=I55 BAESE |[RRCRHE) JAL JAL 52,300 30% 26,150 65% 31,300 58%
LEB% |[RRCHHE) JAL JAL 52,300 30% 26,150 65% 31,300 58%
EHE=HE BWAER [RRCRE) JAL JAL 46,300 36% 23,150 68% 27,950 61%
K (FFD JAL JAC 46,300 33% 23,150 66% 27,950 59%
HEEX |[RRE@R) JAL JAL 46,300 36% 23,150 68% 27,950 61%
K (FFH JAC JAL 46,300 33% 23,150 66% 27,950 59%
EAE=#l BWAER [RRCRE) JAL JAL 53,200 30% 26,600 65% 31,850 58%
KR (FFH JAL JAL 53,200 21% 26,600 61% 31,850 53%
Wi [ERER(CRH) JAL JAL 53,200 30% 26,600 65% 31,850 58%
KR (FFH JAL JAL 53,200 21% 26,600 61% 31,850 53%
BEE=dL M BAESE |HRCRHE) JAL JAL 55,500 32% 27,750 66% 33,650 59%
EZNLE M E A JAL JAL 55,500 32% 27,750 66% 33,650 59%
EWAE=K% g% [RRCHE) JAL JAL 44,200 45% 22,100 72% 26,700 67%
KR (FFH JAL JAL 44,200 37% 22,100 69% 26,700 62%
An% |RRCHH) JAL JAL 44,200 45% 22,100 72% 26,700 67%
EiE=RIE g% [RRCRH) JAL JAL 46.300 45% 23,150 72% 27,650 67%
R (FFH JAL JAL 46,300 40% 23,150 70% 27,650 64%
RIEF [RRCHH) JAL JAL 46,300 45% 23,150 72% 27,650 67%
pNACGTE)) JAL JAL 46,300 40% 23,150 70% 27,650 64%
EAE=AEK B ESACED) JAL JAL 46,300 43% 23,150 71% 27,650 66%
pPNACGTE)) JAL JAL 46,300 38% 23,150 69% 27,650 63%
EZ S VACTS) JAL JAL 46,300 43% 23,150 71% 27,650 66%
pNACGTE)) JAL JAL 46,300 38% 23,150 69% 27,650 63%
EWAE=E WAER [RRCHE) JAL JAL 46,300 43% 23,150 71% 27,650 66%
R (FFH JAL JAL 46,300 38% 23,150 69% 27,650 63%
=ER  [ERCHA) JAL JAL 46,300 43% 23,150 71% 27,650 66%
pPNACGEE)) JAL JAL 46,300 38% 23,150 69% 27,650 63%
HE=ERS B ESACED) JAL JAL 47,300 43% 23,650 72% 28,300 66%
pPNACGTE)) JAL JAL 47,300 40% 23,650 70% 28,300 64%
ERBE [RKRCHHA) JAL JAL 47,300 43% 23,650 72% 28,300 66%
KB (FFH JAL JAL 47,300 40% 23,650 70% 28,300 64%
EWiE=h1E BRAESE R CHHE) JAL JTA 67,400 33% 33,700 67% 41,300 59%
AHEE R CHHE) JTA JAL 67,400 33% 33,700 67% 41,300 59%
HHR= HEHRE GAERTE:D) JAL JAL 35,000 45% 17,500 72% 21,050 67%
R [€RL=:D) JAL JAL 35,000 45% 17,500 72% 21,050 67%
AR=mMICEE FHRRE [€RL=:D) JAL JAL 39,100 45% 19,550 73% 23,700 67%
BitEER (HA) JAL JAL 39,100 45% 19,550 73% 23,700 67%
HH=MW EHRE HA) JAL JAL 39,100 46% 19,550 73% 23,700 67%
FE L% [€RL=:D) JAL JAL 39,100 46% 19,550 73% 23,700 67%
BEHR=LE EH% [€EL::D) JAL JAL 40,100 45% 20,050 73% 24,400 67%
L5% CHE) JAL JAL 40,100 45% 20,050 73% 24,400 67%
FH=LOFHR EHR CFIH) JAL JAL 42,200 45% 21,100 73% 25,650 67%
I=EZES CHHE) JAL JAL 42,200 45% 21,100 73% 25,650 67%
EHR=HE T ESACETE)) JAL JAL 39,900 44% 19,950 72% 24,250 66%
AR (2 F}) JAL JAC 39,900 40% 19,950 70% 24,250 63%
HER |[ER(CHEA) JAL JAL 39,900 44% 19,950 72% 24,250 66%
AR () JAC JAL 39,900 40% 19,950 70% 24,250 63%
AHR=0EE EHE [EECEH) JAL JAL 37,000 48% 18,500 74% 22,400 69%
BEEE [RRECRH) JAL JAL 37,000 48% 18,500 74% 22,400 69%
EH=mn BERE |[HRCHE) JAL JAL 39,100 46% 19,550 73% 23,700 67%
Ei%  [EECHA) JAL JAL 39,100 46% 19,550 73% 23,700 67%
EH=24 BERE "R CHE) JAL JAL 40,100 46% 20,050 73% 24,400 67%
BAH% [EECHA) JAL JAL 40,100 46% 20,050 73% 24,400 67%
HH=ml HHER [RECEH) JAL JAL 40,100 46% 20,050 73% 24,400 67%
AR (FF) JAL JAL 40,100 38% 20,050 69% 24,400 63%
il [EERCHA) JAL JAL 40,100 46% 20,050 73% 24,400 67%
AR (FF) JAL JAL 40,100 38% 20,050 69% 24,400 63%
HFHE=JAM BEHA% [ERRCHA) JAL JAL 47,300 41% 23,650 70% 28,950 64%
dAmFE [EECHA) JAL JAL 47,300 41% 23,650 70% 28,950 64%
BAHR=KN EHRE [ZRCHE) JAL JAL 42,200 46% 21,100 73% 25,650 67%
AR (2 F1) JAL JAL 42.200 38% 21,100 69% 25,650 62%
b N EVACETE)) JAL JAL 42,200 46% 21,100 73% 25,650 67%
KR (2 F1) JAL JAL 42.200 38% 21,100 69% 25,650 62%
EH=RK R CREA) JAL JAL 46,300 44% 23,150 72% 27,650 66%
KB (FFF) JAL JAL 46,300 38% 23,150 69% 27,650 63%
FE(CRA) JAL JAL 46,300 44% 23,150 72% 27,650 66%
KB (F#F}) JAL JAL 46,300 38% 23,150 69% 27,650 63%
BEHR=REX H R (HA) JAL JAL 44,200 45% 22,100 72% 26,700 67%
KB (FFF1) JAL JAL 44,200 39% 22,100 69% 26,700 63%
HE(CHA) JAL JAL 44,200 45% 22,100 72% 26,700 67%
K (FFD JAL JAL 44,200 39% 22,100 69% 26,700 63%
HEHR=ER R (A JAL JAL 44,200 45% 22,100 72% 26,700 67%
KR (FFD JAL JAL 44,200 39% 22,100 69% 26,700 63%
= CHHE) JAL JAL 44,200 45% 22,100 72% 26,700 67%
KR (FFD JAL JAL 44,200 39% 22,100 69% 26,700 63%
EHR=ERE R (CHA) JAL JAL 46,300 44% 23,150 72% 27,650 66%
KR (FFH JAL JAL 46,300 39% 23,150 70% 27,650 64%
= CHH) JAL JAL 46,300 44% 23,150 72% 27,650 66%
KR (FFH JAL JAL 46,300 39% 23,150 70% 27,650 64%
HEH=RiE R CRIE) JAL JTA 64,800 35% 32,400 67% 40,000 60%
H) JTA JAL 64,800 35% 32,400 67% 40,000 60%
ZiR=/ i ) JAL JAL 35,000 44% 17,500 72% 21,050 66%
) JAL JAL 35,000 44% 17,500 72% 21,050 66%
ZiR=mfEE ) JAL JAL 39,100 45% 19,550 72% 23,700 66%
) JAL JAL 39,100 45% 19,550 72% 23,700 66%
ZiR=RW ) JAL JAL 39,100 45% 19,550 73% 23,700 67%
) JAL JAL 39,100 45% 19,550 73% 23,700 67%
ZR=IE8 ) JAL JAL 40,100 45% 20,050 72% 24,400 66%
) JAL JAL 40,100 45% 20,050 72% 24,400 66%
ZR=1LOFH ) JAL JAL 42,200 45% 21,100 72% 25,650 67%
) JAL JAL 42,200 45% 21,100 72% 25,650 67%
ZR=HE ) JAL JAL 41,000 42% 20,500 71% 24,950 64%
) JAL JAC 41,000 39% 20,500 70% 24,950 63%
) JAL JAL 41,000 42% 20,500 71% 24,950 64%
) JAC JAL 41,000 39% 20,500 70% 24,950 63%
ZR=#5 ) JAL JAL 37,000 48% 18,500 74% 22,400 68%
) JAL JAL 37,000 48% 18,500 74% 22,400 68%
ZR=@#n ) JAL JAL 39,100 45% 19,550 73% 23,700 67%
) JAL JAL 39,100 45% 19,550 73% 23,700 67%
ZR=%4 ) JAL JAL 39,100 47% 19,550 73% 23,700 68%
) JAL JAL 39,100 47% 19,550 73% 23,700 68%
ZiR=#0 H) JAL JAL 40,100 46% 20,050 73% 24,400 67%
) JAL JAL 40,100 40% 20,050 70% 24,400 63%
WILE  ["RCHE) JAL JAL 40,100 46% 20,050 73% 24,400 67%
pNACGTE)) JAL JAL 40,100 40% 20,050 70% 24,400 63%
ZR=%2AM ZR%E [Em(HA) JAL JAL 46,800 41% 23,400 70% 28,550 64%
JEAME [ERCARE) JAL JAL 46,800 41% 23,400 70% 28,550 64%




TR RS ERR(8A260~8A31AERS)

JAL/JTA/JAC/RAC

st R RMEEIB| INREFRIRAEIS| SAEN NE R REEIE|
B #mimd® | #HHO RAE= E—5H E—75H E—5H

o [ EEe [EEa Y2 | mmix wE 8/26-8/31 | "pyals & 8/26-8/31 | "pyals &
ZR=K% HE(HA) JAL JAL 42,200 46% 21,100 73% 25,650 67%
KB (FF1) JAL JAL 42,200 39% 21,100 69% 25,650 63%
R (FA) JAL JAL 42,200 46% 21,100 73% 25,650 67%
ZR=F& HE(HA) JAL JAL 46,300 43% 23,150 72% 27,650 66%
K (FFH JAL JAL 46,300 39% 23,150 70% 27,650 64%
HE(HA) JAL JAL 46,300 43% 23,150 72% 27,650 66%
KR (FFH JAL JAL 46,300 39% 23,150 70% 27,650 64%
HE(FA) JAL JAL 44,200 44% 22,100 72% 26,700 66%
KR (FFH JAL JAL 44,200 40% 22,100 70% 26,700 64%
HE(FA) JAL JAL 44,200 44% 22,100 72% 26,700 66%
pPNACGTE)) JAL JAL 44,200 40% 22,100 70% 26,700 64%
SR=E& HE(FA) JAL JAL 44,200 44% 22,100 72% 26,700 66%
R (FFH JAL JAL 44,200 40% 22,100 70% 26,700 64%
HRE(HA) JAL JAL 44,200 44% 22,100 72% 26,700 66%
R (FFH JAL JAL 44,200 40% 22,100 70% 26,700 64%
ZR=ERE HR CHER) JAL JAL 46.300 43% 23,150 72% 27,650 66%
R (FFH JAL JAL 46,300 40% 23,150 70% 27,650 64%
ERE% [EXE(RH) JAL JAL 46,300 43% 23,150 72% 27,650 66%
KB (A JAL JAL 46,300 40% 23,150 70% 27,650 64%
ZR=Ri1E ZR%E = (FH) JAL JTA 64,800 34% 32,400 67% 40,000 60%
hIEH = (FH) JTA JAL 64,800 34% 32,400 67% 40,000 60%
FRE=/M FRES = (FH) JAL JAL 33,900 41% 16,950 70% 20,350 64%
IIMEFE = (FH) JAL JAL 33,900 41% 16,950 70% 20,350 64%
ME=TERKEE | AR R CRA) JAL JAL 35,000 46% 17,500 73% 21,050 68%
BitEESR (R CHEA) JAL JAL 35,000 46% 17,500 73% 21,050 68%
R =FE L HREF R (FH) JAL JAL 35,000 47% 17,500 74% 21,050 68%
R LLI 58 R (FH) JAL JAL 35,000 47% 17,500 74% 21,050 68%
ME=L5 A R (FH) JAL JAL 37,000 45% 18,500 72% 22,400 67%
INCES R (HH) JAL JAL 37,000 45% 18,500 72% 22,400 67%
ME=LAFE B R (FH) JAL JAL 40,100 44% 20,050 72% 24,400 66%
WOF4% [ (FA) JAL JAL 40,100 44% 20,050 72% 24,400 66%
ME=HE MEFE [KRCHHE) JAL JAL 35,000 46% 17,500 73% 21,050 67%
pPNACGTE)) JAL JAC 35,000 44% 17,500 72% 21,050 66%
HE HRE(HA) JAL JAL 35,000 46% 17,500 73% 21,050 67%
R (51 JAC JAL 35,000 44% 17,500 72% 21,050 66%
ME=5 HEFE |[RRCHH) JAL JAL 35,000 47% 17,500 73% 21,050 68%
BEEE [ERE(CRH) JAL JAL 35,000 47% 17,500 73% 21,050 68%
ME=80 RN ESIAC) JAL JAL 37,000 44% 18,500 72% 22,400 66%
SsE  [HFECHEA) JAL JAL 37,000 44% 18,500 72% 22,400 66%
ME=2% EE ESIEEED) JAL JAL 37,000 45% 18,500 73% 22,400 67%
SH%E [RECHEA) JAL JAL 37,000 45% 18,500 73% 22,400 67%
=11l (EE [RECHH) JAL JAL 39,100 43% 19,550 71% 23,700 65%
AR () JAL JAL 39,100 36% 19,550 68% 23,700 61%
Wi  [RECHHE) JAL JAL 39,100 43% 19,550 71% 23,700 65%
R (27 JAL JAL 39,100 36% 19,550 68% 23,700 61%
FE=JAM FhH ESACELED) JAL JAL 46,300 37% 23,150 69% 27,850 62%
dEAMFE [RECHIA) JAL JAL 46,300 37% 23,150 69% 27,850 62%
ME=X% MEE [RECHH) JAL JAL 40,100 45% 20,050 72% 24,400 66%
AR () JAL JAL 40,100 37% 20,050 68% 24,400 62%
RA%  [EECHA) JAL JAL 40,100 45% 20,050 72% 24,400 66%
AR () JAL JAL 40,100 37% 20,050 68% 24,400 62%
ME=RK P:EESACETE)) JAL JAL 42,400 44% 21,200 72% 25,650 66%
AR (FF) JAL JAL 42,400 40% 21,200 70% 25,650 64%
REE [RECHH) JAL JAL 42,400 44% 21,200 72% 25,650 66%
AR (FF) JAL JAL 42,400 40% 21,200 70% 25,650 64%
ME=EXK AR [EECHA) JAL JAL 42,200 43% 21,100 71% 25,650 65%
REAR  [EE(CRA) JAL JAL 42,200 43% 21,100 71% 25,650 65%
AR (FF) JAL JAL 42,200 38% 21,100 69% 25,650 62%
ME=2K MER [EERCHAA) JAL JAL 42,200 43% 21,100 71% 25,650 65%
KR () JAL JAL 42,200 38% 21,100 69% 25,650 62%
ECEEEIEEED) JAL JAL 42,200 43% 21,100 71% 25,650 65%
KR (2 F1) JAL JAL 42.200 38% 21,100 69% 25,650 62%
HE=ERS MEXE [RECHH) JAL JAL 44,200 42% 22,100 71% 26,700 65%
KR (2 F1) JAL JAL 44,200 39% 22,100 69% 26,700 63%
ERBE [EECRH) JAL JAL 44,200 42% 22,100 71% 26,700 65%
KB (FF1) JAL JAL 44,200 39% 22,100 69% 26,700 63%
ME=FE | MEE [ERCHH) JAL JTA 63,400 32% 31,700 66% 39,100 58%
AiE% |RR(FA) JTA JAL 63,400 32% 31,700 66% 39,100 58%
TEE=HE EER | KERUEFD JAL JAC 39,400 39% 19,700 70% 23,850 63%
EE PN JAC JAL 39,400 39% 19,700 70% 23,850 63%
&=l EER | XREGD JAL JAL 39,600 38% 19,800 69% 24,000 62%
PALSE | KBR (1) JAL JAL 39,600 38% 19,800 69% 24,000 62%
EE=X% AR | ARE”) JAL JAL 41,700 37% 20,850 68% 25,350 62%
% | KBR(FFH) JAL JAL 41.700 37% 20,850 68% 25,350 62%
TEE=RIK iy . I PN AL 25 JAL JAL 45,800 38% 22,900 69% 27,350 63%
=IEFE | KR (1) JAL JAL 45,800 38% 22,900 69% 27,350 63%
TEE=HEX EBEE | KEREFD JAL JAL 43,700 38% 21,850 69% 26,300 63%
REASE | KR (1) JAL JAL 43,700 38% 21,850 69% 26,300 63%
A=k I PNTACGTS)) JAL JAL 48,700 31% 24,350 66% 29,750 58%
] JAL JAC 48,700 37% 24,350 69% 29,750 62%
=HE [ KRED JAL JAL 48,700 31% 24,350 66% 29,750 58%
B JAC JAL 48,700 37% 24,350 69% 29,750 62%
EE=ERE L PN AGEE)) JAL JAL 45,800 39% 22,900 69% 27,350 63%
ERE%E |XKR({FT JAL JAL 45,800 39% 22,900 69% 27,350 63%
WLifg =i Wifg % = (CHE) JAL JAL 32,900 32% 16,450 66% 19,450 60%
MR = (CHE) JAL JAL 32,900 32% 16,450 66% 19,450 60%
Wiz =R LWifig 5 = (CHE) JAL JAL 35,000 39% 17,500 69% 21,050 63%
i LIy 5 = (HE) JAL JAL 35,000 39% 17,500 69% 21,050 63%
=L Wi % = (HE) JAL JAL 36,000 38% 18,000 69% 21,700 63%
e = (HE) JAL JAL 36,000 38% 18,000 69% 21,700 63%
Lz =L AFE WIfs % = (FH) JAL JAL 40,100 35% 20,050 68% 24,400 61%
WOFH% [RR(FA) JAL JAL 40,100 35% 20,050 68% 24,400 61%
Wiz =HE Ex [RE(HH) JAL JAL 36,000 35% 18,000 68% 21,700 61%
KR (A JAL JAC 36,000 41% 18,000 71% 21,700 64%
HER [ER(HEA) JAL JAL 36,000 35% 18,000 68% 21,700 61%
KR (FFH JAC JAL 36,000 41% 18,000 71% 21,700 64%
Wi =188 i} Z3 = (FH) JAL JAL 35,000 38% 17,500 69% 21,050 63%
B8 HRE(FA) JAL JAL 35,000 38% 17,500 69% 21,050 63%
== .23 = (FH) JAL JAL 35,000 38% 17,500 69% 21,050 63%
B S = (HH) JAL JAL 35,000 38% 17,500 69% 21,050 63%
WL =40 W% |[HER(CHA) JAL JAL 36,000 39% 18,000 69% 21,700 63%
=M% |[ERE(CRH) JAL JAL 36,000 39% 18,000 69% 21,700 63%
Wiz =#xl I N ESAERT::)) JAL JAL 36,000 39% 18,000 70% 21,700 63%
pPNACGTE)) JAL JAL 36,000 40% 18,000 70% 21,700 64%
Wi  [ERERCRE) JAL JAL 36,000 39% 18,000 70% 21,700 63%
R (FFH JAL JAL 36,000 40% 18,000 70% 21,700 64%




TR RS ERR(8A260~8A31AERS)

JAL/JTA/JAC/RAC

st R RMEEIB| INREFRIRAEIS| SAEN NE R REEIE|
B #mimd® | #HHO RAE= E—5H E—55 E—5H

o [ EEe [EEa Y2 | mmix wE 8/26-8/31 | "pyals & 8/26-8/31 | "pyals &
Wi =He M 2 B EGACCT:)) JAL JAL 43,200 33% 21,600 67% 25,650 60%
JEhME [HEECAE) JAL JAL 43,200 33% 21,600 67% 25,650 60%
Wiz =X [INZ N EFACCT:)) JAL JAL 41,100 35% 20,550 68% 25,000 61%
K (FFD JAL JAL 41,100 34% 20,550 67% 25,000 60%
K% |RREFA) JAL JAL 41,100 35% 20,550 68% 25,000 61%
K (FFH JAL JAL 41,100 34% 20,550 67% 25,000 60%
Wi =Ri& I Z N EFACCT)) JAL JAL 44,200 34% 22,100 67% 27,000 60%
KR (FFH JAL JAL 44,200 36% 22,100 68% 27,000 61%
RIEFK [RRCHHE) JAL JAL 44,200 34% 22,100 67% 27,000 60%
KR (FFH JAL JAL 44,200 36% 22,100 68% 27,000 61%
Wil =g A I Z N EFAECT)) JAL JAL 42,200 35% 21,100 67% 25,650 60%
R (FFH JAL JAL 42,200 37% 21,100 69% 25,650 62%
N EVAC)) JAL JAL 42,200 35% 21,100 67% 25,650 60%
KR (FFH JAL JAL 42,200 37% 21,100 69% 25,650 62%
Wiy == I Z A EFAECT)) JAL JAL 42,200 35% 21,100 67% 25,650 60%
R (FFH JAL JAL 42,200 37% 21,100 69% 25,650 62%
B ESIETE) JAL JAL 42,200 35% 21,100 67% 25,650 60%
R (FFH JAL JAL 42,200 37% 21,100 69% 25,650 62%
Wk=ERE I ESAERT::)) JAL JAL 44,200 34% 22,100 67% 27,000 60%
pNACGZE)) JAL JAL 44,200 38% 22,100 69% 27,000 62%
ERBE [RRCHHE) JAL JAL 44,200 34% 22,100 67% 27,000 60%
pNACGTE)) JAL JAL 44,200 38% 22,100 69% 27,000 62%
\ifis =18 WK% [ER(HEA) JAL JTA 63,400 25% 31,700 62% 39,100 54%
AiEE [ER(@EA) JTA JAL 63,400 25% 31,700 62% 39,100 54%
lE=HE Wwas [ XBREF JAL JAC 35,000 41% 17,500 71% 21,050 65%
FEE PN ACGEE)) JAC JAL 35,000 41% 17,500 71% 21,050 65%
fll& =#l was | XBREF JAL JAL 37,000 37% 18,500 68% 22,400 62%
[T PG 2E)) JAL JAL 37,000 37% 18,500 68% 22,400 62%
lB=xX% &g | XEREF JAL JAL 39,100 36% 19,550 68% 23,700 61%
A% | KBRUFFD JAL JAL 39,100 36% 19,550 68% 23,700 61%
& =Rk = PG 5)) JAL JAL 42,200 38% 21,100 69% 25,650 62%
I CE B PN AL 25)) JAL JAL 42,200 38% 21,100 69% 25,650 62%
& =HEx &% XU JAL JAL 40,100 39% 20,050 70% 24,400 63%
2N PN A 2E)) JAL JAL 40,100 39% 20,050 70% 24,400 63%
la =5k W&z XU JAL JAL 42,200 36% 21,100 68% 25,650 61%
=GR | KXBR(EFE) JAL JAL 42,200 36% 21,100 68% 25,650 61%
WeE=ERS ) JAL JAL 42,200 39% 21,100 70% 25,650 63%
) JAL JAL 42,200 39% 21,100 70% 25,650 63%
HiR=HE ) JAL JAC 31,900 45% 15,950 72% 19,050 67%
) JAC JAL 31,900 45% 15,950 72% 19,050 67%
Fim=#xl ) JAL JAL 35,000 38% 17,500 69% 21,050 63%
) JAL JAL 35,000 38% 17,500 69% 21,050 63%
FR=K%H ) JAL JAL 37,000 37% 18,500 69% 22,400 62%
) JAL JAL 37,000 37% 18,500 69% 22,400 62%
FiR=RiE ) JAL JAL 40,100 40% 20,050 70% 24,400 63%
2)) JAL JAL 40,100 40% 20,050 70% 24,400 63%
Fim=HEX 23] JAL JAL 39,100 39% 19,550 69% 23,700 63%
) JAL JAL 39,100 39% 19,550 69% 23,700 63%
FR=EK ) JAL JAL 39,100 39% 19,550 69% 23,700 63%
) JAL JAL 39,100 39% 19,550 69% 23,700 63%
HiR=ER ) JAL JAL 40,100 41% 20,050 70% 24,400 64%
) JAL JAL 40,100 41% 20,050 70% 24,400 64%
A= ) JAL JAL 33,300 47% 16,650 74% 19,900 69%
) JAL JAL 33,300 47% 16,650 74% 19,900 69%
IMR=IRE ) JAL JAL 33,900 47% 16,950 74% 20,350 68%
) JAL JAL 33,900 47% 16,950 74% 20,350 68%
MR=LOFER ) JAL JAL 38,100 44% 19,050 72% 22,850 66%
JAL JAL 38,100 44% 19,050 72% 22,850 66%
IMA=HE JAL JAL 35,000 43% 17,500 72% 20,750 66%
JAL JAL 35,000 43% 17,500 72% 20,750 66%
INA=TEE JAL JAL 32,600 48% 16,300 74% 19,400 69%
JAL JAL 32,600 48% 16,300 74% 19,400 69%
INE=TEH JAL JAL 32,900 48% 16,450 74% 19,450 69%
JAL JAL 32,900 48% 16,450 74% 19,450 69%
IMA=BH JAL JAL 35,000 46% 17,500 73% 20,750 68%
JAL JAL 35,000 46% 17,500 73% 20,750 68%
Mr=#al JAL JAL 35.200 46% 17,600 73% 21,050 68%
JAL JAL 35,200 46% 17,600 73% 21,050 68%
R =FEFM JAL JAL 40,100 43% 20,050 72% 24,250 66%
JAL JAL 40,100 43% 20,050 72% 24,250 66%
IMA=KS JAL JAL 39,100 44% 19,550 72% 23,500 66%
JAL JAL 39,100 44% 19,550 72% 23,500 66%
IMNE=RIB JAL JAL 42,400 42% 21,200 71% 25,650 65%
JAL JAL 42,400 42% 21,200 71% 25,650 65%
INR=FER JAL JAL 40,100 43% 20,050 72% 24,250 66%
JAL JAL 40,100 43% 20,050 72% 24,250 66%
INR=E IR JAL JAL 40,100 43% 20,050 72% 24,250 66%
JAL JAL 40,100 43% 20,050 72% 24,250 66%
ME=RER JAL JAL 42,400 42% 21,200 71% 25,650 65%
JAL JAL 42,400 42% 21,200 71% 25,650 65%
IMEA=EEH JTA _[JTA/RAC 59,300 12% 29,650 56% 36,550 46%
JTA/RAC] JTA 59,300 12% 29,650 56% 36,550 46%
INA=T1E JAL JTA 63,400 30% 31,700 65% 39,100 57%
JTA _[JTA/RAC 63,400 13% 31,700 57% 39,100 46%
JTA JAL 63,400 30% 31,700 65% 39,100 57%
JTA/RAC| JTA 63,400 13% 31,700 57% 39,100 46%
== JTA [JTA/RAC 47,300 21% 23,650 61% 28,300 53%
JTA/RAC| JTA 47,300 21% 23,650 61% 28,300 53%
El=FR1E JTA [JTA/RAC 52,000 21% 26,000 60% 31,850 51%
JTA/RAC| JTA 52,000 21% 26,000 60% 31,850 51%
BEI=EE JAC JAC 28,500 47% 14,250 73% 18,250 66%
JAC JAC 28,500 47% 14,250 73% 18,250 66%
BERKB=5H JAC JAC 20,200 33% 10,100 66% 12,950 57%
JAC JAC 20,200 33% 10,100 66% 12,950 57%
BEXE=H"KERE JAC JAC 17.300 48% 8,650 74% 11,050 67%
53 JAC JAC 17.300 48% 8,650 74% 11,050 67%
PR (IRER) =& [ (RH) R [RR CRE) JAL/JTA[  JAL 50,900 40% 25,450 70% 30,600 64%
R (R FH JAL JAL 50,900 40% 25,450 70% 30,600 64%
EHRE [ZRCHR) JAL _[JAL/JTA 50,900 40% 25,450 70% 30,600 64%
pNACGTE)) JAL JAL 50,900 40% 25,450 70% 30,600 64%
AR (R E) = 8 (FRE) [ /R CFIH) JAL/JTA[ JAL 50,900 39% 25,450 70% 30,600 63%
ZR%E [Em@H) JAL _[JAL/JTA 50,900 39% 25,450 70% 30,600 63%




TR RS ERR(8A260~8A31AERS)

JAL/JTA/JAC/RAC

SEait R RMEEIB| INREFRIRAEIS| SAEN NE R REEIE|
e RED | #iE80 8/26-8/31 E—o % 8/26-8/31 E—7% % 8/26-8/31 E—o8 %
KO | KEQ | REE FEIES " HEES " EEES "

PR (ARER) =FAE [ (R E) 5 R CRE) JAL/JTA] JAL 49,400 37% 24,700 68% 29,650 62%
KB (FF1) JAL JAL 49,400 38% 24,700 69% 29,650 63%
PR EVACT) JAL _[JAL/JTA 49,400 37% 24,700 68% 29,650 62%
KB (FFFH) JAL JAL 49,400 38% 24,700 69% 29,650 63%
R (BB =162 MR () | KR EFD JAL JAL 50,400 39% 25,200 70% 30,250 63%
126 JTA JAL 50,400 42% 25,200 71% 30,250 65%
[EEE PTG EE)) JAL JAL 50,400 39% 25,200 70% 30,250 63%
12 JAL JTA 50,400 42% 25,200 71% 30,250 65%
PR (IRER) = LT [t (RE) 5[ RR CRE) JAL/JTA] JAL 49,400 29% 24,700 64% 29,650 57%
KR (FFH JAL JAL 49,400 38% 24,700 69% 29,650 63%
2 EFAERT::)) JAL _[JAL/JTA 49,400 29% 24,700 64% 29,650 57%
pNACGEE)) JAL JAL 49,400 38% 24,700 69% 29,650 63%
SR (RE) =LA [ B | XR(E”D JAL JAL 47,600 39% 23,800 69% 29,100 63%
126 JTA JAL 47,600 44% 23,800 72% 29,100 66%
e  [XERED JAL JAL 47,600 39% 23,800 69% 29,100 63%
126 JAL JTA 47,600 44% 23,800 72% 29,100 66%
PR (IRER) =/Mi i GIRE) ¢ | SRR CRIE) JAL/JTA[ JAL 44,200 41% 22,100 71% 26,950 64%
IMRE  [ER(FR) JAL _[JAL/JTA 44,200 41% 22,100 71% 26,950 64%
HEAB) =2 MME@XBEK| & JTA JAC 33,300 46% 16,650 73% 20,750 67%
IS 18 JAC JTA 33,300 46% 16,650 73% 20,750 67%
AR GRE) =l PEEBE| & JTA JAC 30,000 49% 15,000 75% 18,350 69%
PALLI$E &6 JAC JTA 30,000 49% 15,000 75% 18,350 69%
R CRE) =2 [R=CAE) %[ Xk FFD) JAL _[JAL/JAC 38,600 27% 19,300 63% 24,150 54%
] JAL JAC 38,600 20% 19,300 60% 24,150 50%
[ECE N PNTACGEE)) JAL/JAC| JAL 38,600 27% 19,300 63% 24,150 54%
HE JAC JAL 38,600 20% 19,300 60% 24,150 50%
ERCAE) =8ZAB| R (HA) #| _ERE JAL JAC 47,100 37% 23,550 68% 28,850 61%
R (FFH JAL JAL 47,100 33% 23,550 67% 28,850 59%
BEABE | BERE JAC JAL 47,100 37% 23,550 68% 28,850 61%
pNACGTE)) JAL JAL 47,100 33% 23,550 67% 28,850 59%
RRECAR) =ERB|RR(AE)X|_ERE JAL JAC 46,600 37% 23,300 68% 28,950 61%
BEAE JAL JAC 46,600 28% 23,300 64% 28,950 55%
ERER ERE JAC JAL 46,600 37% 23,300 68% 28,950 61%
BEAE JAC JAL 46,600 28% 23,300 64% 28,950 55%
RECHR)=@zB|RRCAR) %[ _ERE JAL JAC 48,300 39% 24,150 69% 29,650 62%
BEXE JAL JAC 49,200 29% 24,600 64% 30,200 56%
[EFA-E ERE JAC JAL 48,300 39% 24,150 69% 29,650 62%
BEAE JAC JAL 49,200 29% 24,600 64% 30,200 56%
RRCRE) =Kk R8| R (R %| ERE JAL JAC 49,700 37% 24,850 69% 30,900 61%
HKREE | ERE JAC JAL 49,700 37% 24,850 69% 30,900 61%
EEXE JAC JAL 49,700 32% 24,850 66% 30,900 58%
Bl EEXE [ JAC JAC JAL 49,700 43% 24,850 72% 30,900 65%
RRCRAE)=5# [RR(HA)%| ERE JAL JAC 50,100 38% 25,050 69% 31,150 61%
5% BERE JAC JAL 50,100 38% 25,050 69% 31,150 61%
EEXE JAC JAL 50,100 34% 25,050 67% 31,150 59%
HKBER | BEKXE | JAC JAC JAL 50,100 41% 25,050 70% 31,150 63%
AR (FH) =BERB| AR (FFH) 5 U JAL JAC 41,900 31% 20,950 66% 25,400 58%
EEINCE R JAC JAL 41,900 31% 20,950 66% 25,400 58%
KR () =ERB| KBk (FFH % [ JAL JAC 41,800 30% 20,900 65% 25,650 57%
EEXE JAL JAC 41,800 22% 20,900 61% 25,650 52%
ERER IR JAC JAL 41,800 30% 20,900 65% 25,650 57%
BEAE JAC JAL 41,800 22% 20,900 61% 25,650 52%
KR (B =@B2B| KR(FF#| _ERES JAL JAC 43,300 33% 21,650 67% 26,350 59%
BEAE JAL JAC 44,100 24% 22,050 62% 27,000 53%
mee% BERE JAC JAL 43,300 33% 21,650 67% 26,350 59%
BEAE JAC JAL 44,100 24% 22,050 62% 27,000 53%
AR (FH) =4k RE| KR (FFHR| ERE JAL JAC 44,500 32% 22,250 66% 27,400 58%
HKREFE | EBRE JAC JAL 44,500 32% 22,250 66% 27,400 58%
BEAE JAC JAL 44,500 28% 22,250 64% 27,400 56%
KR (R =55 | KBRFMH%| BERS JAL JAC 44,900 33% 22,450 67% 27,700 59%
EE ERE JAC JAL 44,900 33% 22,450 67% 27,700 59%
BEAE JAC JAL 44,900 31% 22,450 66% 27,700 57%
BRE=EXXE FERES ERS JAC JAC 33,700 35% 16,850 67% 20,300 61%
BEAEE | BREE JAC JAC 33,700 35% 16,850 67% 20,300 61%
BE=BRE5 EHES BERE JAC JAC 34,600 32% 17,300 66% 21,250 58%
BEAE JAC JAC 34,600 30% 17,300 65% 21,250 57%
ERER BERE JAC JAC 34,600 32% 17,300 66% 21,250 58%
BEAE JAC JAC 34,600 30% 17,300 65% 21,250 57%
' =15 EHEES ERS JAC JAC 35,100 37% 17,550 69% 21,300 62%
EERE JAC JAC 35,100 34% 17,550 67% 21,300 60%
BeBF RS JAC JAC 35,100 37% 17,550 69% 21,300 62%
EERE JAC JAC 35,100 34% 17,550 67% 21,300 60%
12 = hK RER P GES ERS JAC JAC 36,300 36% 18,150 68% 22,350 60%
KREE | ERE JAC JAC 36,300 36% 18,150 68% 22,350 60%
EERE JAC JAC 36,300 37% 18,150 68% 22,350 61%
55 \/EKXS | JAC JAC JAC 36,300 49% 18,150 75% 22,350 69%
&t =5 1 5 ERS JAC JAC 36,700 37% 18,350 68% 22,600 61%
5% B \R & JAC JAC 36,700 37% 18,350 68% 22,600 61%
BERE JAC JAC 36,700 39% 18,350 70% 22,600 63%
hKRER | BEKE | JAC JAC JAC 36,700 47% 18,350 73% 22,600 67%
HRCAE) =5MBE[EZCAR) %[ R\ JTA RAC 63,400 17% 31,700 58% 39,100 49%
EEEE T TE ) RAC [JAL/JTA 63,400 23% 31,700 62% 39,100 53%
AiE RAC JTA 63,400 17% 31,700 58% 39,100 49%
AR =5BE| SMERE |9 GERH) RAC JAL 52,100 31% 26,050 65% 31,950 58%
Kk (B%) =5ME|XR (R %] Hi\E JTA RAC 52,100 19% 26,050 60% 31,950 51%
EEHEE T TE ) RAC JTA 52,100 31% 26,050 65% 31,950 58%
AiE RAC JTA 52,100 19% 26,050 60% 31,950 51%
2HE (P =50E] SHREE [HEGHR) RAC JTA 51,000 36% 25,500 68% 31,350 61%
& =5 E CE e TE ) RAC JTA 46,600 31% 23,300 66% 28,600 58%
AR (BB =SMEPR@MRE| R\ JTA/RAC] RAC 34,400 8% 17,200 54% 20,850 44%
AiE RAG _|JTA/RAC] 34,400 8% 17,200 54% 20,850 44%
RER(HBR)=AXE #8 (BRI JAL/JTA[JTA/RAC 54,800 10% 27,400 55% 33,650 45%
4 (BRER) JTA/RAC|JAL/JTA 54,800 10% 27.400 55% 33,650 45%
KR (FFH) =AKE 8 (R ER) JAL _[JTA/RAC 43,400 19% 21,700 59% 25,600 52%
4 (BRE) JTA/RAC]  JAL 43,400 19% 21,700 59% 25,600 52%
KR (BT =AKE 8 () JTA [JTA/RAC 43,400 19% 21,700 59% 25,600 52%
B (BRE) JTA/RAC] JTA 43,400 19% 21,700 59% 25,600 52%
AHE (FH) =AKE #8 (BB ) JTA _[JTA/RAC 48,000 18% 24,000 59% 28,500 51%
4 (BRE) JTA/RAC] JTA 48,000 18% 24,000 59% 28,500 51%
BE=AKE = 8 (FRER) JTA _[JTA/RAC 35,300 23% 17,650 62% 21,200 54%
ihis (RE) JTA/RAC| JTA 35,300 23% 17,650 62% 21,200 54%




TR RERS ERR(9OA1H~10A25AKRS)

JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEH BEE

B o [ Ehe [EEa VA mEix wE 9/1-10/29 i wE 9/1-10/25 &0 =
RECRE) =2 [ExCHB) %+ (RH) JAL [JTA/RAC 57,100 11% 28,550 55% 36,550 43%
EEE T ) JTA/RAC]  JAL 57,100 1% 28,550 55% 36,550 43%
HR(CPE)=F1E [RRCRB) R 4E GRS JAL [JTA/RAC 61,000 12% 30,500 56% 39,050 44%
KB (BHE) JAL JTA 61,000 19% 30,500 59% 39,050 48%
FIEE 8RR JTA/RAC]  JAL 61,000 12% 30,500 56% 39,050 44%
KR (5D =% 31| Kk (5D 5[z (FR) JAL JAL 44,700 37% 22,350 69% 28,600 60%
LR (BT F i) JAL JAL 44,700 36% 22,350 68% 28,600 59%
TRl [RECRE) JAL JAL 44,700 37% 22,350 69% 28,600 60%
LI (BT F i) JAL JAL 44,700 36% 22,350 68% 28,600 59%
KWk (BTE) =% 31| KWk (B8 #) 5[ (FA) JAL JAL 44,700 37% 22,350 69% 28,600 60%
LR (BT F i) JAL JAL 44,700 36% 22,350 68% 28,600 59%
ES-EIEEGACT:) JAL JAL 44,700 37% 22,350 69% 28,600 60%
R GHEF i) JAL JAL 44,700 36% 22,350 68% 28,600 59%
KR (R =)l [ KBk () %[ "z CRH) JAL JAL 42,100 39% 21,050 70% 26,950 61%
JENIE: 5 ) JAL JAL 42,100 39% 21,050 70% 26,950 61%
Kk (B878) =8Il [ KBz (BE7E) %[ H5 ) JAL JAL 42,100 39% 21,050 70% 26,950 61%
JENIE ) JAL JAL 42,100 39% 21,050 70% 26,950 61%
KB () =8I% [ KR (D) % ) JAL JAL 42,600 38% 21,300 69% 27,250 60%
Sk 5 ) JAL JAL 42,600 38% 21,300 69% 27,250 60%
KBz (B378) =HI% [ X8R (BAFE) % ) JAL JAL 42,600 38% 21,300 69% 27,250 60%
Sk 5 ) JAL JAL 42,600 38% 21,300 69% 27,250 60%
KB () =% [ KRR % ) JAL JAL 42,100 38% 21,050 69% 26,950 61%
LR ) JAL JAL 42,100 38% 21,050 69% 26,950 61%
KBz (B3#8) =I5 [ KBk (BFE) % | ) JAL JAL 42,100 38% 21,050 69% 26,950 61%
L% ) JAL JAL 42,100 38% 21,050 69% 26,950 61%
KR (R F}) =ifE | KRR (A ) JAL JAL 42,500 30% 21,250 65% 27,200 55%
BRAESE ) JAL JAL 42,500 30% 21,250 65% 27,200 55%
KR (BEE) =ikfE | AR (BHFE) & ) JAL JAL 42,500 30% 21,250 65% 27,200 55%
BRAESE ) JAL JAL 42,500 30% 21,250 65% 27,200 55%
KB (A ==iR [KIR(FFD & ) JAL JAL 38,900 33% 19,450 67% 24,900 57%
ZIR% ) JAL JAL 38,900 33% 19,450 67% 24,900 57%
KB (BiFE) = =R [ KPR (BIFE) %[ ) JAL JAL 38,900 33% 19,450 67% 24,900 57%
ZiR% ) JAL JAL 38,900 33% 19,450 67% 24,900 57%
KR (R FH) =12k | KRR (A1) JAC JAC 21,100 40% 10,550 70% 13,500 62%
[EGE3 JAC JAC 21,100 40% 10,550 70% 13,500 62%
KR (75D =BF B[ KR (FFH & JAL JAC 33,500 24% 16,750 62% 21,450 51%
BYER | JAC JAL 33,500 24% 16,750 62% 21,450 51%
KIR(RFD) =2 [ AR () | il (GRER) JAL | JTA/RAC 44,200 22% 22,100 61% 28,300 50%
Bt T ) JTA/RAC|  JAL 44,200 22% 22,100 61% 28,300 50%
KR (BF) == | ABR (BFE) 5| bk (L&) JTA [JTA/RAC 44,200 22% 22,100 61% 28,300 50%
Bt I ) JTA/RAC|  JTA 44,200 22% 22,100 61% 28,300 50%
KR (RFH) =FR1E [ Al () F 0l (GRER) JAL | JTA/RAC 49,800 20% 24,900 60% 31,850 49%
15 | e (AR &R JTA/RAC| _ JAL 49,800 20% 24,900 60% 31,850 49%
K (BF) =H1E | ABR (BFE) 5| ih#k (FRE) JTA [JTA/RAC 49,800 20% 24,900 60% 31,850 49%
AiEH hi (AR 2) JTA/RAC|  JTA 49,800 20% 24,900 60% 31,850 49%
BEE (P =ZE5| A5 E (P LR FTR) JAL JAL 40,900 38% 20,450 69% 26,200 60%
KR FE AR EFTFR) JAL JAL 40,900 38% 20,450 69% 26,200 60%
2EE(FE) =B & aE (R % hE JTA _|JTA/RAC 45,300 26% 22,650 63% 29,000 53%
EH% A JTA/RAC|  JTA 45,300 26% 22,650 63% 29,000 53%
R2EE(FE) =F1E (& E (P % JTA | JTA/RAC 46,500 31% 23,250 65% 29,750 56%
aER |5 JTA/RAC|  JTA 46,500 31% 23,250 65% 29,750 56%
FLIR (B FaR) = /M2 [4LIR B F i) % JAL JAL 34,500 44% 17,250 72% 22,100 64%
MRS JAL JAL 34,500 44% 17,250 72% 22,100 64%
AREFTR) —BAROE[AEFHTH R JAL JAL 36,000 49% 18,000 74% 23,050 67%
EinI=R o JAL JAL 36,000 49% 18,000 74% 23,050 67%
FLIR (B F %) = R LU [4LIR (37 F %) % JAL JAL 36,000 49% 18,000 75% 23,050 68%
] L 5 JAL JAL 36,000 49% 18,000 75% 23,050 68%
IR TR =LEB[HIREF TR X JAL JAL 37,000 49% 18,500 74% 23,700 67%
LE% |3 JAL JAL 37,000 49% 18,500 74% 23,700 67%
AR BT F ) = L OF 8| 4LIR BT T %) 5| 3 JAL JAL 43,200 43% 21,600 72% 27,650 64%
I=ESTE3 JAL JAL 43,200 43% 21,600 72% 27,650 64%
FLIR (B F ) = HE [4LIR G Fi%) %| 5 JAL JAL 38,500 45% 19,250 72% 24,650 65%
HER |3 JAL JAL 38,500 45% 19,250 72% 24,650 65%
FLIR (BT a) =188 [4LIR FFT5%) %| 3 JAL JAL 40,100 43% 20,050 72% 25,650 64%
R E JAL JAL 40,100 43% 20,050 72% 25,650 64%
ALIR (BT = B[ fLIR T R) %[ 3 JAL JAL 41,000 42% 20,500 71% 26,250 63%
SN E JAL JAL 41,000 42% 20,500 71% 26,250 63%
IR FFH) = [IREFTR %3 JAL JAL 42,600 41% 21,300 71% 27,250 63%
IS E JAL JAL 42,600 41% 21,300 71% 27,250 63%
LR (FHF&) =LA TFE) %3 JAL JAL 44,900 39% 22,450 69% 28,750 61%
INTE I E JAL JAL 44,900 39% 22,450 69% 28,750 61%
IR (BT ) =L M [ 4L (F T 5%) %[ 3 JAL JAL 43,200 45% 21,600 73% 27,650 65%
EZNLEE JAL JAL 43,200 45% 21,600 73% 27,650 65%
IR FTFHR) =Ko [HREFTR %3 JAL JAL 43,200 44% 21,600 72% 27,650 64%
x5% |3 JAL JAL 43,200 44% 21,600 72% 27,650 64%
IR FTFHR) =RBHLREFETR %3 JAL JAL 45,300 44% 22,650 72% 29,000 64%
RIS |3 JAL JAL 45,300 44% 22,650 72% 29,000 64%
IR F TR =BEABREGETR %3 JAL JAL 44,200 44% 22,100 72% 28,300 64%
S JAL JAL 44,200 44% 22,100 72% 28,300 64%
IR FTFR) ==B[HLREGETHR %3 JAL JAL 45,300 42% 22,650 71% 29,000 63%
HEFE JAL JAL 45,300 42% 22,650 71% 29,000 63%
HIRF TR =EREHEFHTH R JAL JAL 50,400 38% 25,200 69% 32,250 60%
B R B % JAL JAL 50,400 38% 25,200 69% 32,250 60%
AL =l GBI [ ALIR (BT F3%) % 2 JAL JAL 52,700 37% 26,350 68% 33,750 59%
7 JAL JTA 52,700 38% 26,350 69% 33,750 60%
AR (PED) JAL JTA 52,700 38% 26,350 69% 33,750 60%
126 JAL JTA 52,700 40% 26,350 70% 33,750 62%
hiB () KR (HA) JAL JAL 52,700 37% 26,350 68% 33,750 59%
KB (BHE) JTA JAL 52,700 38% 26,350 69% 33,750 60%
AEE (PED) JTA JAL 52,700 38% 26,350 69% 33,750 60%
26 JTA JAL 52,700 40% 26,350 70% 33,750 62%




TR RERS ERR(9OA1H~10A25AKRS)

JAL/JTA/JAC/RAC

sh SEait R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
R BEH BEH BEH
o [ EED 0/1-10/25 o 9/1-10/25 &5 wE 9/1-10/25 4o =

HIREFH TR =RE BELE JAL JTA 67,100 32% 33,550 66% 42,950 56%
BRI JTA JAL 67,100 32% 33,550 66% 42,950 56%
& =2 ) B JAL JAL 53,600 39% 26,800 69% 34,300 61%
B JAL JAL 53,600 34% 26,800 67% 34,300 58%
FIE JAL JAL 53,600 39% 26,800 69% 34,300 61%
E JAL JAL 53,600 34% 26,800 67% 34,300 58%
& =1 T JAL JAL 53,600 37% 26,800 69% 34,300 60%
H JAL JAL 53,600 37% 26,800 69% 34,300 60%
12 =gl T JAL JAL 53,600 37% 26,800 68% 34,300 60%
T JAL JAL 53,600 37% 26,800 68% 34,300 60%
1B =I5 H JAL JAL 53,600 36% 26,800 68% 34,300 59%
H JAL JAL 53,600 36% 26,800 68% 34,300 59%
[T H JAL JAL 52,600 31% 26,300 66% 33,650 56%
JAL JAL 52,600 23% 26,300 61% 33,650 51%
JAL JAL 52,600 31% 26,300 66% 33,650 56%
JAL JAL 52,600 23% 26,300 61% 33,650 51%
wEE=HH JAL JAL 45,200 40% 22,600 70% 28,950 61%
JAL JAL 45,200 31% 22,600 66% 28,950 56%
JAL JAL 45,200 40% 22,600 70% 28,950 61%
JAL JAL 45,200 31% 22,600 66% 28,950 56%
JAL JAL 44,600 40% 22,300 70% 28,550 61%
JAL JAL 44,600 33% 22,300 67% 28,550 57%
JAL JAL 44,600 40% 22,300 70% 28,550 61%
JAL JAL 44,600 33% 22,300 67% 28,550 57%
B =7c% JAL JAL 43,600 32% 21,800 66% 27,900 56%
JAL JAL 43,600 32% 21,800 66% 27,900 56%
&k =%k JAL JAL 43,500 37% 21,750 68% 27,850 59%
JAL JAL 43,500 29% 21,750 65% 27,850 55%
JAL JAL 43,500 37% 21,750 68% 27,850 59%
JAL JAL 43,500 29% 21,750 65% 27,850 55%
(R JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 34% 20,050 67% 25,650 58%
JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 34% 20,050 67% 25,650 58%
B =%5 JAL JAL 38,100 33% 19,050 67% 24,400 57%
JAL JAL 38,100 33% 19,050 67% 24,400 57%
'R =/ JAL JAL 37,900 42% 18,950 71% 24,250 63%
JAL JAL 37,900 42% 18,950 71% 24,250 63%
BE=5t JTA__[JTA/RAC 39,100 20% 19,550 60% 25,000 49%
JTA/RAC|  JTA 39,100 20% 19,550 60% 25,000 49%
Bl =h1E JTA |JTA/RAC 39,800 27% 19,900 64% 25,450 53%
JTA/RAC|  JTA 39,800 27% 19,900 64% 25,450 53%
iR =1t JAL JAL 30,900 41% 15,450 70% 19,800 62%
JAL JAL 30,900 41% 15,450 70% 19,800 62%
B =1lE JAL JAL 31,400 44% 15,700 72% 20,100 64%
JAL JAL 31,400 44% 15,700 72% 20,100 64%
SRR ] JAL JAL 32,900 42% 16,450 71% 21,050 63%
JAL JAL 32,900 42% 16,450 71% 21,050 63%
ESSTIRTNA JAL JAL 42,400 40% 21,200 70% 27,150 62%
JAL JAL 42,400 40% 21,200 70% 27,150 62%
XK B feI=P JAL JAL 46,300 41% 23,150 71% 29,650 62%
i =R JAL JAL 46,300 42% 23,150 71% 29,650 63%
JAL JAL 46,300 42% 23,150 71% 29,650 63%
ES N JAL JAL 49,100 39% 24,550 70% 31,400 61%
JAL JAL 49,100 35% 24,550 67% 31,400 58%
JAL JAL 49,100 39% 24,550 70% 31,400 61%
JAL JAL 49,100 35% 24,550 67% 31,400 58%
Himh=HE JAL JAL 44,700 43% 22,350 71% 28,600 64%
JAL JAL 44,700 43% 22,350 71% 28,600 64%
Zim Bl =l JAL JAL 50,900 38% 25,450 69% 32,600 60%
JAL JAL 50,900 38% 25,450 69% 32,600 60%
ESEEEEEE JAL JTA 73,900 31% 36,950 65% 47,300 56%
JTA JAL 73,900 31% 36,950 65% 47,300 56%
TEJI=/1ix JAL JAL 40,700 41% 20,350 70% 26,050 62%
JAL JAL 40,700 41% 20,350 70% 26,050 62%
B =Faft Bk JAL JAL 46,300 40% 23,150 70% 29,650 61%
JAL JAL 46,300 40% 23,150 70% 29,650 61%
TBJI =R JAL JAL 46,300 41% 23,150 70% 29,650 62%
JAL JAL 46,300 41% 23,150 70% 29,650 62%
BI=HE JAL JAL 44,700 42% 22,350 71% 28,600 63%
JAL JAL 44,700 42% 22,350 71% 28,600 63%
FEJII=#20 JAL JAL 50,900 36% 25,450 68% 32,600 59%
JAL JAL 50,900 36% 25,450 68% 32,600 59%
BJI=FiE JAL JTA 71,900 32% 35,950 66% 46,000 56%
JTA JAL 71,900 32% 35,950 66% 46,000 56%
BIEE= /MR JAL JAL 40,100 41% 20,050 71% 25,650 62%
JAL JAL 40,100 41% 20,050 71% 25,650 62%
Sk =raft R JAL JAL 46,300 39% 23,150 70% 29,650 61%
5 JAL JAL 46,300 39% 23,150 70% 29,650 61%
HIEE =R Ll = JAL JAL 46,300 40% 23,150 70% 29,650 62%
5 H JAL JAL 46,300 40% 23,150 70% 29,650 62%
=8 G H) JAL JAL 49,100 37% 24,550 69% 31,400 60%
5 H) JAL JAL 49,100 37% 24,550 69% 31,400 60%
HIE=HE = (HE) JAL JAL 44,700 41% 22,350 71% 28,600 62%
5 H) JAL JAL 44,700 41% 22,350 71% 28,600 62%
HIEE =410 5 H) JAL JAL 50,900 36% 25,450 68% 32,600 59%
5 H) JAL JAL 50,900 36% 25,450 68% 32,600 59%
figx="H1E = CHHE) JAL JTA 71,500 32% 35,750 66% 45,750 56%
5 H) JTA JAL 71,500 32% 35,750 66% 45,750 56%
L=/ 5 H) JAL JAL 40,700 40% 20,350 70% 26,050 62%
= CHE) JAL JAL 40,700 40% 20,350 70% 26,050 62%
HL=mftEE = CHE) JAL JAL 46,300 39% 23,150 69% 29,650 61%
5 H) JAL JAL 46,300 39% 23,150 69% 29,650 61%




TR RERS ERR(9OA1H~10A25AKRS)

JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEE BEE
o [ Ehe [EEa YA mEix wE 9/1-10/29 i wE 9/1-10/25 4o =
HIL=R0 L% = CHHE) JAL JAL 46,300 40% 23,150 70% 29,650 61%
[EIES = CHHE) JAL JAL 46,300 40% 23,150 70% 29,650 61%
HLE=HE wLF = CHHE) JAL JAL 44,700 41% 22,350 70% 28,600 62%
HEE = CHHE) JAL JAL 44,700 41% 22,350 70% 28,600 62%
L =#l L% = CHHE) JAL JAL 50,900 35% 25,450 68% 32,600 59%
[T = CHHE) JAL JAL 50,900 35% 25,450 68% 32,600 59%
HLE=hiE HL % = (CHHE) JAL JTA 70,900 32% 35,450 66% 45,400 56%
REH = CHE) JTA JAL 70,900 32% 35,450 66% 45,400 56%
EAE =/ BRAESE = CRA) JAL JAL 35,100 41% 17,550 71% 22,450 62%
IMRFE = CHE) JAL JAL 35,100 41% 17,550 71% 22,450 62%
EAE=FftEE | FitEUES [BR (CHE) JAL JAL 45,300 33% 22,650 67% 29,000 57%
e BRAR T = CREA) JAL JAL 45,300 34% 22,650 67% 29,000 58%
i LU 5 = (CHHE) JAL JAL 45,300 34% 22,650 67% 29,000 58%
EWE=IE6 BRAESE R (CHHE) JAL JAL 48,900 30% 24,450 65% 31,300 55%
INEES = CHHE) JAL JAL 48,900 30% 24,450 65% 31,300 55%
EWE=HE RS = CRIEA) JAL JAL 43,700 35% 21,850 68% 27,950 59%
A=) JAL JAC 43,700 33% 21,850 66% 27,950 57%
FET N ET G JAL JAL 43,700 35% 21,850 68% 27,950 59%
RER (FFD JAC JAL 43,700 33% 21,850 66% 27,950 57%
EAE=#l WEER [HECRE) JAL JAL 49,800 30% 24,900 65% 31,850 55%
RER (FFD JAL JAL 49,800 20% 24,900 60% 31,850 49%
WL  ["RCRE) JAL JAL 49,800 30% 24,900 65% 31,850 55%
RER (FFD JAL JAL 49,800 20% 24,900 60% 31,850 49%
=LA BEER R CRE) JAL JAL 52,600 31% 26,300 66% 33,650 56%
JEAME [HRCHE) JAL JAL 52,600 31% 26,300 66% 33,650 56%
EWEE=K% WEER [ERCHE) JAL JAL 41,700 44% 20,850 72% 26,700 64%
RER (FFD JAL JAL 41,700 36% 20,850 68% 26,700 59%
A% |[HRCHH) JAL JAL 41,700 44% 20,850 72% 26,700 64%
EEE=RIE EEE N EGACT) JAL JAL 43,200 45% 21,600 73% 27,650 65%
pPNACGTE)) JAL JAL 43,200 40% 21,600 70% 27,650 62%
RIGHE [HRCHH) JAL JAL 43,200 45% 21,600 73% 27,650 65%
RIR (7 JAL JAL 43,200 40% 21,600 70% 27,650 62%
EEE=HEK EEE N EGACT) JAL JAL 43,200 43% 21,600 72% 27,650 64%
pNACGTE)) JAL JAL 43,200 38% 21,600 69% 27,650 60%
2SS VACT) JAL JAL 43,200 43% 21,600 72% 27,650 64%
pPNACGTE)) JAL JAL 43,200 38% 21,600 69% 27,650 60%
B WEER [HRCRH) JAL JAL 43,200 43% 21,600 72% 27,650 64%
pNACGEE)) JAL JAL 43,200 38% 21,600 69% 27,650 60%
=R |[ERCHEA) JAL JAL 43,200 43% 21,600 72% 27,650 64%
AR () JAL JAL 43,200 38% 21,600 69% 27,650 60%
HE=ERS HERE [ERCEH) JAL JAL 44,200 44% 22,100 72% 28,300 64%
R (27 JAL JAL 44,200 40% 22,100 70% 28,300 62%
EREH% [RE(CHH) JAL JAL 44,200 44% 22,100 72% 28,300 64%
R (27} JAL JAL 44,200 40% 22,100 70% 28,300 62%
EHEE=RIE BEER GACELED) JAL JTA 64,500 33% 32,250 66% 41,300 57%
AiER CHE) JTA JAL 64,500 33% 32,250 66% 41,300 57%
HHR= EHR CFIH) JAL JAL 32,900 44% 16,450 72% 21,050 64%
R [€RL:D) JAL JAL 32,900 44% 16,450 72% 21,050 64%
EH=miAE EHR CRE) JAL JAL 37,000 44% 18,500 72% 23,700 64%
Einl=h CRA) JAL JAL 37,000 44% 18,500 72% 23,700 64%
HFH=ML & CRE) JAL JAL 37,000 45% 18,500 73% 23,700 65%
=TS CHH) JAL JAL 37,000 45% 18,500 73% 23,700 65%
EH=L5 EHR CRE) JAL JAL 38,100 44% 19,050 72% 24,400 64%
NEES [€RL::D) JAL JAL 38,100 44% 19,050 72% 24,400 64%
EH=LOFR EHR CRE) JAL JAL 40,100 45% 20,050 72% 25,650 65%
I=ESTH [€RL::D) JAL JAL 40,100 45% 20,050 72% 25,650 65%
EH=HE HEHER CRE) JAL JAL 37,900 43% 18,950 71% 24,250 63%
JAL JAC 37,900 39% 18,950 70% 24,250 61%
JAL JAL 37,900 43% 18,950 71% 24,250 63%
JAC JAL 37,900 39% 18,950 70% 24,250 61%
EH=0EE JAL JAL 35,000 48% 17,500 74% 22,400 67%
JAL JAL 35,000 48% 17,500 74% 22,400 67%
EH=mi JAL JAL 37,000 45% 18,500 72% 23,700 65%
JAL JAL 37,000 45% 18,500 72% 23,700 65%
EH=mH JAL JAL 38,100 45% 19,050 72% 24,400 65%
JAL JAL 38,100 45% 19,050 72% 24,400 65%
HEH=m0 JAL JAL 38,100 45% 19,050 73% 24,400 65%
JAL JAL 38,100 37% 19,050 68% 24,400 59%
JAL JAL 38,100 45% 19,050 73% 24,400 65%
JAL JAL 38,100 37% 19,050 68% 24,400 59%
BEHR=IAM BEHR R CHHE) JAL JAL 45,200 40% 22,600 70% 28,950 61%
EZRIE: = CHHE) JAL JAL 45,200 40% 22,600 70% 28,950 61%
BEHR=KS EHRE [ZRCHE) JAL JAL 40,100 46% 20,050 73% 25,650 65%
KB (5D JAL JAL 40,100 36% 20,050 68% 25,650 59%
p N EVACETE)) JAL JAL 40,100 46% 20,050 73% 25,650 65%
KR (FFH JAL JAL 40,100 36% 20,050 68% 25,650 59%
BEHR=RE EHRE [ZRCRE) JAL JAL 43,200 44% 21,600 72% 27,650 64%
KR (FFH JAL JAL 43,200 38% 21,600 69% 27,650 60%
RIEFK [RRCHE) JAL JAL 43,200 44% 21,600 72% 27,650 64%
KR (FFH JAL JAL 43,200 38% 21,600 69% 27,650 60%




TR RERS ERR(9OA1H~10A25AKRS)

JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEE BEE
o [ Ehe [EEa YA mEix wE 9/1-10/29 i wE 9/1-10/25 4o =
BEHR=RX T ESACEED) JAL JAL 41,700 44% 20,850 72% 26,700 64%
KB (FF1) JAL JAL 41,700 38% 20,850 69% 26,700 60%
A% [RRCHHE) JAL JAL 41,700 44% 20,850 72% 26,700 64%
KB (1) JAL JAL 41,700 38% 20,850 69% 26,700 60%
EHR=ER EHEE [ZRCEH) JAL JAL 41,700 44% 20,850 72% 26,700 64%
KR (1) JAL JAL 41,700 38% 20,850 69% 26,700 60%
B N ESAET) JAL JAL 41,700 44% 20,850 72% 26,700 64%
KR (FF1) JAL JAL 41,700 38% 20,850 69% 26,700 60%
EHR=ERE I T EVACEED) JAL JAL 43,200 44% 21,600 72% 27,650 64%
AR (1) JAL JAL 43,200 39% 21,600 70% 27,650 61%
ERE% [RE(PH) JAL JAL 43,200 44% 21,600 72% 27,650 64%
R (7D JAL JAL 43,200 39% 21,600 70% 27,650 61%
HH=RE BHR R (HHE) JAL JTA 62,500 34% 31,250 67% 40,000 58%
hiER = (FH) JTA JAL 62,500 34% 31,250 67% 40,000 58%
ZiR=/i 3 = (FH) JAL JAL 32,900 43% 16,450 71% 21,050 63%
= ) JAL JAL 32,900 43% 16,450 71% 21,050 63%
ZR=FMiAE = ) JAL JAL 37,000 44% 18,500 72% 23,700 64%
5 ) JAL JAL 37,000 44% 18,500 72% 23,700 64%
ZR=RL 5 ) JAL JAL 37,000 45% 18,500 72% 23,700 64%
5 ) JAL JAL 37,000 45% 18,500 72% 23,700 64%
ZR=IE& 5 ) JAL JAL 38,100 44% 19,050 72% 24,400 64%
G ) JAL JAL 38,100 44% 19,050 72% 24,400 64%
ZiR=LAFH 5 ) JAL JAL 40,100 44% 20,050 72% 25,650 64%
5 ) JAL JAL 40,100 44% 20,050 72% 25,650 64%
ZIR=HE 5 ) JAL JAL 39,000 40% 19,500 70% 24,950 62%
) JAL JAC 39,000 39% 19,500 69% 24,950 61%
) JAL JAL 39,000 40% 19,500 70% 24,950 62%
) JAC JAL 39,000 39% 19,500 69% 24,950 61%
ZR=#5 ) JAL JAL 35,000 47% 17,500 74% 22,400 66%
) JAL JAL 35,000 47% 17,500 74% 22,400 66%
ZiR=m= ) JAL JAL 37,000 44% 18,500 72% 23,700 64%
) JAL JAL 37,000 44% 18,500 72% 23,700 64%
ZR=8% ) JAL JAL 37,000 46% 18,500 73% 23,700 65%
) JAL JAL 37,000 46% 18,500 73% 23,700 65%
ZiR=#b ) JAL JAL 38,100 45% 19,050 72% 24,400 65%
) JAL JAL 38,100 38% 19,050 69% 24,400 60%
) JAL JAL 38,100 45% 19,050 72% 24,400 65%
) JAL JAL 38,100 38% 19,050 69% 24,400 60%
ZR=%2AM ZR% |HER(CHEA) JAL JAL 44,600 40% 22,300 70% 28,550 61%
EZNLE A EGACT) JAL JAL 44,600 40% 22,300 70% 28,550 61%
ZiR=X% ZR%E [ER(HH) JAL JAL 40,100 45% 20,050 72% 25,650 65%
AR () JAL JAL 40,100 37% 20,050 69% 25,650 60%
A5% |[ERECRH) JAL JAL 40,100 45% 20,050 72% 25,650 65%
ZR=RK ZR® |[ER(H) JAL JAL 43,200 44% 21,600 72% 27,650 64%
AR () JAL JAL 43,200 39% 21,600 70% 27,650 61%
REBEE [RECHH) JAL JAL 43,200 44% 21,600 72% 27,650 64%
AR () JAL JAL 43,200 39% 21,600 70% 27,650 61%
ZIR=8X ZIR® |[ER(H) JAL JAL 41,700 44% 20,850 72% 26,700 64%
AR () JAL JAL 41,700 39% 20,850 70% 26,700 61%
BXE [RECEH) JAL JAL 41,700 44% 20,850 72% 26,700 64%
AR () JAL JAL 41,700 39% 20,850 70% 26,700 61%
ZR=EK ZR® |[ER(H) JAL JAL 41,700 44% 20,850 72% 26,700 64%
AR (FF) JAL JAL 41,700 39% 20,850 70% 26,700 61%
EEE N EVACCT)) JAL JAL 41,700 44% 20,850 72% 26,700 64%
AR (FF) JAL JAL 41,700 39% 20,850 70% 26,700 61%
=R=ERB ZR% |ER(H) JAL JAL 43,200 44% 21,600 72% 27,650 64%
AR (FF) JAL JAL 43,200 40% 21,600 70% 27,650 62%
EREH% [RECHH) JAL JAL 43,200 44% 21,600 72% 27,650 64%
s JAL JAL 43,200 40% 21,600 70% 27,650 62%
ZiR=R1E ZiR% JAL JTA 62,500 34% 31,250 67% 40,000 57%
AiER JTA JAL 62,500 34% 31,250 67% 40,000 57%
BE=/R MEE JAL JAL 31,800 39% 15,900 70% 20,350 61%
INAFE JAL JAL 31,800 39% 15,900 70% 20,350 61%
ME=FiaE E=ES JAL JAL 32,900 45% 16,450 73% 21,050 65%
GEGI=RS JAL JAL 32,900 45% 16,450 73% 21,050 65%
ME=REL BEE JAL JAL 32,900 46% 16,450 73% 21,050 66%
& L1 5 JAL JAL 32,900 46% 16,450 73% 21,050 66%
HE=E5 BEE JAL JAL 35,000 44% 17,500 72% 22,400 64%
NEES JAL JAL 35,000 44% 17,500 72% 22,400 64%
#ME=LOFEH S JAL JAL 38,100 43% 19,050 71% 24,400 63%
I=ESEES JAL JAL 38,100 43% 19,050 71% 24,400 63%
ME=HE MER JAL JAL 32,900 45% 16,450 73% 21,050 65%
JAL JAC 32,900 44% 16,450 72% 21,050 64%
HE BR JAL JAL 32,900 45% 16,450 73% 21,050 65%
KB (FFF1) JAC JAL 32,900 44% 16,450 72% 21,050 64%
ME=#5 A BE JAL JAL 32,900 46% 16,450 73% 21,050 65%
BRF JAL JAL 32,900 46% 16,450 73% 21,050 65%
ME=5n GRS JAL JAL 35,000 42% 17,500 71% 22,400 63%
HASE JAL JAL 35,000 42% 17,500 71% 22,400 63%
HE=5% Gk JAL JAL 35,000 44% 17,500 72% 22,400 64%
S JAL JAL 35,000 44% 17,500 72% 22,400 64%
BE=#b (FH 5 JAL JAL 37,000 42% 18,500 71% 23,700 63%
JAL JAL 37,000 34% 18,500 67% 23,700 58%
HALLFE JAL JAL 37,000 42% 18,500 71% 23,700 63%
JAL JAL 37,000 34% 18,500 67% 23,700 58%




MR R#BESI EER(9OA1B~10A258KES) JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEE BEE
o [ Ehe [EEa YA mEix wE 9/1-10/29 i wE 9/1-10/25 4o =
BE=JRM EAK [RRCHHE) JAL JAL 43,500 37% 21,750 68% 27,850 59%
EZLE A EGACT:D) JAL JAL 43,500 37% 21,750 68% 27,850 59%
BE=X% MEK [ERCHH) JAL JAL 38,100 44% 19,050 72% 24,400 64%
KB (1) JAL JAL 38,100 35% 19,050 67% 24,400 58%
X% [RRCHE) JAL JAL 38,100 44% 19,050 72% 24,400 64%
K (FFH JAL JAL 38,100 35% 19,050 67% 24,400 58%
ME=R& MEKX [ERCHH) JAL JAL 40,100 44% 20,050 72% 25,650 64%
KR (FFH JAL JAL 40,100 39% 20,050 70% 25,650 61%
RIEFK [RRCHHE) JAL JAL 40,100 44% 20,050 72% 25,650 64%
KR (FFH JAL JAL 40,100 39% 20,050 70% 25,650 61%
FE=RA #EKE [RRCHH) JAL JAL 40,100 42% 20,050 71% 25,650 63%
X EVAC)) JAL JAL 40,100 42% 20,050 71% 25,650 63%
R (FFH JAL JAL 40,100 37% 20,050 68% 25,650 59%
ME=2 MER [RRCHH) JAL JAL 40,100 42% 20,050 71% 25,650 63%
R (FFH JAL JAL 40,100 37% 20,050 68% 25,650 59%
B ESIETE) JAL JAL 40,100 42% 20,050 71% 25,650 63%
R (FFH JAL JAL 40,100 37% 20,050 68% 25,650 59%
HE=ERE MER [RRCHH) JAL JAL 41,700 41% 20,850 71% 26,700 63%
pNACGTE)) JAL JAL 41,700 38% 20,850 69% 26,700 60%
ERE% [ERZE(PH) JAL JAL 41,700 41% 20,850 71% 26,700 63%
R (R FH JAL JAL 41,700 38% 20,850 69% 26,700 60%
MEA=HE | MEAR [ER(CEA) JAL JTA 61,100 31% 30,550 66% 39,100 56%
AiE%  [RR(FA) JTA JAL 61,100 31% 30,550 66% 39,100 56%
TEE=HE EEE | XRED JAL JAC 37,300 39% 18,650 69% 23,850 61%
HEE [ KER(EFD JAC JAL 37,300 39% 18,650 69% 23,850 61%
e =l EEE | XRED JAL JAL 37,500 36% 18,750 68% 24,000 59%
[N B PG 2E)) JAL JAL 37,500 36% 18,750 68% 24,000 59%
EE=XK% EEE | XRED JAL JAL 39,600 35% 19,800 68% 25,350 59%
AH%E | XRET JAL JAL 39,600 35% 19,800 68% 25,350 59%
EE=RIK | fEE% [ KRR JAL JAL 42,700 37% 21,350 69% 27,350 60%
It PN AL 25)) JAL JAL 42,700 37% 21,350 69% 27,350 60%
TEE=fX EEE | XREED JAL JAL 41,100 38% 20,550 69% 26,300 60%
N B PN A 2E)) JAL JAL 41,100 38% 20,550 69% 26,300 60%
EE=Hk eEE [ XEREM JAL JAL 46,500 29% 23,250 65% 29,750 55%
18 JAL JAC 46,500 36% 23,250 68% 29,750 59%
=R | XRE JAL JAL 46,500 29% 23,250 65% 29,750 55%
18 JAC JAL 46,500 36% 23,250 68% 29,750 59%
EE=ERE EEHK | XRUF JAL JAL 42,700 39% 21,350 69% 27,350 61%
ERE%E |XKRUFF JAL JAL 42,700 39% 21,350 69% 27,350 61%
Wi =/ [I}.Z:3 ACELED) JAL JAL 30,400 30% 15,200 65% 19,450 55%
AMRFE ACELED) JAL JAL 30,400 30% 15,200 65% 19,450 55%
LWz =Rl iz ACELED) JAL JAL 32,900 37% 16,450 69% 21,050 60%
=S ACELED) JAL JAL 32,900 37% 16,450 69% 21,050 60%
WE=L5 [iZ3 = (HE) JAL JAL 33,900 36% 16,950 68% 21,700 59%
NE GACELED) JAL JAL 33,900 36% 16,950 68% 21,700 59%
Wi =Axae ] = (HA) JAL JAL 38,100 34% 19,050 67% 24,400 58%
MEEF A EGACT) JAL JAL 38,100 34% 19,050 67% 24,400 58%
WiE=HE W [ER(CHH) JAL JAL 33,900 34% 16,950 67% 21,700 57%
AR () JAL JAC 33,900 41% 16,950 70% 21,700 62%
HE ESACELED) JAL JAL 33,900 34% 16,950 67% 21,700 57%
AR () JAC JAL 33,900 41% 16,950 70% 21,700 62%
Wi =1E5 Wis |ERCHA) JAL JAL 32,900 36% 16,450 68% 21,050 59%
BEEFE |HRCHH) JAL JAL 32,900 36% 16,450 68% 21,050 59%
Wi =m W% |RR(CHE) JAL JAL 32,900 36% 16,450 68% 21,050 59%
E%  [EECHA) JAL JAL 32,900 36% 16,450 68% 21,050 59%
W= 12 EGACCEED) JAL JAL 33,900 37% 16,950 69% 21,700 60%
BAH% [EECHA) JAL JAL 33,900 37% 16,950 69% 21,700 60%
Wiz =#l W [ER(CHH) JAL JAL 33,900 38% 16,950 69% 21,700 60%
AR (FF) JAL JAL 33,900 38% 16,950 69% 21,700 60%
wil®  [EERCRA) JAL JAL 33,900 38% 16,950 69% 21,700 60%
AR (FF) JAL JAL 33,900 38% 16,950 69% 21,700 60%
Wiz =de 7 W% |HR(HH) JAL JAL 40,100 33% 20,050 66% 25,650 57%
dtAMHE [RECHA) JAL JAL 40,100 33% 20,050 66% 25,650 57%
Wi=X% i Z3 JAL JAL 39,100 33% 19,550 67% 25,000 57%
JAL JAL 39,100 32% 19,550 66% 25,000 56%
KnH JAL JAL 39,100 33% 19,550 67% 25,000 57%
JAL JAL 39,100 32% 19,550 66% 25,000 56%
iy = R i~z JAL JAL 42,200 32% 21,100 66% 27,000 57%
JAL JAL 42,200 35% 21,100 67% 27,000 58%
RIGSE JAL JAL 42,200 32% 21,100 66% 27,000 57%
JAL JAL 42,200 35% 21,100 67% 27,000 58%
Wi =KX i Z3 JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 35% 20,050 68% 25,650 59%
REARS JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 35% 20,050 68% 25,650 59%
Wi == i Z3 JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 35% 20,050 68% 25,650 59%
B JAL JAL 40,100 33% 20,050 66% 25,650 57%
JAL JAL 40,100 35% 20,050 68% 25,650 59%
W =RR iz JAL JAL 42,200 32% 21,100 66% 27,000 57%
JAL JAL 42,200 36% 21,100 68% 27,000 59%
BEREF JAL JAL 42,200 32% 21,100 66% 27,000 57%
JAL JAL 42,200 36% 21,100 68% 27,000 59%




TR RERS ERR(9OA1H~10A25AKRS)

JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEE BEE

o [ Ehe [EEa YA mEix wE 9/1-10/29 i wE 9/1-10/25 4o =
=51\ T2 ESACT:) JAL JTA 61,100 23% 30,550 62% 39,100 51%
ESEE I E A CETED) JTA JAL 61,100 23% 30,550 62% 39,100 51%
lE=HE [ KR (A JAL JAC 32,900 41% 16,450 71% 21,050 62%
HEE pNACGEE)) JAC JAL 32,900 41% 16,450 71% 21,050 62%
fil& =#xh [T=S KR (FFD JAL JAL 35,000 35% 17,500 67% 22,400 58%
WL [ XEREFD JAL JAL 35,000 35% 17,500 67% 22,400 58%
& =x% [T= KR (A JAL JAL 37,000 34% 18,500 67% 23,700 58%
X% | XREFF) JAL JAL 37,000 34% 18,500 67% 23,700 58%
lE =Rk [T= KR (A JAL JAL 40,100 37% 20,050 68% 25,650 60%
[ A PN A2 5)) JAL JAL 40,100 37% 20,050 68% 25,650 60%
lE =fx = KR (A JAL JAL 38,100 37% 19,050 69% 24,400 60%
EARE | XERE JAL JAL 38,100 37% 19,050 69% 24,400 60%
& =5k e [ XERED JAL JAL 40,100 34% 20,050 67% 25,650 58%
=E% | XREF) JAL JAL 40,100 34% 20,050 67% 25,650 58%
WE=ERS KB (A JAL JAL 40,100 38% 20,050 69% 25,650 60%
KR (A JAL JAL 40,100 38% 20,050 69% 25,650 60%
HR=HE KR (A JAL JAC 29,800 45% 14,900 72% 19,050 65%
KR (A JAC JAL 29,800 45% 14,900 72% 19,050 65%
#Fim=#l KB (FFD JAL JAL 32,900 36% 16,450 68% 21,050 59%
KB (A JAL JAL 32,900 36% 16,450 68% 21,050 59%
HR=K5 KB (FFD JAL JAL 35,000 35% 17,500 68% 22,400 59%
KB (FFD JAL JAL 35,000 35% 17,500 68% 22,400 59%
Fim=RiE KB (FFD JAL JAL 38,100 38% 19,050 69% 24,400 60%
KB (A JAL JAL 38,100 38% 19,050 69% 24,400 60%
Fim=HeX pNACGZE)) JAL JAL 37,000 37% 18,500 69% 23,700 60%
KB (A JAL JAL 37,000 37% 18,500 69% 23,700 60%
Him=E pNACGEE)) JAL JAL 37,000 37% 18,500 69% 23,700 60%
pNACGZE)) JAL JAL 37,000 37% 18,500 69% 23,700 60%
FR=ERE FRE | XRET JAL JAL 38,100 39% 19,050 70% 24,400 61%
BEREXE | XR(EM JAL JAL 38,100 39% 19,050 70% 24,400 61%
AMA=RL IMRFE R (CHHE) JAL JAL 31,100 47% 15,550 73% 19,900 66%
FE LU % R (CHHE) JAL JAL 31,100 47% 15,550 73% 19,900 66%
IMA=TRE R R (CHHE) JAL JAL 31,800 46% 15,900 73% 20,350 66%
LEB% R (CHHE) JAL JAL 31,800 46% 15,900 73% 20,350 66%
INA=ILOFE N (HA) JAL JAL 35,700 44% 17,850 72% 22,850 64%
I=ESEES (HA) JAL JAL 35,700 44% 17,850 72% 22,850 64%
IMA=HE MAF [EE1ED) JAL JAL 32,400 43% 16,200 72% 20,750 64%
HEF CHE) JAL JAL 32,400 43% 16,200 72% 20,750 64%
IME=1EE R (FA) JAL JAL 30,300 47% 15,150 74% 19,400 66%
BmEE CHE) JAL JAL 30,300 47% 15,150 74% 19,400 66%
IMNA=TE IMAFE CPIH) JAL JAL 30,400 47% 15,200 74% 19,450 66%
EinE CHE) JAL JAL 30,400 47% 15,200 74% 19,450 66%
IMA=FH IMAF [EE1ED) JAL JAL 32,400 46% 16,200 73% 20,750 65%
EEIF CHHE) JAL JAL 32,400 46% 16,200 73% 20,750 65%
AMA=#L INHAFE CHHE) JAL JAL 32,900 46% 16,450 73% 21,050 65%
PALLIZE CFIH) JAL JAL 32,900 46% 16,450 73% 21,050 65%
A=A MRS ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
EIZRLE: ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
IMA=KS MRS ) JAL JAL 36,700 43% 18,350 72% 23,500 64%
K5 ) JAL JAL 36,700 43% 18,350 72% 23,500 64%
M= R ) JAL JAL 40,100 41% 20,050 71% 25,650 62%
I 3¢ ) JAL JAL 40,100 41% 20,050 71% 25,650 62%
IMR=RER INRFE ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
REAF ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
IMA=E IR MRS ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
HRE ) JAL JAL 37,900 42% 18,950 71% 24,250 63%
IMA=ERE MRS ) JAL JAL 40,100 41% 20,050 71% 25,650 62%
BEREH | JAL JAL 40,100 41% 20,050 1% 25,650 62%
IMA=EE MRS |3 JTA | JTA/RAC 57,100 1% 28,550 55% 36,550 43%
BE%E | JTA/RAC|  JTA 57,100 1% 28,550 55% 36,550 43%
INA=F1E MRS JAL JTA 61,100 29% 30,550 64% 39,100 54%
JTA_[JTA/RAC 61,100 12% 30,550 56% 39,100 44%
RAER JTA JAL 61,100 29% 30,550 64% 39,100 54%
JTA/RAC|  JTA 61,100 12% 30,550 56% 39,100 44%
El== [EIES JTA_[JTA/RAC 44,200 22% 22,100 61% 28,300 50%
BEE JTA/RAC|  JTA 44,200 22% 22,100 61% 28,300 50%
@l =18 8 LU 5 JTA_[JTA/RAC 49,800 20% 24,900 60% 31,850 49%
IR JTA/RAC|  JTA 49,800 20% 24,900 60% 31,850 49%
BHI=ER B JAC JAC 28,500 41% 14,250 71% 18,250 63%
FEE JAC JAC 28,500 41% 14,250 71% 18,250 63%
BERE=5H |EEXABH JAC JAC 20,200 33% 10,100 66% 12,950 57%
5% JAC JAC 20,200 33% 10,100 66% 12,950 57%
BERB="KRE| BEXEHR JAC JAC 17,300 48% 8,650 74% 11,050 67%
oK RERFE h JAC JAC 17,300 48% 8,650 74% 11,050 67%
IPEE(INER) =FE & [ M# (R E) 5 KR CRE) JAL JAL 47,800 40% 23,900 70% 30,600 62%
KB (FF) JAL JAL 47,800 40% 23,900 70% 30,600 62%
T ESACEED) JAL JAL 47,800 40% 23,900 70% 30,600 62%
| KR (%) JAL JAL 47,800 40% 23,900 70% 30,600 62%
B (BB ==iR [ (B) R [HFCHA) JAL JAL 47,800 39% 23,900 70% 30,600 61%
ZR%E [HR(HA) JAL JAL 47,800 39% 23,900 70% 30,600 61%
R (BB =FA [ (E) R EZCRA) JAL JAL 46,300 37% 23,150 68% 29,650 60%
KB (1) JAL JAL 46,300 39% 23,150 69% 29,650 61%
PEE N EGACTD) JAL JAL 46,300 37% 23,150 68% 29,650 60%
KB (FFFH) JAL JAL 46,300 39% 23,150 69% 29,650 61%
R (BB =16 MR (B) R KXREFD JAL JAL 47,300 39% 23,650 70% 30,250 61%
126 JTA JAL 47,300 42% 23,650 71% 30,250 63%
e PTG EE)) JAL JAL 47,300 39% 23,650 70% 30,250 61%
FE JAL JTA 47,300 42% 23,650 71% 30,250 63%




MR R#BESI EER(9OA1B~10A258KES) JAL/JTA/JAC/RAC

st R FAEEIB| INREF R RAREIS| SAEN NE R RREIB|
BXFE #mimd® | BHHQ RAE= BEH BEE BEE
o [ Ehe [EEa YA mEix wE 9/1-10/29 i wE 9/1-10/25 4o =
PR (RER) = LT [ iR () & RR CRIE) JAL JAL 46,300 28% 23,150 64% 29,650 54%
KR (FFH JAL JAL 46,300 38% 23,150 69% 29,650 60%
[IZ N EFACCT:)) JAL JAL 46,300 28% 23,150 64% 29,650 54%
pNACGEE)) JAL JAL 46,300 38% 23,150 69% 29,650 60%
SRR (B =& [ (FRE) 5[ Xk (FFD JAL JAL 45,500 38% 22,750 69% 29,100 60%
126 JTA JAL 45,500 43% 22,750 71% 29,100 63%
e  [XRUFD JAL JAL 45,500 38% 22,750 69% 29,100 60%
= JAL JTA 45,500 43% 22,750 71% 29,100 63%
PR (ARER) =/M2 a8 R 5[ R CRIE) JAL JAL 42,100 40% 21,050 70% 26,950 62%
IMAE  [ER(FR) JAL JAL 42,100 40% 21,050 70% 26,950 62%
PR RE) == FREBR R & JTA JAC 32,400 44% 16,200 72% 20,750 64%
= el JAC JTA 32,400 44% 16,200 72% 20,750 64%
PR (AR =#A1L [ GRE) % el JTA JAC 28,700 47% 14,350 74% 18,350 66%
PALLI$E 126 JAC JTA 28,700 47% 14,350 74% 18,350 66%
R CRE) =2 [R=xCAE) %[ Xk FF) JAL JAC 37,700 25% 18,850 62% 24,150 52%
HE JAL JAC 37,700 18% 18,850 59% 24,150 48%
[ECE P ISAGEE)) JAC JAL 37,700 25% 18,850 62% 24,150 52%
HE JAC JAL 37,700 18% 18,850 59% 24,150 48%
HR(CAE) =BZABRR(HE) %[ _ERE JAL JAC 45,100 35% 22,550 68% 28,850 58%
pPNACGTE)) JAL JAL 45,100 31% 22,550 66% 28,850 56%
BEABE | BERE JAC JAL 45,100 35% 22,550 68% 28,850 58%
pNACGTE)) JAL JAL 45,100 31% 22,550 66% 28,850 56%
RRCHER)=ERB|RR(AE) %[ _ERE JAL JAC 45,200 36% 22,600 68% 28,950 59%
BEXE JAL JAC 45,200 28% 22,600 64% 28,950 54%
ERESR ERE JAC JAL 45,200 36% 22,600 68% 28,950 59%
BEXE JAC JAL 45,200 28% 22,600 64% 28,950 54%
RRCAR) =@zB|RR AR %[ _ERE JAL JAC 46,300 37% 23,150 69% 29,650 60%
EPN-] JAL JAC 47,200 29% 23,600 65% 30,200 55%
[FA-E ERE JAC JAL 46,300 37% 23,150 69% 29,650 60%
EPN-] JAC JAL 47,200 29% 23,600 65% 30,200 55%
R CRE) =Kk RB[RECHR) % ERE JAL JAC 48,300 37% 24,150 68% 30,900 60%
K REE | ERE JAC JAL 48,300 37% 24,150 68% 30,900 60%
EPN-] JAC JAL 48,300 32% 24,150 66% 30,900 56%
il BEKXE | JAC JAC JAL | 48,300 43% 24,150 72% 30,900 64%
RRCRAE)=5# [RR(CHA)%| ERE JAL JAC 48,700 38% 24,350 69% 31,150 60%
EE ERE JAC JAL 48,700 38% 24,350 69% 31,150 60%
BERE JAC JAL 48,700 34% 24,350 67% 31,150 58%
ShKEER | EKE | JAC JAC JAL | 48,700 41% 24,350 70% 31,150 62%
KR (P =BXXB| KR (P | ERE JAL JAC 39,700 29% 19,850 64% 25,400 55%
BEREE | BER JAC JAL 39,700 29% 19,850 64% 25,400 55%
KR (5 =BERB| KR (FFHE[_ER JAL JAC 40,100 30% 20,050 65% 25,650 55%
BEAE JAL JAC 40,100 22% 20,050 61% 25,650 50%
ERER BERE JAC JAL 40,100 30% 20,050 65% 25,650 55%
EEXE JAC JAL 40,100 22% 20,050 61% 25,650 50%
KB (A =@ 8| KR (B F|_ERS JAL JAC 41,200 31% 20,600 66% 26,350 56%
EEXE JAL JAC 42,200 24% 21,100 62% 27,000 51%
mee% BER JAC JAL 41,200 31% 20,600 66% 26,350 56%
JAC JAL 42,200 24% 21,100 62% 27,000 51%
KR (FF) =k B & JAL JAC 42,800 32% 21,400 66% 27,400 57%
JAC JAL 42,800 32% 21,400 66% 27,400 57%
KR (R =5/ JAL JAC 43,300 33% 21,650 67% 27,700 57%
JAC JAL 43,300 33% 21,650 67% 27,700 57%
BE=BEXE JAC JAC 31,700 32% 15,850 66% 20,300 57%
JAC JAC 31,700 32% 15,850 66% 20,300 57%
BE=ERB JAC JAC 33,200 31% 16,600 65% 21,250 56%
JAC JAC 33,200 29% 16,600 64% 21,250 54%
ERBR ERE JAC JAC 33,200 31% 16,600 65% 21,250 56%
BEAE JAC JAC 33,200 29% 16,600 64% 21,250 54%
EE=EZ8 EHEES ERE JAC JAC 33,300 35% 16,650 67% 21,300 58%
BEAE JAC JAC 33,300 35% 16,650 67% 21,300 58%
mre% BERS JAC JAC 33,300 35% 16,650 67% 21,300 58%
BEAE JAC JAC 33,300 35% 16,650 67% 21,300 58%
&R =4k BRER FEHRES ERS JAC JAC 34,900 35% 17,450 68% 22,350 58%
KEEHE | BERS JAC JAC 34,900 35% 17.450 68% 22,350 58%
BEAE JAC JAC 34,900 36% 17.450 68% 22,350 59%
i \BEAE | JAC JAC JAC | 34900 50% 17.450 75% 22,350 68%
k=5 e BERE JAC JAC 35,300 37% 17,650 68% 22,600 59%
Sh% ERE JAC JAC 35,300 37% 17,650 68% 22,600 59%
BEAE JAC JAC 35,300 39% 17,650 70% 22,600 61%
ShKRER | BEKE | JAC JAC JAC | 35300 47% 17,650 73% 22,600 66%
HRECAE) =5MBE[EZCAR) %[ R\ JTA RAC 61,100 16% 30,550 58% 39,100 47%
CEEE T TE ) RAC JAL 61,100 22% 30,550 61% 39,100 50%
fiE RAC JTA 61,100 16% 30,550 58% 39,100 47%
AR =5MWE| SMEE |94 GEH) RAC JAL 49,900 30% 24,950 65% 31,950 55%
Kk (B#E) = 5BE | Xk (BF) % =] JTA RAC 49,900 19% 24,950 60% 31,950 48%
CEHEE T TE ) RAC JTA 49,900 30% 24,950 65% 31,950 55%
fiE RAC JTA 49,900 19% 24,950 60% 31,950 48%
2HE (P =50E] SHREE [l GHR) RAC JTA 49,000 35% 24,500 68% 31,350 59%
&2 =5 HE SMEFE |l (BRH) RAC JTA 44,700 30% 22,350 65% 28,600 55%
SRR (IR =S HE PRI % R JTA/RAC] RAC 32,600 9% 16,300 54% 20,850 42%
5 RE 5 AiE RAC |JTA/RAC 32,600 9% 16,300 54% 20,850 42%
RRCPAE) =AKEB R CRE) |4 GRT) JAL [JTA/RAC 52,600 9% 26,300 55% 33,650 42%
AKRBF #% (R ER) JTA/RAC]  JAL 52,600 9% 26,300 55% 33,650 42%
KR (FFH) = AK B[ Xk (FF) 5[ 7948 GBE) JAL _[JTA/RAC 40,000 21% 20,000 60% 25,600 49%
AKRBF 8 (BB JTA/RAC]  JAL 40,000 21% 20,000 60% 25,600 49%
Kk (BTE) = AKX B[ KBk (BE7E) 5[ 048 GRER) JTA [JTA/RAC 40,000 21% 20,000 60% 25,600 49%
AK B F 8 (BB JTA/RAC]  JTA 40,000 21% 20,000 60% 25,600 49%
ZHE () = AKB|2EE () Z[ 0 GREHR) JTA [JTA/RAC 44,500 20% 22,250 60% 28,500 49%
AKE #8 (BB ER) JTA/RAC]  JTA 44,500 20% 22,250 60% 28,500 49%
BE=AKE L e A R L€ 1)) JTA [JTA/RAC 33,100 23% 16,550 62% 21,200 51%
AXEHR |48 HH) JTA/RAC| JTA 33,100 23% 16,550 62% 21,200 51%




